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RBSTRACT

TWO SEPARATE DIAGNOSTIC PROGRRMS ARE PROVIDED FOR TESTING THE
DM11 (RASYNCHRONOUS DATA MULTIPLEXER), MAINDEC-11-DZDMA (DOM11
LOGIC TESTS), AND MAINDEC-11-DZDMB (DMi1 MULTIPLE LINE DATA
TESTS) THE LOGIC TESTS tNDIVIDURLLY TEST ERCH OF THE
16 DM11 LINES AND ALL COMMON LOG!IC  THE MULTIPLE L!NE DATR
TESTS RUN SEVERAL LiNES CONCURRENTLY AND ARE USED TO TEST LINt
INTERRCTION AND DATA TRANSMISS/ON/RECEPTION RELIRBILITY
THIS DOCUMENT DESCRIBES THE LOG C TESTS
THE RVRILABLE TESTS ARE

PRGO - LOGIC TEST

PPG1 - TRANSMITTER SCOPE LOOP

PRGZ - TPANSHM T/RECEIVE +COPE LGOP

PEGUIPEMENTS

EQUIPMENT

A PDOP 11 FAMILY PROCESSER

B DnMii

C JUMPERS (ONNECTING 16 TRANSMITTERS TO THEIR RPESPECTIVE
PECEIVEPS

STORARGE

THIS PROGRAM USES ALL OF CORE (8K EXCEPT THAT ARER RESEFVED
FOP THE LORDERS

LORD ING PROCEEDUFE
THE RABSOLUTE LORDEF 15 USEL T LORC THE PPOGPAM

SEG 0002
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Y USE PROCEDURE
41 STRARTING PROCEDURE

BEFORE STARTING MAKE SURE THAT THE TTY IS IN REMOTE MODE. AND THE
JUMPERS ARE INSTALLED  THREE STRRTING RDDRESSES ARE PROVIDED

; 0200 - THIS STARTING ADDRESS REQUESTS DM11 PRRAME (ERS, AND MUST
BE USED TO INITIALLY STRART THE PROGRAM. AND WHENEVER ANY OF THE
PARRMETERS LISTED BELOW IS CHRNGED

A  VECTOR RDDRESS 7?
FESPONSE TYPE N THE VECTOR RDDRESS OF THE DM11 RECEIVER
JNDER TEST ZARR AGr RETURN SELECTS J300

B UNIT 8817
PESPONSE THE DM11 UNIT NUMBER CORRESPONDS TO THE
ADDRESS TO WHICH THE CLOCK STATUS REGISTER ((CSR, RESPONDS

CSP RDDRESS OM11 UNIT & CSR ADDRESS DM11 UNIT &
175000 0 175100 10
175010 1 176110 11
175020 < 175120 12
1750320 3 175130 13
176040 Y 175140 14
176060 5 175150 15
175060 6 175160 16
176070 4 176170 17

CRARRIAGE RETURN SELECTS UNIT & 0

- WHAT 1S THE CHRRACTER LENGTH?
PESPONSE  C(HARACTER LENGTH REFERS TO THE NUMBER OF DATR
BITS PER (HARARCTER (56-58) CAPRIAGE RETURN SELECTS 8 DRTA
BITS PER (CHRARRCTER

C PPG #
RESPONSE  TYPE PROGRAM NUMBER OF PROGRAM YOU HWISH TO
RUN CARR!AGE RETUPN SELECTS PROGRAM & O

MATES

LARRIAGE RETUPN TERMINRTES RLL RESPONSES

ANY UNACCEPTABLE RESPONSE WILL RESULT IN R ? T/PEQOUT AND
THE PARAMETER WILL RGRIN BE REQUESTED

N204 - THIS STARTING ADDRESS USES PREVIQUSL'Y DEFINED DMi11
PARAMETERS AND REQUESTS THE PROGRAM NUMBER OF THE
PPOGRAM YOU WISH TO RUN

0210 - THIS STARTING RDDRESS STARTS THE PPEVIQUSLY SELECTED
PRCGRAM USING PREVIOUSLY SELECTEC PRRAMETERS
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b4 2 SHITCH SETTINGS
THE FOLLOWING SHITCH SETTINGS RPPLY TO PROGRAM &0

SR 0-6 ROUTINE TO BE RUN (IF ENABLED BY SR-9)
SR 8 RING BELL CN ERROR

SR 9 LOOP SELECTED ROUTINE

SR 11 INHIBIT ITERATION (DO ERCH POUT NE ONCE)
SR 13 INHIBIT PRINTOUT

SP 1. SCOPE (LOOP ROUTINE)

SP 15 HALT ON ERROR

TH S PROGRAM HAS BEEN MODIFIED TO RUN ON R PROCESSOR WITH OR WITHOUT
R HARDWARE SHITCH REGISTER WHEN FIRST EXECUTED THE PROGRAM TESTS
THE EXISTENCE OF A HAROWARE SWITCH REGISTER IF NOT FOUND A

SOF TWARE SHWITCH REGISTER LOCATION (SWREG=LOC 176 ) IS DEFRULTED TO
IF THIS IS THE CRSE, UPON EXECUTION THE CONTENTS OF THE SHREG RRE
DUMPED IN OCTRAL ON THE CONSOLE TTY AND ANY (HANGES RRE REQUESTED

“1E) SHR=XXXXXX NEW=
FCSSIBLE RESPONSES APE

(P> IF NO (HANGES ARE TO BE MADE

- e DIGITS 0-7 TO REPRESENT IN OCTAL THE NEW SWITCH REGISTER
VALUE ,LAST DIGIT FOLLOWED BY <CR>

U TO ALLOW REENTERING VALUE |F ERROR 1S COMMITTED

’ KEYING IN SWREG VRLUE

BUILT INTO THE PROGRAM IS THE ABILITY TO DYNRMICALLY CHRANGE THE
CONTENTS OF SWREG DURING PROGRAM EXECUTION BY STRIKING G

(CNTL G) ON CONSOLE TTY THE OPEPATOR SETS A REQUEST FLRAG TO CHANGE
THE CONTENTS OF SHUREG. WHICH 1S PPOCESSED IN KEY RRERS OF THE PROGRAM
CODE (1E€) ERROR ROUTINES. AFTER HALTS END OF PARASS, AND OTHER

APPL ICABLE ARERS

) -

3
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50 PROGRAM DESCRIPTION
51 PRGO - LOGIC TESTS

PRGO CONSISTS OF 152(8) INDEPENDENT ROUTINES WHICH TEST

VAR IQUS FUNCTIONS OF THE DM11 HRARDWRRE  ANY OF THESE ROUTINES
MAY BE INDIVIDUALLY SELECTED AND RUN (SEE SEC 4 2 FOR SHITCH
SETTING)

511 POUTINE DESCRIPTION
FOUT INE TESTS

RTO TESTS THE RABILITY TO REFERENCE THE FOUR DMI11 REGISTERS
CONTROL STATUS REGISTER (CSR), BUFFER RCT VE REGISTER (BAR,,

BREAK STATUS REGISTER (BKCSR), AND THE BRSE REGISTER (BRSREG)

IF AN 1LLEGAL REFERENCE OCCURS WHEN THE CSR IS REFERENCED THE

PROGRAM WILL INDICATE AN ERROR, AND RAUTOMARTICALLY LOOP THE EPROR

AS LONG AS THE ERROR CONDITION EX STS

RPTO PC=XX¥ XXX

PT1-RT10 BT 'BANGS' THE (SR (BITS 0.1.2,4,.5,6.12,13). TESTING THAT
EACH BIT IN THE CSR CAN BE IND VIDUALLY SET RAND CLERRED  TWO EPROR
TYPES RRE DETECTED IN THESE TESTS. A BIT FAILED TO SET. AND/OR R
BT FRILED TO CLERR THE ERROR PRINTOUT SHOWS THE ROUTINE THRT
FRILED AND THE PC WHERE THE ERROR WRS DETECTED

RT11- TESTS THAT RESET AND CLEAR CLEAR ALL R/W BITS IN THE CSR THO
ERPOR TYPES RRE DETECTED IN THIS ROUTINE SHOWING THE CONTENTS OF THE
(SR RFTEP THE RESET & CLEAR INSTRPUCTION  THE PPOGRAM RAUTOMATICALLY
LOQPS IF AN EPPOR OCCURS  SHOWN BELOW 'S THE ERROR TYPEOUT

FT11 PCaXYX A vx EFRR S B NOGCO0 HAS XXX¥xX
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RT12 LORDS A BINARY COUNT PATTERN INTO THE BKCSR AND READS BACK
THE RESULTS IF THE ORTA RERD BACK IS INCORRECT AN ERROR IS INDICATED
THE SCOPE SHITCH WILL CAUSE THE PROGRAM TO RELORD THE BINARY NUM-

BER AND REPERT THE TEST  THE ERROR TYPEOUT SHOWS CORRECT AND

ACTUAL RESULTS

THE SECOND PORTION OF THE TEST (LEARARS THE PREV QUSLY LOADED NUMBER

F THE SCOPE SWITCH IS SET THE PROGRAM LOOPS BRACK AND REPERTS

THE CLERR INSTRUCTION

RT13 THIS ROUTINE LORDS RANDOM NUMBERS INTO THE BKCSR If R
RANDOM NUMBER IS LORDED INCOKRECTLY AN ERROR IS INDICATED SHOWING
THE CORRECT AND RCTUAL RESULTS

RT1u TH1S ROUTINE TESTS THAT RESET WILL CLERR ALL BREAK STATUS REG-
STER (BKCSR) BITS IF ALL BITS DO NOT CLERR WHEN THE RESET 1S GIVEN
AN ERROR 1S INDICATED THE ERROP TYPEOUT SHOWS THE CORRECT RESULT
(RLL 0°S) AND THE ACTURL RESULT

RT15-RT16 THESE ROUTINES RARE THE SAME RS RT1Z & RT13 EXCEPT THAT
THE BASE KEGISTER 1S TESTED

PT17 THIS ROUTINE TESTS THAT ALL BAR BITS (AN BE INDIVIDURLLY
SET AND CLEARED THE ROUTINE SHIFTS A '1' THROUGH THE BRk THEREBY
SETTING ERCH BRAR BIT AND THEN THE BAR BIT IS CLERRED  THE ERPOR
TYPEOUTS SHOW CORRECT AND ACTUARL PESULTS

rT20 THIS ROUTINE TESTS THRT RESET AND (LERR CLERR ALL BAP BITS
THE ERROP TYPEOUT SHOWS CORRECT AND RCTUAL RESULTS

RT21-RT22 THESE ROUTINES TEST THAT THE (SR, BAR. AND BKCSR RESPOND
FROPERLY TO BYTE COMMANDS BOTH BYTES ARE REFERENCED IN THESE
POUTINES USING CLRB INSTRUCTIONS  THE ERROR TYPEOUT SHOWS CORRECT
AND ACTUARL RESULTS

RTZY THIS ROUTINE TESTS THAT THE DM11 CAN INTERRUPT THE PROCESSOR
W1A THE OVER RUN BIT (CSR BIT 13) THE ERROR TYPEOUT SHOWS THE
RCUTINE NUMBER AND THE PC WHEFE THE ERROR WAS DETECTED

RYZ5 THIS ROUTINE TESTS THRT THE DM11 INTERRUPTS THE PROCESSER
RT THE PROPER LEVEL

RT20-RTUS THESE POUTINES TEST THE BRSIC TRANSMITTER FUNCTIONS
ON ERACH LINE

PT4e-RTES THESE RQUTINES TEST THE BRSIC PECEIWER FUNCTIONS ON
EACH LINE

RTeb THIS ROUTINE TESTS THRT THE DM11 Witt SET THE NEX BIT

(SR BIT 14) WHEN THE DM11 TRIES TO TRANSMIT FROM NON-EX|STANT
MEMORY  ALL LINES ARE !NDIVIDURLLY TRANSMITTED ON  THE ERROP T(PEOQUT
SHOWS THE FAILING LINE ALSO TESTED 15 THAT THE NE¥ BIT WHEN SET
CAUSES AN INTERPUPT

SEQ 0006
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RT6? THIS ROUTINE TECSTS THAT THE NEX BIT (CSR B T 14) SETS
WHEN THE DM11 TRIES TQ REFERENCE THE TUMBLE TRBLE THRT S IN NON-
EXISTANT HMEMORY

RT70 THIS ROUTINE TESTS THAT WHEN THE GO B T (CSR BIT 0) S
CLERR THAT NO DRTA IS RECEIVED ON ANY LINE  ALL LINES RRE TRANS-
MITTED ON AND RFTER THE TRANSMISSION IS COMPLETE THE RECEIVER DONE
FE?E lg TESTED THE ERROR TYPEOUT SHOWS THE LINE ON WHICH DATR WRS
RECEIVED

THE TYPEOQOUT SHOWN BELOW SHOWS THRT DATA WRS RECE VED ON LINE O
RT70 PC=XXXXXX ERRS/B 000001 WAS 000001

RT?1 THIS ROUTINE TESTS THAT THE CURRENT ADDRESS 1S INCREMENTED
PPQPERLY BY THE DH11 THE TPBLE BELOW SHOWS THE RDDRESS LOARDED

NTO IN THE CURRENT ADDRESS TABLE BEFORE Z CHARACTERS RARE TRANSMITTED
AND THE RESULTANT RADDRESS AFTER THE CHARACTER IS TRANSMITTED

BEFORE AFTER BEFORE AFTER
000000 000001 000777 001000
000001 000002 001777 002000
000003 000004 003777 0g4000
000007 000010 007777 010000 )
002017 000020 017777 020000
Q00037 000040 037777 040000
0coo77 000100 072777 100000
«000177 000200 177777 000000

0G0377 000400

THE ERROR TYPEOUT SHOWS CORRECT AND ACTUAL CURPENT RDDRESS

FT72 THIS ROUTINE TESTS THRT DATA CAN BE TRANSMITTED FROM ALL
AYARILABLE CORE RAND RECEIVED CORRECTLY  THIS IS DONE BY TRANS-
MITTING 1 CHARACTER FROM SEVERAL RADDRESSES IN ERCH 4K BLOCK OF
CORE ON LINE O THE ERROR TYPEQUT WILL SHOW TRANSMITTED AND
ACTURL RECEIVED DRTA IF A DATA ERROR RESULTED WHEN TRANSHITTING
FROM THE FIRST 4K OF CORE EXAMINE THE CURRENT RDDRESS OF LINE O
TQO DETERMINE WHERE IN THE FIRST 4K OF CORE THE DM11 WRS TRANSMIT-
TING FROM WHEN ERROR OCCURRED. FOR ERRORS IN OTHER 4K BLOCKS THE
CORRECY RESULT CORRELATES TO THE ADDRESS WHERE THE ERROR OCCUR-
RED FOR EXAMPLE

RT72 PC=XXXXXX ERR S/8 000001 HAS XXXXXX

INDICARTES THRT THE DOHM1t FRAILED TO TRANSMIT AND PECEIVE CORPRECT
DATA WHEN TRANSMITTING FROM LOCAT ON 200720

THE TEST IS RBOPTED BEFORE TPRANSMITTING F THE COPE LOtAT ON 1S
NCN-EXISTANT

SEQ 0007
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RT?3 THIS ROUTINE TESTS THART THE TRANSMITTER CAN TRANSMIT

100 CHARACTERS ON EACH LINE  THE ROUTINE TESTS THRT EXACTLY

100 CHARARCTERS HAVE BEEN TRANSMITTED BEFORE RERDY (CSR BIT15)

SETS AND THE BRAR BIT CLEARS  THE ERROR TYPEOUT GIVES THE NUMBER

of gggRRC;ERS RECEIVED RT THE TIME OF AN ERROR. AND THE FRILING LINE
NUM (X2)

RT74 THIS ROUTINE TESTS THAT THE DM11 WILL STORE DATA SEQUENTIALLY
IN THE TUMBLE TRBLE AND ALSO THAT THt PO NTER RETURNS TO THE TOP
OF THE TABLE WHEN 64 CHARACTERS HAVE BEEN RECE VED

RT75-114 THESE ROUTINES CHECK THAT A BRERK CAN BE
TRANSMITTED AND RECEIVED ON ALL AL INES
P115-R134 THESE ROUT NES INDIVIDURLLY TRANSHIT, RECEIVE

AND CHECK DATA PLUS PARITY ON ERCH OF THE 16 DM11 LINES  ONLY
DATA AND PARITY ERRORS RRE REPORTED

PT131 TH S ROUTINE SIMULTANEQUSLY TRANSMITS AND PECEIVES R
(HAPACTER (ALL 1°'S) ON THE 16 DM11 L NES THE FOLLOWING TESTS
ARE PERFOPMED

A THERE ARE 16 DATA ENTRIES (1 PEP LINE)

B THERE ISN'T R 17TH ENTRY

C DATR IS CORRECT

D  ONE ENTRY FOR ERCH LINE

FT136  THIS ROUTINE TRRANSM TS R BRERK ON EACH L INE TESTS PEPFORMED
ARE THE SAME AS IN RT135

RT137-PT144  THESE ROUTINES TRANSMIT 64 CHRRACTERS ON ERACH LINE
HITH A DELAY BEFORE BEGINNING TRANSMISSICN ON THE NEXT SUCCESSIvE
L INE THE DELAY BEFORE TRANSMITTING ON THE NEXT LINE IS HALVED
Bv SUCCESSIVE TESTS NO DATR CHECKING 1S PERFOPMED BY THESE
TESTS  TESTED ARE THAT OVER RUN (CSR BIT13) PAND NEX (CSR BIT1W)
ARE NOT SET DURING TRANSHMISSION/RECEPTION

PTI4E  THIS ROUTINE TESTS PRCPER OPERATION OF THE HALF DUPLEX
BIT (CSR BIT1)

PT146  THIS ROUTINE TESTS THAT THE DM11 COMES TO AN 'ORDERLY
HALT' WhEN THE RESET INSTRUCTION IS GIVEN "ORDEPLY HALT' IS
DEF INED AS (SR, BRAR, AND BK(S CLEAR IMMEDIATLY RFTER THE PESET
INSTRUCTION AND STAY CLERRED

£ 2 PPG1- TRANSMITTER SCOPE LOOP
PROGRAHY 1 ALLOWS THE USER TO SCOPE THE DM11 TRANSMITTER FUNCTIONS
WITH THE OM11 CONTINUOSLY RUNNING UNDER USER SUPPLIED PRRAMETERS

S PRGZ- TRANSHMITTER/RECEIVER SCOPE LOOP
PROGRAM 2 ALLOWS THE USER TO SCOPE THE DM11 PECEIVEFP FUNCTIONS WITH
THE DOM11 CONTINUOULY RUMNING UNDER USEF SUPPLIEC PRFAMETEPS




MA'NDEC-11-D2DMR-C DM11 LOGIC TESTS

toimMac Py

22-NQV-?7 {7 &7

J 1
MRACY1t 20{1046) 30-NJVY-77 09 34 PARGE 10

6 0

§0

PROGRAM 1 AND PROGRAM 2 PRRAMETERS
WHEN PROGRAM 1 OR PROGRAM 2 RRE SELECTED ACCITIONAL PARAMETERS WILL
BE FEQUESTED BY ERCH PROGRAM AS SHOWN BELOW

R TYPE LINES TO BE TESTED

EXANPLES

TYPE TO SELECT LINECS)

1 0

3 1.0

10 3

1? 3.2,1.0

50 53

310 10.7.v 0

17270 14,12.12,11,10.7.6.5 4.3
127777 ALL

NCOTE., LINE NUMBERS RRE GIVEN IN OCTAL

B HOW MANY CHAPRCTERS

TPE THE NUMBER OF CHARACTERS YOU WISH TO TRANSMIT NOTE.
THE NUMBER OF CHRRACTERS MUST BE LESS THAN 200, AND 1S TRKEN
IN OCTAL

C PUT CHARACTER iN SR (0N-7),.DELRY IN SR (8-15)
SELF-EXPLANATORY NOTE. THE DELRY REFERS TO A DELwr RFTEPR
ALL THE C(HARACTERS HRVE BEEN TRANSMITTED AND EEFORE R NEMW
TRANSHISSION PERIOD BEGINS

PROGPAM L IMITATIONS

BECRUSE THE DM11 DI!RGNOSTICS ARE IMSENSITIVE TO 'REAL' ELAPSED TIME
THE DIAGNOSTIC DOES NOT 'KNOW' IF THE DMI' IS OPERATING AT THE COR-
RECT FREQUENCY OR THRT THE STOP (ODE SELECTION LOGIC 1S CORRECT,
THESE SHOULD BE CHECKED WITH A SCOPE

PROGRAM NOTES
F THE POMWER FAILS THE PROGRAM TYPES AN ERPOP MESSAGE INDICATING THE
ROUTINE THAT WAS RUNNING (PROG A0 ONLY) RAND RESTAPTS THt PROGRAM

XERXEXRXXRARRRXXARL [MPORTANT NOTE XXXIXXXRXXXXXXARX

FOUWER FRIL TEST

A TEST OF THE POWER FAIL LOGIC SHOULD Bt PERFORMED ON ERCH UNIT
SELECT & RUN ROUTINE 144 (L R = 210 SP =5144 PRESS STAPT) TURN
THE POWER OFF THEN ON THE PROGFAM WILL TYPE OUT THE POUWER FA'L
ERROR

Pil4y PC=003622

AND CONTINUE RUNNINU ROUTINE 144 LOWEK SF 9 AND WRIT FOP END OF
TEST MESSAGE 'TEST DZDMA COMPLETE'

NOTE IF THE POWER IS TURNED OFF DURING R RESET INSTRUCTION THE
PROGRAM WILL HALT PRESS CONTINUE AND PEPERT THE TEST

IF THE PROGRAM HANGS THE BUS EXAMINE THE CONTENTS OF PTNNQ THE
CONTENTS OF RTNNO tS THE RQUTINE NUMBER THRT WRS PUNNING RT THE T.ME
OF THE FRILURE

SEQ C009
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TITLE MRINDEC-11-DZ0MR-C DM11 LOGIC TESTS
NLIST NC, MD. OND

LIST HME

ENABLE RBS. ANA

.DM11 LOGIC TESTS DIRGNOSTIC (MAINCEC-11-DZDHA)

. COPYRIGHT 1972,1977 DIGITAL EQUIPMENT CORP ., MARYNARD. MASS 01754
,PRGO- INPUT-QUTPUT LOGIC TESTS

,PRG1- TRANSHMITTER SCOPE LOOP

.PRGZ- TRANSMIT/RECEIVE SCOPE LOOP

» STANDARD SR SKHITCH OPTIONS (SWITCH SET TO R 1 )

. SR15- HALT ON ERROR

. SRi4- SCOPE

LSR13- INHIBIT PRINTOUT

»SR12- INHIBIT TRRACE (NOT USED:

»,SR11- INHIBIT ITERATION

. SR10- LOOP PROGRAM (NOT USED)

. SR9- LOOP ROUTINE

SR8-  RING BELL ON AN ERROR

SR6 THROUGH SRO - NUMBER OF RCUTINE TO BE LOOPED

EQUARATE STATEMENTS

17777 CC=17777¢
172776 FSUW=177776
00CCOu ERRVEC=Y ADDRESS GF ERROR TRAP VECTOR
000240 NOP=240
0C0GO0 OPEN=0
100000 MANURL =B 1T15
100G00 LBIT17=100000
0400C0 LB1T16=40000
020000 LBIT15=20000
010000 LB1T14=10000
GO4000 LBi1T13=4000
002000 LB1T12=2000
001009 LBIT11=1000
030400 LBIT10=400
000200 LB1T7=200
000100 LBITo=100
000040 LBiIT5=40
060020 LBIT4=20
000010 LBIT3=1C
000004 LBITZ=Y
0G003< LBIT1=2
1000001 LBITO=1
100000 B1715=100J00
040000 BiT14=40000
620000 B1713-20000
010000 81712=10000
004000 BIT11=40C0
002000 BIT10=2(00
001000 B179=1000
00G+900 6i1T78=400
000200 B177=200
000100 B! o=100

—————




MRINDEC-11-D20MR-C  DM11 LOGIC TESTS
DIOMRC P11 22-NOY-77 17 57

000GC40
000020
000010
000004
000002
000001
005726
022626
C003u4Q
000300
000240
000200
00C 140
000100
000040
coooee

000000
000002
00000u
C000GCe
000910
000012
000014
anNco1e
000020
000022
0oo0ocu
000026
000C30
000032
000034
000036
000000
00CCO1
00u002
000003
030004
0009005
000006
000007

104090
104001
104002
104003
) 104004
104005
104006
104007
104010
104011
104012
104013
104014
104015

L
MACY1] JO0ci046) 30-NJY-77

BITC=1
POPSP=5726
POPSP2=022626
PkTv7=340
PRTY6=300
PRTYS5=240
PRTY4=200
PRTY3=140
PRTY2=100
PRTY1=40
PRTYD=0

, L INE NUMBERS
L INEO=2]
LINEL=2
LINE2=Y
L INE3=6
LINEY=10
LINES=12
LINEE=1Y
LINE?=16
LINE10=20
LINEY11=22
LINE12=2Y
LINE13=26
LINEIY=3C
LINE16=32
LINE16=34
LINE17=20b
RO=%0
R1=%1
R2=%2
P3=%3
RY="4
R5=%5
SP=%6
PC=%7

EMT CALLS
TYPE=ENT+(
ERROR=EMNMT+1
DRTCHK=ENT+2
CHRALT=ENT+3
EHRLT=ENT+u4
SRESET=ENT+E
SCOPE=ENT+6 :
SAVREG=ENT+?7 |
RSTREG=ENT+10
ERRORI=ENT+11
INITIRLIZE=EMT+1 .
SUSHR=ENT+13
KBDIN=ERNT+14
CNTLIJ=ENT+16

1
09 3+ PAGE 2

.POP THE STRACK SAME AS TST e+
+PCP STRCK TWICE SAME RS (MP

CPRIORITY LEVEL DEF INITIONS

fpie, LD+

SEQ 0011
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000000
000002
00000u
000006
000010
000012
000014
000016
000020
0C0022
000024
00002¢
000030
000032
000034
000036
000040
coo0o42
00004 Y
000046
000050
000052
000054
000056
000060
000062
000064
000066
000070
000072
000074
000076
000100
000:02
000104
000106
000110
000112
000114
0Q01ie
000120
000122
000124
000126
000t 30
000132
0001 34
0001 36

MAINDEC-11-D2D0MR-C DM11 LOGIC TESTS
22-N0VY-7?7 1?7 &7

104400
00007
17727277

000000
1222727
000000
0C000C
000002
000900
000006
000000
000012
000000
000016
000000
000022
000000
000026
Q00000
C02606
000340
005506
000340
00004z
0Co000
000046
000000
000052
000000
000056
000000
000062
006000
000066
000000
000072
000000
000076
000000
000102
000000
000196
000000
000112
000000
00011y
000000
000122
000000
000126
000000
000132
006300
0001 36
0oo0nc

N1
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NACHER

DELAY=TRAP+0
BELL=007
RTLAST=-1

Y=0
X=-1
R=0
=0
+2
HALT
+2
HALT
+2
HALT
+2
HALT
+2
HALT
+2
HALT
EMTINT
PRTY?
DLY
PRYY?
+2
HALT
+2
HALT™
.42
HALT
+2
HALT
+2
HALTY
+2
HALT
+2
HALT
+2
HRLT
+2
HALT
+C
HALT
+C
HRLT
+2
HALT
+Z
HALT
+2
HALT
+2
HALT
+2
HRLT

» UNRSSIGNED TRAP
»SP QVERFLOW. BUS ERROR TRAP
"RESERVED INSTRUCTION TRAP
. TRACE TRAP
. TRAP TO CRLL 10X
.POWER FRIL TRAP

~

EMT TRAP

. TRRP TRAP

- TRAPPED
. TRRPPED

. TRAPPED

TRAPPED

. TPRPPED
- TRAPPED

. TRAPFPED

TRAPPED
TRAPPED
TPRPPED
TRARPPED
TRAPPED

- TPRPPED
. TRAPPED
. TRAPPED

TPAPPED

TO
TO
TO
TO
T0
T0
TO
TO
TQ
T0
TO
T0
1O
TO
T0
TQ

SIMILAR TO EMT

PREV1IOUS
PREV!IQUS
PREVIQUS
PFEVIQUS
PREVIOUS
PREVIQUS
PREVIOUS
PREVI0OUS
PREY I1OUS
PREUVIQUS
PREVIOUS
PREVIOQUS
PREVIOUS
PRPEVIQUS
PREYIOQUS
PREWIDUS

RDORESS
RDDRESS
RODRESS
RDDRESS
RDDRESS
RDDRESS
RDDRESS
RADDRESS
RDDRESS
ROORESS
ADDRESS
RODRESS
RODRESS
RADDRESS
RDDRESS
ADCPESS

SEQ 0012

—————— — ——
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MAINDEC-11-DZDMR-C DM11 LOGIC TESTS MRCY11 30(1046) 30-NOV-77 09 34 PAGE 12-2

DZDMAC P11 22-NOv-77 17 57 SEQ 0013

000140
000142
00014y
000146
000150
000152
000154
000156
000160
000162
00016M
000166
000170
000172
000172y
Q00176
000200
000202
000204
000206
000210
000212
000214
000216
000220
000222
000224
000226
000230
000232
000234
000236
00Q240
000242
000244
000246
00250
000252
000254
000256
000260
000262
000264
000266
000270
000272
C00274
000276
000300
000302
000304
000306
000310
000312
000314
000316

000142
000000
000146
000000
000152
000000
000156
003000
000162
000000
000166
000000
00C172
000000
000176
000000
000202
000000
000206
000000
000212
000200
00021
000000
00022l
000000
00022

000000
000232
000000
000236
000000
000242
000000
000246
000000
00C252
0C0000
000256
000000
000262
000000
000266
000000
000272
000000
000276
000000
000302
000000
000306
000000
000312
00Ga00
000316
nooeooc

. TRRPPED
. TRAPPED
. TRAPPED
. TRRPPED
. TRAPPED
. TRAFPED
. TRAPPED
. TRAPPED
. TRAPPED
. TRAPPED
TRAPPED

~

. TRAPPED
TRAPPED
. TRAPPED
TRARPPED
. TRRAPPED
tFAPPED
. TRAPPED
. TRHPPED
TRAPPED
TRAPPED
, TRAPPED
- TRAPPEC
- TRAPPED
. TRAPPED
» TRAPPED
. TRAPPED
TPRPPCD

T0
10
TO
TO
T0
T0
T0
TO
10
190
70
T0
10
T0
T0
T0
T0
T0
T3
TO
TO
TC
10
TO
T0O
10
10
T

PREVIQUS
PREVIOUS
PREVIOUS
PREVIOUS
PREVIOQUS
PREVIOUS
PREVIOUS
PREVIOUS
PREVIOUS
PPEVIOUS
PREVIOUS
PREVIOUS
PREVIOUS
PREVIOUS
PREVIOQUS

PREVIQUS

PREVIOQUS
PREVIOQUS
FREVIQUS
PREYIQUS
PREVIOUS
PREVIQUS
PREYVIGUS
PREVIOUS
PREVIOUS
PREVIQUS
PREMIQUS
PREVICUS

RODRESS
RDDRESS
RODRESS
RDORESS
ADORESS
RODRESS
ADDRESS
ADDRESS
ADDRESS
RAODRESS
RODRESS
RDDRESS
RDDRESS
RODRESS
RODRESS
ADODRESS
ACDRESS
RODRESS
RDDRESS
RADDRESS
ADDRESS
ADDPESS
RADDRESS
RODRESS
RDDRESS
RDDRESS
RDDRESS
ACOPESS




B 2
MAINDEC-11-D¢OMR-C  DMI11 LOGIC TESTS MACY1t 30(1046) 30-NOV-77 09 34 PAGE 12-3 * —1

£2omAc Py 22-NOV-?7 17 67 SEQ 0014
000320 000322 +2
000322 000000 HRLT . TRRPPED TO PREVIOUS RDDRESS
00032« 000326 +2
000326 000000 HALT , TRAPPED TO PREVIOQUS RDDRESS
000330 000332 +2
000332 000000 HALT » TRAPPED TO PREV!IOUS RDDRESS
000334 000336 +2
000336 000000 HALT » TRAPPED TO PREV!OQUS RDORESS
000340 000342 +2
000342 000000 HALT » TRAPPED TO PREVIOUS RDDRESS
000344 000346 +C
000346 000000 HALT . TRAFPED TO PREVIOUS RDORESS
000350 00C352 +o
000352 000000 HALT . TRQPPED TO PREVIOUS RDDRESS
000354 000356 +2
000356 000000 HALT , TRARPPED TO PREVIOUS ADDRESS
000360 000362 +2
000362 000000 HAL T . TRAPPED TO PREVIOUS RDDRESS
000364 000366 +2
000366 000000 HAL T . TRAPPED TO PREVIOUS ARODRESS
000270 000372 +2
000372 000300 HALT . TRAPPED TO PREVIOUS ADDRESS
0003”4 00037e +o
00057 00000C HALT . TRAPPED TO PPEVIOQUS ADDRESS

—d



MAINDEC-11-D2DMR-C

D2OMRC o1y

CC0046
020052

000174
C00176

000200
200204

0210

0C1100

001102
001104
00110o

001146
001206

001246
001250
001252
001254
001256
C01260
001262
001Ze4
001266
001270
001272
co1z?

001276
001300

031306

001506
001510
001512
001514
001516
001520
001622
001524
001526
001530

22-NOv-77 17 57

000046
002544
000082
060000

0CO174
000000
000000

000200
000137 002066
000137 00Zi3u

000137 00Z2zzl

001100
060000

1772571}
177570
000000
001146
000000
001206
000000
001246
000000
175000
175002
1 75004
175006
000000
ooozu0
000000
QCozZ40
000000
000000
000000
000000
000030
001306
000000
001506
000000
000000
000000
000000
000000
000000
000000
006604
016222
016270

DM11 LOGIC TESTS

MACY11 30(1046)

DISPREG
SWREG

SPBOT

SHP
C1SPLARY
CRT

WCT
BAT

VARC
CSR
BAP
BKCSR
BASREG
CLKINT
CLKLVL
XMTINT
XMTLUL
TTORT
LINBIT
RCYDAT
XMTDAT
CARMSK

TUMTRB

KSTART
CURTST
R TNNO
NXTST
ICTR
SCOPTR
PPGL IM
PPGTRB

=46
SENDRD

=52
60000

=174
0
N

=200
JHP J#START
JMP J¥RSTATH

JHP dRPSTRT.

=1100
o

77570
177570
OPEN

=CAT+3Z
OPEN

=sWCT+32
OPEN
=BRAT+32
OPEN
175000
175002
175004
175006
OPEN
PRTYSE
OPEN
PRTYS
OPEN
OPEN
OPEN
OPEN
OPEN
=VAC+3Z
OPEN
zTUMTRB+1ZC
OPEN
OPEN
OPEN
OPEN
OPEN
OPEN
QPEN
PRGC
PRGI
PRGZ

C 2
30-NOV-77 09 34 PRAGE 14

.60 TO START OF DIAGNOSTIC

,G0 GET PROGRAM # & RESTART PPOGRAM
»USING PREVIOUS DM11 PRARARHMETERS

,RESTART PREVIOUS PROGRAM USING
.PREVIOUS DM11 PARRMETERS

» STARTING RADORESS OF

. CURRENT RDDRESS TRBLE

- STARTING RDDRES OF

. WORD COUNT TRBLE

» STARTING RDORESS OF

,BiIT ASSEMBLY TRBLE

. 32 SPARE WORDS

. ADDRESS OF CLOCK STATUS REGISTER
. ADDRESS OF BUFFER ACTIVE REGISTER
ADDRESS OF BRERK STATUS REGISTEF
. RODRESS OF BRSE REGISTER

»DM11 VECTOR RDDRESS (RECEIVER)
»PRIORITY LEVEL

-DM11 VECTOR RDDRESS (TRANSMITTEPR)
. TRANSMITTER PRIORITY LEVEL

. TUMBLE TRBLE COATAR

LINE B T (FOK BAP)

. STARTING RDDRESS Of

. TUMBLE TRABLE

- CURRENY PROGRAM STARPT ADDRESS

. CONTRINS RADDR OF CURRENT TEST

. CONTRINS CURRENT TEST &

» CONTRINS ADDR OF MEXT TEST

. CONTAINS CURRENT ITERPRTION COUNT
, CCNTRINS CURRENT SCOPE POINTEFP

,PRGO START ADDRESS
,PRG1 START RDDRECSS
PPGZ STRRT RDDRECSS

SEQ 0015




0 2

MAINDEC-11-DZDMR-C  DHM11 LOGIC TESTS MRCY11 30(1046) 30-NOV-77 09 34 PRGE 14-1

02OnARC P11 22-NOV-77 17 &7 SEQ 0016
001532 006626 RSTART PRGUR ,PRGO RESTRRT RDDRESS
001534 016232 PRG1R » PRG1 N "
001536 016300 PRG2R . PRG2 " "
001540 003G30 EMTTRB TYP +POINTER TO TYPEQUT ROUTINE
001542 001654 ERR ,POINTER TO ERROR ROUTINE
001544 00163k DTCHK +POINTER TO DATRA COMPARISON ROUTINE
001546 000000 0
001550 0C0000 0
001552 002740 SRSETY ,POQINTER TO RESET ROUT!INE
001554 002406 ESCOPE ,POINTER TO SCOPE ROUTINE
001556 002640 SAYPG ,POINTER TO SAVE REGISTERS ROUTINE
001560 002700 RSTRG +POINTER TO RESTORE REGISTERS ROJTINE
N01562 001672 ERR1 .POINTER TO ERROR1 ROUTINE
001564 003142 INIT .POINTER TO INIT AL ZE ROUTINE
001566 017074 SUSHRP
001570 017154 KBOINTT
001572 017230 CNTLUU
0G1574% 177560 TKCSR 177560
001576 177562 TKDBR 177562
001600 177564 TPCSR 177564
001602 177566 TPDBR 177566
001604 000300 COUNT  OPEN
001606 0000CO PCRDD  OPEN
001610 000000 APCADD OPEN
001612 000000 PRVCNT OPEN
001614 175001 CSR 175001
001616 1750GC3 BRR 175003
001620 175005 BARCSP. 175000
001622 17500’ BASREG 175007
001624 00COQQ PRSES OPEN




MAINDEC-11-DZDOMR-C  DM11 LOGIC TESTS
22-N0V-77 17-57

£2omRd P1

001626
00:1630
001632

001634
001642
001644
001650
001652

001654
001062
001e?70
001672
001700
001706
001712
001714
001722
001724
001730
001732
001734
001736
001742
001744
001746
001780
001752
001754
001756
001760
001762
001720
001772
001776
002000
002006
002012
002014
002022
002024
002030
002032
002034
002036

104000
017444
000207

123737
001402
004737
104011
00coo0z

012737
013737
000410
C12?237
013737
004737
104014
032777
001017
004537
001610
017650
000006
004537
001512
017642
000003
104000
017637
gooo00
104000
017401
032777
001411
105777
100375
012277
105777
100375
023737
001403
005777
100001
000000
104014
0onoos

001274
0Czou0

ooou02
001606

000240
001606
002040
020000

008bb2

0056¢&.C

000400
177602

000007
177566

Co0042
177052

001276

NC1754
D0t61U

001754
N01610

177 el

177112

1727574

N0NCuc

E 2

MACY11 30(1046) 30-NJV-77 09 34 PAGE 15

,ROUTINE TO TYPE OUT INCORRECT ROUTINE SELECTED

INCRTN  TYPE
Mt
RTS %

,DATR CCMPARRISON ROUTINE
DTCHK  CMPB RCVDAT. XMTORT

BEQ 19
JSR 7. CNVDRT
ERROR1

19 RTI

»,TYPE INCORRECT ROUTINE SELECTED
JEXIT

» COMPARE RECEIVED & TRANSHITTED DRTA
. (HARS BRANCH IF SAHE
, CONVERT RCVDRT & XMTDRT TO RSCli

, EXIT

,ERROR ROUTINE WHENEVER THE PROGAM DETECTS AN ERROR THE EPPOR
.AND ERROR1 EMT INSTRUCTIONS ENTER HeRE ERROR RT ERR ,AND

.ERROP1 AT ERRI

ERR MoV #402, ERRB
MOV PCADD, APCRDD
BR EPRA
ERR1 MOV #240. ERRB
MoV PCADD, RPCRDD
JSR 7, CNYDAT
EPRA KBOIN
BIT #8713, ISHR
BNE ERRC
JSR 5, ORCNVY
APCRDD
RPC
]
JSR 5. QRCNY
RTNNO
ATNUMB
3
TYPE
ene
EFPB OPEN
TYPE
ERDRT
EPRC BIT #B1TE, oSUF
BEQ ERRD
TST8 dTP(CSP
BPL -4
MOV #BELL. TPDBR
TSTB dTPCSR
BPL -4
ERRL CMP IRNZ, JB46
BEQ EPRHLT
TST JSHR
BPL ERPEX

EFRHLT HALT
EPPEX  KBDIN
RTI

MOV BR +6 TO ERRE
,GET PC WHERE ERROR OCCUFFED

,MOVE NOP TO ERRB

,GET PC WHERE ERROR OCCUPRED
, CONVERT RCVDRT & XMIT DRT TO RSCII
.60 CHECK FOR G

.ERROR PRINTOUT DESIPED
,BRANCH IF NO PRINTOUTY

. CONVERT

. DATA

.10

.RSCII

.FQPR

PRINTOUT

. TYPt EPROR

- MESSRAGE

.NOP IF EPROR1. BP +b6 I|F EPPOP
. TYPE ANOTHER MESSAGEt

, IF ERROR 1

-PING BELL ON ERROF?
-BRANCH IF NO BELL ON EPPOP
. TELEPRINTER

» RERDY?

.RING THE BELL

-WRIT FOP THE BELL TO PING

CACTI?

.HRLT ON ERPCR
.60 TO EXIT IF NO HALT ON EPRCP

+CHECK FOR
-RETURN

"SUBROUTINE YO CONVERT RCUDAT AND XHTDAT TO ASCit ANL FLRCE

SEqQ 0017




MR NDEC-11-D20MA-C  DM11 LOGIC TESTS
22-NOv-?7 17 &7

£orMac Py

- —

002040
002044
002046
002050
002052
002056
002060
002062
002064

004537
001276
017413
000006
004527
001274
017427
00000¢
000207

005662

005662

F 2

HRCY11 30(1046) 30-NOV-77 (09 34 PAGE 15-1

. IN MESSAGE

CNVDRT

JSR 5. 0RCNV

XMTDRT

RRSB

6

JSR 5. 0ACNY

RCVDRT

AKWRS

6

TS ’ SEXIT

SEQ 0018



MRINCEC-11-D2OMA-C DM11 LOGIC TESTS

C20MAC P1Y

002066
002072
002074
002102
nol10e

00C1 1k
002116

N g An
e

002130
002134
002140
002142
002150
002152
002154
002156
002162
002164
002172
002176
002204
002212
002216
002222
002230
002236
002242
002244
002250
002254
002262
002264
002272
002274
002276
002300
002302
002304
002306
002314
002322
002324
002330
002236

22-NQvy-77 17 &7

001100

002116
172300
01242y

012706
104012
012737
005737
012737

000402
012706

012737

001100
00000¢e

Q0172
001100

alalnlal

004737
012706
104012
023737
001405
104000
017436
004537
000000
043737
006337
012737
012737
013700
000170
012737
012737
0i2706
104012
013700
000170
022737
001410
023737
001405
104000
017454
000000
000401
104015
013737
012737
104012
004737
032777
001003

o041.24

001522
002162
00u 304
000340
002162
001524
004 304
000340
001100

002162
001532
000176

oonoy2

001506
000006

002554
061000

002004
012036

200004

NoCNu4e

00212

0000Zk
0000ze
n00024
000026

001102
N000+e

001514
000004

1"pbuy

MRCY11 30(1046)

G 2
30-NOV-77 09 34 PAGE 16

. THE FIRST PART OF THE START ROUTINE CONTAINS R SHORT
,ROUTINE TO CHECK FOR MEMORY MAMAGEMENT ALTHOUGH THIS

.DIAGNOSTIC DOES NOT USE MEMORY MANAGEMENT,

ITS PRESENCE

, INDICATES THAT OVER 28K OF MEMORY MAY BE PRESENT IN WHICH

,CASE TESTS RTeb6 AND RTE67 MAY FAIL

IF MEM MAN IS

,PRESENT THESE TESTS ARE SKIPPED BY THE PROGRAM

START MOV $SPBOT. %6
SUSHR
MOV $19, OSERRVEC
TST 98172300
MOV #RT70, 08RTE5E+2
BR +6
18 MOv #SPBOT. %6
MOV SERPYEC+Z, 98ERRVEC
JSR 7 J8DNPAP
RSTAT1 MOV #SPBOT. %6
INITIALIZE
CMP o#42. dRlb
BEQ PPGNUM+Z
TYPE
MO
JSR 5. RECD
PRGNUM 0O
BIC PRGL IM. PRGNUM
ASL PRGNUNM
MOV $PFARIL. 24
MOV APRTY?Z. 26
MOV PRGNUN, %0
JMP dPRGTAB (D)
RSTATZ MOV #PFARIL. 24
MOV #PRTY?7. 26
MOV #SPBOT. %6
INITIAL | ZE
MOV PRGNUN, %0
JMP ORSTART (D)
SPSET cMP #SWREG, SHR
, BEQ 19
CMP %42, 98406
BEQ GETRDY
TYPE
M3
HALT
BR GETRDY
18 (NTLU
GETROY MOV KSTART, NXTST
GTRDYX: MOV #6. Q$ERRVEC
INITIRL I ZE
GTROYR JSR %7, FORHD
BIT 28179, 9SWR
BNE GTRDYC

»SEE IF SHITCH-LESS PROCESSOR
.SET UP FOR ERROR TRAP

. TEST FOR KT11
»KT11 PRESENT,
,SKIP RTE6 RAND

. TRAP OCCURRED. NO KT11 PRESENT.

.RESET STACK
. RESET

»OUT INTERRUPTS (SET PRIORITY LEVEL 7!

SET UP TO
RT&?7

ERROR TRAP

-QET DM11 PRPAMETERS

LRCTILT

.GET PRGNUM ANC PUT T

. HERE

.MASK OFF UNUSED BITS
,SHIFT PROGRRM #

.GET PRCGPRM %

GO START PROGRAM

.GET PROGRAM #

.G0 RECTAFT PROGFRM

LACTIL?
. TYPE MESSAGE

TO REQUEST SHiTCH

REGISTER SETTINGS

.WAIT FOR OPERARTOF TO SET SHITCHES

»60 GET SWREG SETTINGS
.ADDP OF 1ST ROUTINE TO NXTST

+RESET ERPOR TRRP VECTOP

»ROLL FORUWRRD
» CHECK SELECT

.BPANCH I1F SELECT POUTINE SWITIH 13 SET

TO “NEXT" ROUTINE
ROUTINE SHiTCH

SEQ 0019




H 2
"MA NLEC-11-D20MR-C  DM11 LOGIC TESTS MACY11 30(1046) 30-NOV-77 09 34 PRGE 16-1

rZtMat P 22-NOV-77 17 57 SEQ 0020

002340 000177 177144 JMP OCURTST . GO RUN CURRENT ROUTINE
002344 0004s? BR SCOPED ,NO GO MANUAL RTN BYPASSED
002346 017700 176530 GTRDOYC MOV oSHR, %0 ., (SR) TO RO
002352 042700 177600 BIC $177600. %0 »,MASK UNDESIRED BITE
002356 123700 001512 CMPR RTNNO, %0 ., COMPARE RTNNO TO (RO)
002362 001002 BNE GTROYD ,BRANCH IF ROUTINE NOT FOUND YET
002364 000177 177120 JMP OCURTST ,GO RUN ROUTINE
002370 022737 177?77 001514 GTRDYD (HMP #-1, NXTST ,NC C(HECK FOR LARST ROUTINE
002376 001352 BNE GTRDYR ,BRANCH IF NOT LAST ROUTINE
002400 004737 001626 JSR %7, INCRTN ,YES INCORRECT ROUTINE SELECTED
Q32404 000740 BR GETROY ,START OVER

,SCOPE SERVICE ROUTINE
00Z«06 000240 ESCOPE  NOP
002410 10401y ¥BDIN ,CHECK FOR G
NOZ41Z 005077 176634 CLR ¢BAR ,CLEPR ALL DM11 REGISTERS
02416 005077 176626 CLR oCSR .AND SET BRSE REGISTER
Q02422 005077 176026 CLR dBK (SR ,AT THE STARTING RDDPESS
J0Z4Z6 104012 INITIRLIZE
Q02430 013”16 001€2 MOV SCOPTR, 1SP)
COZ434 032777 040000 176440 BIT A61TIY QSKHR ,CHECK FOR SCOPE OPTION
002442 001402 BEQ SCOPEB ,BRANCH If SCOPE SH NOT SET
o02444 000!"e 000000 SCOPER  JMF 9(SP) .RETURN TO ROUTINE
002450 032777 004000 17e4l4w SCOPEB BIT 81711, SKHR , TEST INHIBIT ITERATION SHITCH
002456 001012 BNE SCOPED ,BRANCH IF INHIBIT ITERATION SW SET
002460 023737 Q0004. 000Que (MP e¥u2, J%lb LACT11?
002466 001003 BNE 19 .BR IF NO
002470 005737 001614 TST 9#PASS . 1ST PRSS?
002474 001403 BEQ SCOPED .BR IF YES
002476 005337 0601518 18 DEC ICTR ., DECREMENT ITERATION COUNT
002502 001360 BNE SCOPER ,BRANCH IF COUNT NOT O
002504 0327?77 001000 176370 SCPED BIT #8179, 9SUR ,CHECK SELEfT ROUTINE SWITCH
002512 00127% BNE GETRDY BRANCH IF SELECT RTH SW SET
002614 022737 177777 0N01514 CHP #-1.NXTST ,LAST TEST?
002522 001274 ! BNE GTRDYX .BRANCH IF NOT LRST TEST
002524 005237 0NO01bl 4 INC 9¥PRSS
002530 104000 TYPE . TYPE
0025832 017447 MZ , "PRGEND"
u02s34 013700 000042 MOV o%42.°.0 . CHECF XADP/ACT11 MONITOP HOOK
002540 00166l BEQ GETRDY
002542 000005 RESET
002644 004710 SENDAD  JSR T RETUPN TO X¥DP 'ACT11 MONITOP
00zZ546 000240 NOP
002550 00G240 NOP
002552 000240 NOP
002654 013705 001514 FORWD MOV NXTST, %8 .ADDR OF NEXT POUTINE TO RS
002560 012537 G0151C MOV (5)+, RTNNO ,GET NEXT ROUTINE NUMBER
002564 0125837 001514 MOV (6)+, NXTST ,GET RDDP OF NEXT "NEXT" PCUTINE
002570 012537 001816 MOV t6)+, ICTR ,GET ITERATION COUNT
00257 012537 001520 MOV (5)+. SCOPTR ,GET SCOPE LOJOP ENTRT POINTEP
002600 010537 001510 FORWDAR MOV 5. CURTSY .RDDR OF NCW CURPENT TEST TC CURTST
00Ze0% 000207 RTS W CEXIT FORPUD SUBRQOUTINE

EMT TRAP INTERPRETEFR
0N0Zo0e GClloke EMTINT MOV g - b GET P° "F NE-T n TR T

a . —




MAINCEC-11-020MA-C  DM11 LOGIC TESTS

| 2 |
MACY11 30(1046) 30-NOv-?27 09 38 PRGE 16-2

CIOMAC P11 22-NOVY-?77 17 57 SEQ 0021
002610 162716 000002 SuB %2, (6) ,FORM PC OF EMT INSTRUCTION
002614 011637 001606 MOV (6).,PCADD ,GET PC OF EMT INSTRUCTION
002620 017616 000000 MoV 9(6). (b) ,GET EMT INSTRUCTION
002624 105066 000001 CLRB 1(6) ,CLEAR MSH OF EMT INSTRUCTION
002630 006316 ASL (6) »,SHIFT EMT IDENTIFIER
002632 062716 001540 RDD $EMTTRB. (6)

002636 013607 MOV 8(6)+, %7 .G0 TO PROPER ENT
.SAVE REGS O TO 4 SUBROUTINE

002640 012637 002674 SAVRG MOV (6)+, SURPC . SRVE PC RAND PSH

002644 012637 002676 MOV (6)+, SURPSH

002650 010446 MoV N, -(6) +SRVE REGS C - 4

002652 010346 MoV %3, -16) - IN STRCK

Q02654 010246 MOV %2,-(6)

002656 010146 MoV %z1,-16)

N0Zeb0 010046 MOV %0, -(e)

J0Ze6Z 013746 0NZ676 MOV SURPSH. -6 .RESTORE PC AND PSi

00266 013746 00Z674 MOV SURPC -1e

d0Ze”Z 000002 RTI CEXIT

QCGZe”4 000000 SURPC  OPEN

SURPSH OPEN
PESTORE REGS O TO 4 SUBROUTINE

C0Ze7e COOOO0O

002700 0O1lei™ D2C277W PSTRG MOV (6)+,RSTPC . SAYE PC RAND PSH
002704 0O1ZeI” N22776 . MOV (6,+ RSTPSH
002710 012000 MOV (6)+. %0 .PESTOPE PEGS O - W
002712 012601 MOV (6)+, %1 .FROM STR(K
002714 012002 MOV (6)+, %2
002716 012603 MOV (6)+. %3
002720 01Ze0u MOV (6)+. %N
002722 01374p 002730 MOV RSTPSH. -1 PESTOPE PC RHND PSH
002726 013746 00Z7Cu MOV PSTPC. -1e
002732 000002 RTH erIT -
002734 000000 RSTPC QPEN
. 002736 000000 RSTPSW OQPEN

.ROUTINE TO 1SSUE RESET
002740 012700 0525285 SPSETT MOV #652626.°9 .DRTA TQ PO
Q027uw4 005100 con %0 . COMPLEMENT (PO ,
002746 010037 002742 MOV %0, SRSETT+Z .fRO) TO SRSETT+Z .
0027582 000005 RPESET . ISSUE RESET (PO 1S *
00.75% 000092 PTH ,CISPLRYED ExiT

RANDOM NUMBER GENERATOR PRCJTINE EYITZ WITH NLMBEP 1M PEGICSTER O
002756 013700 00:0:-4 FHGEN  MQV RP1.%0
002762 006100 POL %d
002764 006100 ROL AL ’
002766 063700 0030Ce ADD PP2.%0
002772 010037 00202y MOV %0.RP1
002776 006100 ROL 0 '
003000 006100 ROL %0
003002 063700 0030.e RDD RPZ. %0
003006 006100 ROL ~0 .
003010 006100 ROL =0

003012 010077 0030e MOV “C PP




Y

MA NOEC-11-020MR-C  DM11 LOGIC TESTS
22-NQV-?77 17 &7

DIOMAC P11

0C2016
003022
003024
003026

003030
003032
003036
003040
003044
003052
003054
003056
003064
002066
002072
003074
003102
003106
Q03110
003112
003120
003124
003122
003136
003140

003142
003150
003156
002162
002166

903172
003200

003202
003206
003212
003216
003220
003224
003226
003234
003242

003250

003256
00326M4
003270
003276

G13700
000207
001233
007622

011600
062716
011000
112037
122737
001001
000002
122737
001412
00nN737
000762
113777
1067727
100375
000207
112737
004737
112737
00u72?
000740
ooooc0e

012777
012737
011637
012706
000176

023737
001060

012730
010060
012720
005720
022700
100370
012737
012737
012737
012737
0127727
005037
012777
012777

003024

000002

003140
000100

000045
003074

003140
176872

000015
003074
000012
N0Z074

001106
000340
001100
001100
0C0o000

000042

000302
177776
000003

C0G776

003316
000340
1772727
016564
000105
177776
000001
17727277

003140

002140

176500

17010e
177776

00Co4e

N0O0014
000016
001146
No110e
175764

176754
N01e0u4

MACY11 30(1046)

MoV RP1, %0
RTS %7

kP1 1233

RP2Z 7622

J 2
30-NJV-77 09 3M

PAGE 16-3

LEXIT NUMBER IN RO

. SUBROUTINE TO OUTPUT RASCI| MESSAGE ON TELETYPE PRINTER

TYP MOV 9%6. %0
AOD %2, 9%6
MOV %0, %0

TYFA  MOVB  (0)+, TYPDAT
CMPB  #100. TYPDAT
BNE TYPC
PTI

TYPC  (MPB %45, TYPDRT
BEQ TYPF
JSP %7. TYPD
BR TYPA

TtPD-  MOUB  TYPDAT.QTPOBR
TSTB  &TPCSP
BPL -4
RTS %7

TYPF MOYB  #15. TYPOAT
JSP %?. TYPD

T(PG  MOUB  #12, TYPDAT
JSR %7 TYPD
BR TYF &

T\POAT OPEN

. SUBROUTINE TO INITIALIZE STRCEH

LLEVEL 7T

IMNLTY MOV #CAT, gBASPEG
MOV $PPTY?.PSH
MOV 1SP ). SPBOT
MOV #SPBOT. SP
JMP QISP

,GET ADDRESS THAT CONTRINS MESSRGE ADDRESS
LSET UP EXIT

. ACDRESS OF MESSAGE TO RO

»GET CHRRACTER

» CHECK FOR"@"CHARACTER

,BRANCH IF NOT ‘9"

. TERFINRTOR CHRR CONE EXIT

. CHECK FOR™%"

.BRANCH IF"%"

. TYPE CHAR IN TYPDRT

. QUTPUT (HRRACTER TO PRINTEP
.HRIT FOR DONE FLRG

.MOVE CARRIAGE RETURN CODE TO TYPDRT
. GO TYPE CHRR

.MOVE LF CODE TO TYPORT

.60 TYPE CHRR

PQOINTEP AND SET PROCESSOR PRIOPITY

. INITIRLIZE THE BASE REGISTEP
.SET FRIORITY LEVEL 7

GET RETURN RDDRLSS

.SET BOTTOM OF THE STACKF

.RETUPN

. SUBRQUTINE TO GEY DM11 PRPANMETERS

+MECTOR RDDRESS
DMPRR  (MP JRuZ. Jile
BNE 6%

»SIZE FOR INTERRUPT VECTOR

CACTL!?
.BR IF NO
IN ALTQ MOOE

MoV %302.70 ,SET UP FLORTING VECT 3PER
49 MOV RO. -2(RPD

MOV £3, (ROY+

TST (RQ)+

CHP %776.R0

BPL 4$

MOV #58, Ji 1l -SET BPT VECT

MOV #3u0. a%16 -8 PSH
39 MOV #-1, HCT LSET TO XMIT 1 CHAP

MoV #OUTBUF . CAT

MoV #B1T6+BITZ¢BITO, CSK SSET IR

CLR o#PSH ALUL N

MOV #LB170. 0BAP CYMIET

MOV #-1. CCUNT HRIT

StQ 0022




MRINDEC-11-D2DMR-C  DM11 LOGIC TESTS
22-NOV-77 17 57

02oMRC P11

003304
003310
003312
003314
003316
003322
003326
003334
003340
003342
003346
003350
003352
003356
002360
003364

N33ke
003274
002402
00340y
003406
003410
003412
003420
003422
00343C
002w32
003440
0034ue6

003454
003462
002ueM
0034eb
003470
003474
Q034?6
Q03504
C03506
003510
003512
203514
003520
00352u
0035130
003534
003540
003544
003550
003562

003554
003560
003564
003570

005337
001375
104001
000752
162716
011637
012737
004737
000415
004?737
104000
017310
004537
000000
0057237
001002
012737
023727
103003
104000
G174y
0006”0
Q23227
101371
332737
001365
01373”
062737
013737

023737
001405
104000
017352
004537
000000
Q23727
101403
104000
Q17444
000760
006337
006337
006337
012702
012701
042711
063721
005302
001372

012702
012703
012701
012311

001604

00GO0u
003356
00N016
004100

oous100

00412k
N03356

000200
002356

00350
000007

002356
00C0O04
00325

000042

o041z
003474

003474
00247y
003474
000004
01250
000370
003474

00000y
001250
N01614

000014

202356

N203J0

No0~?0
N03350
N01260

00335
001 Cok

n000ue

ncooL?

K 2
MACY11 30(104€) 30-NIv-77 09 34 PAGE 16-4

29 DEC
BNE

ERROR

BR
5% Su8
MOV
MOV
JSR
on
6% JSR
TYPE

HHERE

JSR
VECTON D
TST
BNE
MCv
JECOK cHP

BHIS

VECOKR TYPE
M1
BR

VECORB  (CMP
BHI
BIT
BNE
nCv
ACD
MOV

~UNIT NUMBEFP
CMPRRB  (MP
. BEQ
TYPE

WHICH

JSF
UNIT N
CHP

BLOS

TYPE
M1
BR
UNTOKR RSL
RSL
ASL
MOV
MOV
UNTOWRB BIC
RADD
0eC
BNE

MOV
MoV
MoV
UNTOKC. MOV

COUNT
2%

39
"11 (SP)

(SP), o%VECTOR

k16, ok 14
7. OURLRY
VECOK

7, OVRLAY

5. RECD

VECTOR
VECOK
# 300. VECTOR
VECTOR. 8300
VeECOKB

DMPRF
VECTOR, %770
VEZOKR
%#7.VECTOR
VECOKR

VECTOR, CLEINT

#4. VECTOR

VECTOR. XMT NT

o8u’. JRU6
UNIT+2

5.RECD

UNIT, %17
UNTQKA

DMPRPB
UNIT

UNIT

UNIT

#4. %2
$.SP, 1
$370. (1)
UNIT, (1) 4
%2

UNTOKS

84, %2

8CSR, %3
§ (SR, %1
(24, (1)

+MO INT OCCURRED
.REPERT IT

»CALC INT VECT

+STORE IT

»RESTORE BPT VECT

. +2, HALT IN VECT RRER

,PUT HALT, +2 IN VECTOR RRER

,ASK USER FOR RECEIVER INT VECTOR
,OF LNIT UNDER TEST

.GEY VECTOR RAND PUT 1T

» HERE

.SET VECTOR = TO 0300
. 1S VECTOR HIGHER OF
.EQUARAL TO 0300

. TYPE 7"

,ASK FOR ANOTHER VECTOR

» 1S VECTOR = TO OR

.LESS THAN 770

.LSB OF VECTOR MUST BE RLL 0O°S

RCT11?
BP iF “ES

.GET UN'T AND PUT T

- HERE

CUNIT SELECTED MUST BE
-BETWEE O & 17

FOPH ADDRESSES O
.PEGISTE®S OF UMIT ZELE.TEC

+FORM JDD BYTE ROCPESSE™

SEQ 0023




2 NDEC-11-DZOMR-C  DM11 LOG!IC TESTS
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waimMac P

003572
003574
003576

003600
. 003606
003610
003612
003614
002620
003622
002626
002630
003636
00264y
J02bu4e
703650
C03652
00354
003662
G366k
003072
003676
003702
003710
003712

063714
003716
003720
003722

003724
003730
003736
003744
003752
003760
003766
a03774
004000
004006
co401Y
004016
004022
004030
004032
004034
004040
004042
CO40uy
0c40s0
0G4 056

005221
005302
901374

023737
001405
104000
017365
004537
0060Q0
005737
001003
012737
023727
103003
104000
017444
003782
023727
101371
162737
006317
013701
0161737
000240
060207

177740
177700
177600
177400

005057

012737

012737
012?77
012777
012777
012777
005037
012237
062737
001007
005077
012737
104001
0007 34
005337
001375
000756
005077
013737
0060137

000g42

004124
003620

000010
003620

003e20

000005
N03e620
003620
N03714

oo4N?7y
1722277
016564
0040uY
000340
000001
000105
177776
00004y
n00001

176226
000340
001004

175200
004074
004076

200046

003620
00005

N00C10
003620

001290

001146
001106
176306
175302
176264
176254

N01604
004074

127770

)

)

NO4C’6

L ~
MACY11 30(1046) 30-NOV-77 09 34 PAGE 16-5

INC (1)+
DEC %2
BNE UNTOK(
, CHARACTER LENGTH
DMPRRC (MP oL 2, 9846 LACT117?
BEG LENGTH+2 ,BR IF YES
TYPE
LEVEL
JSR 5.RECD ,GET LENGTH AND PUT T
LENGTH O . HERE
TST LENGTH
BNE LENOKR
MOV K8 .LENGTH
LENOKR (CHP LENGTH, 85 , CHRRACTER LENGTH SELECTED MUST
BHIS LENOKC ,BE BETWEEN 5-8
LENOKB TYPE . CARKIAGE PETURN SELECTS 8
M1
BR OMPARRC
LENOKC CHP LENGTH. #8
BHI LENOKB
Sub %5. LENGTH
ASL LENGTH
MOV LENGTH. %1
MOV LENOKD: 1 @%CRPMSK .SET CHRRRCTEP LENGTH MASH
NCP
RTS 7 CEXIT PARRMETERS POUTINE

THE BELOW TACLE REPPESENTS THE (HARACTFR LENGTH MRSK FOR 5.6.7. AND §
.B!1TS PER (HARRCTER RESPECTIVEL
LENOKD 127740

177700
177600
177400
.CALCULATE MACHINE TIME TO TRRNSMIT ONE CHARRCTEP
TIMER  CLF TINET
MoV -1, WCT »SET UP TO TPANSMIT
MOV ®#QUTBUF . CRT +1 CHRRACTER ON LINE 1
Hov RTIMEC, CLKINT L LORD RECEIVER INTEPRUPT
MOV KPRTY7. JCLKLVYL . AND PRIORITY
MOV #LE170. 9BAR ,STRART TRANSMITTING
Mov #B1To+BITZ+BITO QCSR .SET IE BIT
CLR o%PSH ,SET PROCESSEP PPIORPITY LEVEL = O
THHER MOV 44, COUNT
ADD #1. TIMET » INCREMENT MRCH TIME TO TPRNSMIT
BNE TINES
CLR SR
MOV #PRTY?Z.PSU ,SET PROCESSER PR'ORITY LEVEL = 7
ERROR , TRANSMITTER FRILEC TO INTERRUFRT
bR TIHER
TiMEB  DEC COUNT
BNE -4
BR TINEAR
TIMEC CLR oCSK
MoV TIMEL, TINELY
ROR TiMELY

SEQ 002y




n 2
MA NCEL-11-DZ20MA-C OM11 LOG!IC TESTS MRCY11 30(1046) 30-NJv-?77 09 34 PRGE 16-6
DIbMAC P11V 22-NQV-77 17 &7 SEG 0025
0040ezZ 000241 CLC
004Ces 006037 004076 ROR TIME1Y
004070 022626 POPSP2 ,RESTORE STACK POINTER
004072 000207 RTS ’ LEXIT TIME CALCULATION ROUTINE
004074 000000 TIME1  OPEN , CONTAINS MACHINE TIME TO XMIT 1 CHRAR
004076 000000 TIME1Y OPEN ,CONTRIN TIME TO XMIT 1/4 CHAP
, SUBROQUTINE TO PUT HALT, 42 IN VECTIR AREA (0300-1000"
004100 012702 000302 OVRLRY MOV %302.R2
004104 010262 177776 19 MOVY R2.-2(R2)
Qo0v110 005022 CLR (R2)+
004112 008?22 TSY (R2)+
Qoswtis 022702 00076 CMP #776.R2
cov120 100371 BPL 19
~0e122 000207 RTS ?
. SUBROUTINE TO PECEIVE DATA
, TH!S SUBROUTINE RECEIVES DATR FROM THE KEYBORRD (UP TGO StX OCTAL
.DIGITS AND PLACES THEM INTO THE ADDRESS FOLLOWING THE SUBROUTINE
. CALL (JSR S.RECD) NO REGISTER CONTENTS ARE DISTURBED
.SUBRCUTINE TO INPUT DRTR FROH TTY
Qouil4 O01004b PECD Hov RO. - (SP)
004126 005015 19 CLR (5) . CLEAR OLD DRTA
004130 012737 00000~ 204220 MOV 87, CNT -SET {HRP (OUNT
004136 105777 175432 =S TSTB STKCSR SHAIT FOR CHRP
oo4wt4z 100375 BPL 29
00414y 117700 175426 rove dTKDBR, RO
004150 142700 000200 BiICB #200. RO .STPIP OFF PRR!TY
OoviS4 110077 175422 MOVB RC. 9TPDBP .ECHO CHRRACTEP
004160 122700 000025 CMPB #25.R0 AAS ITR U
004164 001443 BEQ 5% ,BRANCH IF YES
OO4166 122700 000015 (MPB %$15. R0 SIS 1T R KCR
004172 031415 Etaq 6% ,BRPANCH 1F YESS
Q0%174% 142700 000060 BiI(B %60. RO
Q04200 132700 000110 BiTB #110. RO .CHECK FOR 0-7 (&)
Q04204 001031 BNE 7% . BRANCH f NOT
004206 006315 ASL (51
004210 006315 ASL (5)
004212 006315 ASL (5) .SHIFT DATA
oo4214 150015 BISB RO, (&) . INSET NEW CHRF
Oo4216 005337 00u30C DEC CNT
004222 001422 BEQ 73 .ONLY 6 (HAR'S PLERSE
004224 000744 BR 28 . NEXT CHRFRCTEP
004226 105777 175346 69 TSTB eTP(CSR
oo4232 100375 BPL 6% -WRIT FOR RERDY
004234 012777 000012 176834C HOV $12.9TPDBR - TYPE <LF>
oou242 108777 17533: §9 TSTB dTPCSR
O04246 100327 8PL 1% ~HRIT FOR PERDY
004250 005377 175326 CLR o TPDBR LORC CHRP
oo4254 105777 178320 as TST8 JTPCSK
004260 100375 BPL 9%




MRINDEC-11-D2DMR-C DM11 LOGIC TESTS

D2DMRC P11

004262
004 264
004266
004270
004272
004274
004276
004 300
008 302

COu 304
Cuu3ll2

NOu 31k
o4 316
tow 222
Q0w IZH

004330
004 33y
00u 340
004 344
004250
004 352
004 350
uO4 360
Qo4 362
004 ZeM
C0u 366
004370
004376
oou400
004402
004406
004410
004412
Oou416
004424
004426
oou4 30
004436
00444y
oouusZ

22-NQV-77 17 97

005725
012600
000205
104000
01744y
104000
017350
0C0712
000ooc

012737 004314

o0ocooo

000005

012706 001100
104001
000137 00czcl

012537 O01eM1l
004737 006552
005037 00127

004537 005754
1277727

012703 000010
035002
005302
001376
005303
001374
017737
001401
104011
005777 " 17ue4 2
100401
104001
013701
016137
001401
104011
012737 016564
016137 001106
023737 001274
001401

174656

Ole412
001146

000024

201274

001274

001276
001274
no127

N 2
MACY11 30(1046) 30-NOV-77 09 34 PRAGE 16-7

79
5%

CNT

.POHER FRIL ROUTINE

PFRIL

TST (RG)+ , ADJUST RS

MOV (SP)+,RO ,RESTORE RO
RTS RS

TYPE

M1

TYPE

SCTLU

BR 19 . START QUER
0

MOV ¥PHRUP, 24

HALT

»POWER LP SUBROUTINE

PHRUP

RESET ,GIVE TELEPRINTER TIMz TO START
MOV #SPBOT. %6

ERROR - TYPE POWER FAIL ERROR

JMP J¥RSTRTZ . G0 RESTART PROGRAM

LINE TEST SUBROUTINE THIS LINE TEST PROVIDES SEVERAL TESTS ON R DM11 L ‘Eﬁ

. THE SUBROUTINE 1S CALLED BY JSR 5, LNTST
+LINE BIT RND L INE NUMBER
HA TS UNTIL CHARRZTER SHOULD HAVE BEEN TRANSHITTED.,

WMTTST

19

4s

5%

A

THIS INSTRUCTION PROVIDES THE =+
THE FOLLOWING LINE TESTS ARE PERFORMED
THEN TESTS

. D0 NEXT TEST IF ERROR

. RERDY SET ., DO NEXT TEST IF ERROK

. WORD COUNT HENT TO O ,D0 NEXT TEST IF ERROR

. CURRENT ADDRESS DID NOT INCREMENT ,DO NEXT TEST I|F ERROR

, INTERRUPTS TO CORRECT VECTOR ., DO NEXT TEST IF ERPOR (NO INTERRULZT)
READY BIT CAN BE CLEARRED »END OF TEST

. THAT BAR BIT CLERRED

MOV (5)+, 9%L INE ,GET L INE NUMBER

JSR ?,GTLINB GO FORM LINE BT (FOR BAR)

CLR XMTDRT

JSR 5. 98XMITC »,G0 TO TRANSMIT SUBROUTINE

-1 » TRANSMIT ONE CHRPACTEP

MOV $10. %3 WRIT IN

CLR 2 » THIS

DEC %2 . LOOP

BNE -2 ~UNTIL THE

CeC %3 . TRANSMITTER

BNE <9 » 1S FINISHED

MOV oBAR. PCUDAT »BAR SHOULD NOW BE CLERP

BEQ 3% BRANCH IF IT IS

ERROR1 .,ERROR' BRR BT FAILED YO CLERP
TST QL SP . TEST REARDY BIT SHOULD BE SET
BMI 4% BRANCH IF SET

ERROR ,ERROR' RERDY NOT SET

MOV d%L INE. %1 » GET LINE NUMBER

MOV ggT(l),PCUDﬂT . WORD COUNT SHOULD BE O

BEQ

ERROR1 .ERROR!' WORD COUNT NOT EQUAL T0O O
MOV #CUTBUF, XMTDART ,

MOV CAT(1).RCUPART  , CURRENT ADCPRESS SHOULD NAOT HRUE INCPEMENTED
CHP RCVUDAT. XMTDAT

BEQ (53

AY
e

SEQ 0026
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p2omMac P11t

004454
004456
O0uu4bM
004472
004476
004500
004506

004510
004512
004520
Q0us26
0ous32
Qous3y
Q4EZ6
tosBu(

104011
012777
062777
005037
000240
012737
104001

022626
012737
Q42777
005777
100001
104001
N0s7Ze6
10400¢

004510
010000
177776

000340

000340
110000
174516

174600
174556

177776

177776
174522

MACY11 30(1046)

6%

. INTERRUPTED TO

7%

£$

ERROR1
MOV
BIS
CLR
NQP
MoV
ERROR

CHP
MOV
B (
TST
BPL
ERROR
T<Y
SI0PE

B 3
JO-NGV-77 09 34 PRGE 16-8

.ERROR' CURRENT RODR DID NOT INCREMENT

K78, aXHTINT .LORD TRANSMITTER 'NTERRUPT VECTOR
%¥81T12. (SR .ENRBLE TRANSHITTER INTERRUPT
J¥#PSH »SET PROCESSOR PRIORITY =0

RPRTY?7. 98#PSH . LOCK QUT INTERRUPTS

» TRANSMITTER FRILED TO INTERRUPT OR
WRONG LOCATION AND HALTED WITH RDDRESS +2 DISPLRYED
(6)+, (6)+ +RESET STRCK PTR
RPRTY?Z, 98PSK ,LOCK QUT INTERRUPTS
#81712+481715, 9CSR +CLEAR XMIT IE & RERDY B TS

9CSR , TEST THRT READY CLERRED
8S .60 TO EXI1

,ERROR' RERDY FRILED Y0 CLERR
o + .RESET STRCK PTR

. SCOPE

SeQ@ 0027




MRINDEC-11-DZDMR-C  DM11 LOGIC TESTS
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020MAC P11

OQusu 2
Q04550
004554
004560
004566
0gus572
004576
004600
004606
ooue12
OOubtly
00ue22
Q04624
004630
OQ0u4n3Z
OO4o 34
004636
cOveu0
04642
o044y
004652
004660
o0466M4
004666
ooN67M
oo0k6e’6
004700
004706
oo4710
004716
004722
004724
004726

012°3°
006037
005037
012737
012637
oous537
12727227
052777
008777
100375
042777
005046
10677

100404
N3521v
001373
104001
000550
D05726
012777
052777
005037
000240
012737
104001
000531
012737
022626
oN2777
108777
106002
104001
000515

1--:---;-

ANy 3Np
AN1310
000340
Otedil
005754

000001
17u436

100000

17uL 20

004700
000100
177776

Co03u0

000340

000300
174326

Nlebpk

177"

174482

174426

174406
174370

177770

174332

3

C
MACY11 35(1046) 30-NOV-77 09 34 PRGE 17

+RECEIVER LINE TESTS

. THE RECEIVER LINE TEST SUBROUTINE |S ENTERED WITH
LA JSP 5, RCVTST INSTRUCTION FOLLOWED BY THE

+LINE BIT AND L INE NUMBER OF THE LINE TO BE
.TESTED  THE SUBROUTINE PERFORMS THE FOLLOWING

- TEST AS SHOKN BELOW
. THE REMRINING TESTS ARE RBORTED
. TEST SEQUENCE AND RCDRESS TRG

IN THE EVENT OF RN ERROR

CHARACTER DONE SETS RTSTA
CHARACTER DONE CRAUSES INTERRUPT RTSTB
CHARACTER DONE (RN BE CLEARED RTSTC
TUMBLE TABLE ENTRY 1S CORRECT RTSTD
NO ENTRY IN NEXT TRBLE ADDRECS RTSTE
HARDWARE TABLE POINTER !NCREMENTED RTSTF
NEXT ENTRY WAS CORRECT RTSTG

.NOTES IF THE HARCHWARE PROVIDES AN INCORRECT VECTOR
. ADDRESS THE PROGRAM WILL HALT AND DISPLAY
THE 'NCORRECT VECTOR+Z IN THE RDDRESS LIGHTS
PCUTST MOV §-1, 0UTBUF ,LORD RLL 1°'S INTQO QUTPUT BUFFER
CLR TUNMTAB .CLERR THE F IRST
CLP TUMTRB+2 THO TUMBLE TABLE RDDPESSES
MQOu #PPTY?7, 0%PSH ,LOCK OUT INTERRUPTS
MOV (5)+,LINE ,GET L INE NUMBER
JSP 5. 28¥MITD .TRANSMIT 1 CHRRACTER 10°'Sy
-1 .ON LINE SPECIFIED BY JSR
B1S #8170, 9CSP ,SET GO BIT
TST JCSK ,HRAIT FOR TRANSMITTER
BPL -4 TO TRANSMIT { CHAR
BIC 281716, oCSF .CLERR TRANSMITTER RERCY FLARG
CLP -(SP) .SET WATCH DOG TIMER
1§ TST8 oCSR . TEST CHRAR DONE FLRG
BM) 2% .BRANCH If SET
INC (SF .WRIT FOP THE FLARG
BNE 1$
ERROR ,ERROP' C(HRR DONE FLAG FRILED TO SET
BR 8% .G0 TO EXIT
ze TST (SP+ .RESTORE STR(K PTR
MOV #$39, 9CLKINT ,LORD RECEIVEP INTERRUPT VEC ROPS
BIS #B1Te (SR .SET RECEIVER IE BIT
CLR o8PSU ,ENRBLE INTERRUPTS
HOP
MOV $PRTY?.PSU LOCK QUT INTERPUPTS
ERROR ,RECEIVER FRILED YO INTERRUPT
BR 8¢ .00 TO EXIT
2% MOV SPRTY7, 9¥PSH LLOCK OUT INTERRUPTS
cMP (6)+, (6)+
BIC $B177+B176. oCSP  CLEAR CHAR DNONE FLAG
TSTB oL SR ,TEST THART (HAR DONE FLAG CLERPED
BPL L9 .BPANCH IF CHAR DONE FLAG CLERRED
EPPOR ,ERPOR' CHAP DONE FRV'LEC T CLERP
BR 8¢ GO TO E«IT

SEG 0028




"ME NTET-11-D2DMR-C

P11

0os730
004736
004744
004?752
004760
004766
0C4?77y

005002
005004
005006
005010
Q0501w
005022
N05024
J05030
005032
005034
005040
005042
005046
005050
005054
005056
005064
005072
00507y
005100
005102
005104
005112
005120
005126
005134
005142
005150

u05156
0nS1e0
0051tel

005164
005172
005176
005202
005204
005212
005216

013737
042737
012737
043737
163737
052737
023737

001402
104C11
000465
00037
013737
001404
005037
104011
000u53
004537
177727
005?77
100375
105777
100375
Quz?27
013737
001404
005037
104011
000M8 27
013737
042737
012737
043737
1637237
052737
023737

NO1401
104011
104006

012777
011677
105777
100375
ouz??7?
105777
100375

001306
020000
000377
001300
016412
100000
001274

001306
001310

001270

005754
174202
174174

000200
001306

001276

001310
020000
000377
001300
016412
100000
001274

000001
174056
174046

000200
174022

On11 LOGIC TESTS
22-NQv-?77 17 &7

001274
00127y
001276
001276
001277
001276
001276

nN01274

174164
NO1Z7W

001274
NC127y
001276
001276
001277
N0127é
N0127é6

17406

174l

MACY11 3C(1046)

D 3
30-NQV-77 09 34 PARGE 17-1

4§ MOV TUMTAB, RCYDAT  ,GET TUMBLE TRBLE ENTRY
B1C #BIT13.RCYDAT . CLEAR PARITY INDICATOR
Hov %377, XHTDRT ,LORD XMTDRT WITH TRANSMITTED DATA
BiC CARMSK, XMTORT  , CLEAR NON TRANSMITTED BITS
BISH LINE, XMTDRT +1 .LORD XMTDAT WITH PROPER LINE #
BIS #B1T16, XNTOAT  ,SET VALID DATA ENTRY BIT IN XHMTDART
CHP RCUDAT, ¥4TDRT  , COMPRARE TUMBLE TRBLE ENTRY (RCVDAT) &
, CCRRECT RESULT (XMTDRT)
BEG 6¢
EFRCRI »ERRQOR  INCORRECT TUMBLE TRBLE
Be &% LENTRY, GO TO EXIT
5% (LR TUMTRB
MOV TUMTAB+2, RCYDAT , GET NEXT ENTRY
BEQ 6% ,BRANCH IF ALL 0'S
CLR XMTORT
ERRORI ,ERROR' FALSE ENTRY IN NEXT
BP 8% . TUMBLE TRBLE RDDRESS
0% JSR 5.98XMITD » TRANSMIT 1 CHRRACTER (ALL 1 S)
-1 .ON LINE SPECIFIED BY JSR
TST Y -HWRIT FOR TRANSHITTER
BPL -4 .RERDY FLRG
TeT8 o( SR . TEST FOP THE DONE FLRG
BPL -4
BIC #8.77 oCSR .CLERR CHRR DONE fLRG
MOy TUMTARB. PCYCAT |, TEST THAT HARDWRRE TUMBLE
BEQ 7% . TABLE POINTER !NCREMENTED (+2)
(LR XMTDART
ERRORY .ERROR' TUMBLE TRBLE POINTER DID
BR 8% .NOT INCREMENT, GO TO EXIT
) MCV TUMTAB+Z2, RCVDAT . GET TUMBLE TABLE ENTRY
BiC #B1T13,PCYDAT  , CLEAR PARITY INDICATOR
MOV #377. XMTDAT . LORD XMTDAT WITH TRANSMITYED DATA
BIC CARMSK, XMTDRT  , CLEAR NON-TRANSMITTED BITS
B1SB LINE, XMTDRT+1 ,LORD LINE & INTO XMTDRT
e1s #81T16 ¥MTORAT . SET VAL ID DATA ENTRY BIT INTO XMTDART
CMP RCYDAT. XxMTOAT . COMPARE TUMBLE TRBLE ENTRY (RCVDRT) &
-CORRECT RESULT {(XMTDRT)
BEQ £9
EPRCR1 EPROP' 2ZND TUMBLE TRBLE ENTRY
39 SCOPE WRS INCORRECT, SCOPE
SJBROUTINE TO TESY BREAK OPEPRTION
THE TRANSMITTER WILL TRANSMIT THE BRERK FOR THO CHARRCTER
.TIMES AND THEN THE FOLLOHING YESTS WILL BE PERFOPMED
R VALID DATA ENTRY WRS MADE BKTSTE
BREAK BIT SET BKTSTC
, DATA WRS ALL 0°S BrTSTC
ERFTST MOV %1, 9CSR .SET THE GO BIT
MOV 15). BKCSK .SET THE BREAK BIT
TST8 (SR +HRIT FOR THE RECEIVEF TOQ
BP. -4 RECEIVE BRERK
61C RB1T7, QCEP -CLERAR FLRAG
TSTB oCSR HRIT FOR THE RECE YEP T°
BPL -y LTO PEZEIVE BRERK

SEQ 0029




MR NCEC-11-D20RA-C

T20MAs

P11

005220
005226
005232
005236
005240
005242
005244
005252
005254
005256
005260
005264
005266
005272
005300
Q05304
-05206

005310
005314
005320
005324
005326
005330
005332
005340
005344
005352
005356
005360
005366
005372
005374
006376
005400
005402
005410
005414
005416
005422
005430
0054 32
0064 34
0054 36
005440
005446
005450
005452
005454
005462
0o546M
005472

22-NOV-77 17 57

Q42777
005077
005737
100402
104001
0004 21
032737
0C1002
104001
000413
105737
001410
00E03?7
113737
005637
104011
104006

012537
005037
004537
017657
016564
000100
012737
005037
012777
004537
127700
013737
013704
104400
000000
005304
001374
062737
006337
103356
012734
013737
104400
000000
005304
001374
0172737
001402
104011
000413
022777
001407
012737
017737

000200
174022
001306

Qw0000

001306

001274
001306
001276

001604
N0127®
00s7>2

000001
016412
000001
N05754

oo4074
001604

000002
001272

000100
oou0?y

173000

100201

100201
173562

DM11 LOGIC TESTS

174022

001306

no1274

noto™o
173670

005374

D1e412

nosu 32

001274

173500

nnN1c’é
nn1274

MACY11 30(10u46)

B C
CLR

1% TST
em
ERROR
BR

2% BIT
BNE
ERROR
BR

39 TSTS
BEQ
CLR
MOvB
CLR
ERROR1

4% SCCPE

. SUBROUTINE TO TRANSM!IT & RECEIVE ON ALL LINES THE DELAY BETWEEN

, TRANSMITTING ON A LINE 1S SUPPLIED BY THE CALLING JSR INSTRUCTION
,NOTE NO DATR (HECK!NG IS PERFORMED BY THIS TEST

»GET CHRARACTER DELARY COUNT

-LORD OUTPUT BUFFER WITH DRTA
.TO BE TRANSMITTED

DLYXMT MOV
CLR
JSR
MSG1
QUTBUF
o4
MOV
CLR
19 MOV
) JEP
-pl4
MOV
MOV
3% PELAY
4s 0
NEC
BNE
ADD
ASL
BCC
MOV
MOV
68 DELAY
s 0
DEC
BNE
MOV
BEQ
ERROR1
eR
Te (MP
BEG
MOV
MOV

E

J
30-N9QV-77 09 34 PRGE 17-2

#8177, 9CSR
oBXKCSR
TUMTRB

29

4%
RBITI4, TUNTRB
39

4%

TUMTRB

4s

RCVORT
TUMTRB. RCUDAT
XMTDAT

(6514, ORCOUNT
XMTORT
£, BMOVE

#LBITO. o#L NBIT
J#L INE

#8170, CSK

5. 9¥XMITD

JRTINE L. U8
J#COUNT, “4

%4

3%
82.L'NE
LINB!T
o

g64% Y4
TIMEL. 0%

o
5%
@BAR, RCUCRAT
78

8%
#100201. JCSP

8$
#100201, XMTDRY
OCSP. RCVDAT

»CLERR FLAG

. CLEAR BRERK BIT
. TEST FOR VALID DARTA ENTRY

»ERROR' NO VAL ID DATR ENTRY

.60 TO EXIT

, TEST THRT BREAK BIT § SET
. IN TUMBLE TRBLE
,ERROR' BRERK BIT FRILED TO SET

GO TO EXIT

. TEST THAT DATA IS ALL B'S

.GET RECEIVED DRTA
,ERRCR! DATR WRS NOT ALL 'S

- SCOPE

+SET THE GO BIT

» TRANSMIT 64 C(HAR

.ON A LINE

.GET CHRPRCTERP DELRY COUNT

-FORM NEYT LINE NUMBEP

CSHIFT LINE BIT

~BRANTH IF PLL LINES NCT DONE

.GET & TEST BRR DHTR

+EXIT 1IF DONE

.ERROR' BRAR SHOULD'VE BEEN CLERP
, TEST THRT ONLY DONE.GO & RERCY BITS RPE SET

GET CSF CONTENTS

SEQ 0030
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C2iMRC P11

005500
005502
005504

NNSEC06
005512
005516
005524
005526
005534
005642
0055u4
005550
00c552
CO5554
305556
205560

005562
005570
005574
005576
005600
005602
005604
005606
005610

005612
005620
005624
005630
005612
005636
0564 Y
005652
005656
005660

005662
005664
005666
605670
005672
005674
005676
005702
005706
005710
005714
005716
005720

104011
005726
104006

Giiel?
062716
017737
001413
012737
162737
001404
00c33?
001375
000765
000002
000000
000000

212737
00us3?
005604
005605
000005
Q00207
000000
000000
000000

013737
005137
005137
001002
00%237
ouz2r3?
0.3737
013701
000240
000207

104007
013504
012501
012502
060201
010403
042703
062703
110341
042704
006304
006004
00eCOu

005556
000002
000034

000050
0cooot

005560

1 ?’-qﬁ

00&=>2

005606
005610
005604

00Se10
177400
005610
005610

1722770
0000en

0000C~

005556

005560
005556

IMeel«

00510

nNose10
NCSe06

F 3
MACY11 30(1046) 30-NOVY-77 (09 34 PAGE 17-3
ERROR1 , INCORRECT CSR COMTENTS
8% POPSP ,RESET THE STRCK
SCOPE . SCOPE
,SUBROUTINE TO DELRY R SPECIFIED NUMBER OF MILLISECONDS
DLY MOV (6).,3% ,GET DELRY COUNT RDODRESS
RDD £2.(6) ,SET UP EXIT RADDRESS
MOV 93%. 3% ,GET DELRY COUNT
BEQ 29 JEXIT IF NO DELRY
19 MOV #50. 498
SuB #1.3%
BEQ 2%
DEC 4s
BNE -4
BR 19
29 PT JEXIT
3% CPEN .CONTRINS DELAY COUNT
us OPEN ,CONTAINS DELAY ROUTINE CONSTANT
SUBROUTINE TO INITIAL!2E BINARY COUNT PRTTERNS
INB N MO #-1.RIND ,SET ALL VARRIRBLES
JSP %5.BHQVE .TO MINDS 1
RIND
RIND+1
5
RTS %z £y T
P ND OPEN
PTO QPEM
PT1 OPEN
SPECIRL BINRF:1 COUNMT PRATTEPN SUBPQUT NE E~iT: WITH BIN CHRP IN R}
GTBIN MOV PTC PTH FFE' QUS BIN HRP TC PT]
COM PT1
COM RiND
BNE +b
INC PTY
BiC $177400 P71 .MRSK TOO 8 BITS
MQV PT1.PTQ .SRAYE BIN CHRP 1 FTD
MOV PTY. 1 . BIN CARF To. P
NOP
RTS %7 ET
OCTAL TO ARSCH! CONVEPT PQUTINE
JRUNY SAVREG ,SAVE PEGISTEPS ON THE CTYGACK
MOV dih)e. Ny .GET OCTARL VRALUE
MQV 51+, %1 .GET DESTINATION RADDR
MOV (2)+.%2 GET CONVERT COUNT
RDD %2, %1 .DEVELOP RADOR TO STORE 15T CHAP
QRCNVR MOV %M, %3
BIC 8177770 °.3 , ISOLATE LEAST SIGNIFICANT CG' Y
RADD $60. %3 , CONVERT DIGIT TO RSCHI
MOVB %“3.-01) .STORE RSCIt CHARACTER
BiIC O
ROR w4
RQP 4
POR "4

SEQ 0031
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Toinal P1Y 22-NOV-77 17 57 SEQ 0032

0056722 005302 OEC %2 ,DONE RLL DIGITS?
005724 001363 BNE ORCNVA ,BRANCH IF NOT DONE
3005726 104010 PSTREG ,RESTORE THE REGISTERS
Q005730 009205 RTS %5 ,DONE  EXIT

, SUBROUTINE TO MOVE R VAR IABLE NUMBER OF BYTES
605732 104007 8MOVE  SRVREG . SRVE REGS
005234 0126501 MOV (5)+. %1 , GET"FROM"ADDRESS
005”36 012502 MOV (5)+,%2 . GET"TO"RDORESS
005740 012563 nov (6)+. %3 » GET COUNT
0057%2 112122 i% nove (1)¢, (214 .MOVE BYTE
005"w&4 005303 DEC %3 . DECREMENT COUNT
DOE~we6 001375 BNE 19 .BRANCH IF NOT DONE
305750 104010 RSTREG .RESTORE REGS
TTETEZ 000205 PTS %5 .DONE EXIT

.SUBRCUTINE TQ TPRANSMIT DATR  SUBROUTINE CALLED BY

JSR 5, XMITD

058788 010086 MITD MOV %0.-(SP) »SAVE RO ON THE STACK
0057%e 013700 Olewt. MoV O%L INE. %0 +GET LINE
00576l COs~37 006550 JSR 7 o%GTL INB +FORM LINE BIT (FOR BRR)
005766 012777 001106 17 lel MOV #CAT, 9BASREG . INITIALI2E BASE REGISTER
005°?¢ 012700 016564 NC1l1Ce nov $OUTBUF.{AT(OY .LOAD FIRST CHAR RDDRESS !N (AT
00000_ 012560 OCiive MoV (514, HCT(Q) .GET WORD COUNT
006006 0&627°7 N0IZ°2 17217e 81S SSLINBIT. gBRR .LOAD LINE POSITION INTO BRR
006014 012000 MCVv (SPr+, %0 .PESTORE PO
006016 00C205 RPTS 5 EXIT

FCUTINE TO TEST R LINE
THE LINE TO BE TESTED 1S PROVIDED BY THE JSP CALL TO THE PCUTINE
.100 CHARRCTERS ARE TRANSMITTED, RECEIVED AND CHECKED BY THIS POUTINE

006020 012537 O0Ote41l DRTTST MOV (6)+, 98L INE .GET LINE NUMBER

00602¢ 0127237 000144 0ON1edw [RTIRR MOV £100 . COUNT GET CHRARPRCTER COQUNT

006032 012702 ClebSew MOV #QUTBUF. %2 ,GET ADDRESS OF OQUTPUT BUFFEP
006036 004?3? 005e61_ 19 JSP . o98GTBIN GET DRTA

o002 110122 MCVB %“1.(21+ LQRD QUTPUT BUFFEP WITH DRTA
006044 005337 0016e0u DEC  OUNT .GOT ALL DATA?

006050 021372 BENE 18

uv06052 012701 001306 MoV S$TUNTRB "1 ,LORD TUNBLE TRBLE FOINTEP
000056 005037 001300 CLR TUMTAB

006062 004537 005732 JSR 5. BMOLE CLERR

O0w066 001306 TUMTRB . TUMBLE

J00070 0013907 TUMTAB +1 . TRBLE

006072 000177 i , 6% WORDS

006074 012702 016730 MOV 8 INBUF . .2 .SETUP INPUT BUFFEP P INTEP
006100 052777 003001 1721sC BiIS #8. 70, 9SSk ,SET THE GO B T

006106 004537 CO5°5u JSP 5. 38XMITD TRANSMIT

006112 177634 -100 ., 100 CHARRACTERS

00e1t4 032777 160000 173120 °% BIT #BIT16+BITIU+BIT13, QCSR. TEST |IF RERD: NP RANY EPPOP
006122 001004 BNE 39 ,FLAGS RRE SET

006124 1068777 173120 TSTB oCSR ,HRIT FOP THE RECE'EP

006130 100371 BPL 2% .TO RECEIVE R CHRPR(CTER
006132 000415 BR 1)

00613% 032777 0Do0000 1721Ce > BIT SBITIUSB!ITYIZ QCEP. TEST FOR EPPUP FLRAGS

00142 001403 BEuU 4s BRANCH NC ERPIP

O0p14u 108001 EPPCP




MAB NLET-11-020MR-C DM11 LOG!IC TESTS

T20MRC P 1Y

0061iub
006152
006160
00616M
006166
00617%
006176
006200
006202

00e0W
000210
Q00212
CCeolb
M 220

CCello
CO0ec32
000_-40
006246
006250
006256
006264

006266
006270
006274
006276
006302
006304
006306
006312
006316
006320
006322
V06324
00e32e
000332
J06336
006342
006346
006352
006356
006362
006364
006370
006376
006402

006404
006410
0oeu1Z

000137
oN2777
106777
100375
ouzr??
005711
100401
1C4 001
111122

012705
000261
032711
001001
000241
004537

N1113?
Qul73”
12373
001410
0127°3"
012737
104011

0004?77
0201.7
001002
012701
005721
010046
013700
005760
001402
012600
030674
012600
012701
012702
012705
004537
005037
005037
020127
001441
112137
043737
111237
104002

012703
005000
106037

22-NOy-?77 17 &7

006466
100000
173064

000200

oocoo!
020000

004”2

001270
1e07°7
Olevtl

Dilovi1l
nC1270

001504
001.0u

o1ent1.
0011vo

016564
016730
000014
006N?72
00124
001276
N1e?27

N01276

001200
001274

000010
No12"u

173070

173054

001279
00121

NN1Z76
NO1C7w

N0127®

H 3

MACY11 30(1046) 30-NIV-77 09 34 PRGE 17-5
JHP 15% . G0 EXIT
49 B!IC %B1T165, 9CSR .CLERAR TRANSMITTER REARDY FLAG
;ETB oCSR » TEST FOR CHRRARCTER RERDY
L -4
5% g|$ ®BI1T7, aCSK . CLERR CHRR DONE BT
3 (1)
BM1 +4 . TEST FOR VALID ENTRY
ERROR .REPORT INVALID ENTPY
Move (1), 2+ ,MOJE CHAR FROM TUM TAB TO INPUT BUFFEP
,ROUTINE TO STOPE RECE!'VED PRRITY BIT iN PRARITY BIT BUFFER
MoV %#1.%5 .GET ROTATE COUNT
SEC . SET THE CARRY BIT
B 7 #$BIT13, (1 . TEST RECEIVED PARITY 8 T
BNE 69 .BRANCH IF RECEIVED PRRITY HARS OOC
(LC .CLEFRR CARRY BIT
6% JSF 5. RORPARBUF ROTATE RECEIVED PRRITY INTC PRP Tr BJUFFER
PCUTINE TO TEST THAT ENTRy 1S FOR THE CORRECT L INE
Mo (1), 9#TTDAT .GET TRBLE ENTRY
BIC #100777. TTORT . CLEARR ALL BUT L INE NUHBEF
CMPB LINE, TTDRT+1 . COMPRRE L INE NUMBEPS
BEG °S
MoV LiNE, XMTDAT .GET CORRECT LINE & 1 %X2)
MCv TTLAT ROVDART GET LINE & (X2) THART FALSE DATR CRME N ON
ERPOP EPROR!' DRTA CAME N ON A LINE THRT
PROGRAM WRS NCT TRANSM TT NG I
BF 159 CEXIT TEST
) _MF 1 $TUMTRB+1"¢ IS POINTER RT THE ENC
BNE £s OF THE TRBLE
MCy #TUMTRB-C "1
£s TSY 11+ NCPEMENT POINTER
MOV “0 -re! SAVE REGISTER CZERC
MoV LINE %0 LFETCH LINE NUMBER
TSY WCT(Q HAS THE LAST (HARACTEP BEEN TPANSMITTED
BE1 +5 . LAST CHARACTER HAS BEEN TPANSMITTED
M rer¢ %0 PESTOPE REGISTER ZERO
BR 2% G0 WRIT FOR NEXT CHAPACTEP
MCy ter+. %0 RESTCRL REGI!STEF ZERO
s MOy §OUTBLF . 1
Hov ® INBUF, "2
MoV #12 . %5 FOTRTE PRPIT¢ BUFFLEP
JSP 5 RORPARBUF 1. PLACEL PIGHT
1Cs e RCYDATY
CLP XHTPAY
CMP %1. 8OUTBUF +99 HAWE ALL CHARARS BEEN COMPRPEL
BEG 15% .
MOUB 1)+, YHTDRT .GET TRANSM!TTED CHARACTEP
BIC CARMSK, XMTDART . CLERR NON-TRANSMITTED BITS
MoVB 12). RCULAT »GET RECEIVED CHRRACTEP
DAT(CHK .COMPARE TRANS A RCHD (CHAP™
PCUTINE TO COMPUTE AND CHEuk PRPITY ON RECEIVED DRTR
118 Mou ¢8 .0 GET BIT COUNTEP
cLe %0 CLEAP (OMPUTED PRRP!I Ty il &7
1.9 PCPB RCWLRT Loor 3T RECENVED BT

SEQ 0033




"R H_E_-11-D2DOMR-C

TIimR” P

006416
006420
006422
0064 24
CoeN26

Q06430
00ol4 34
00euN0
00644k
006446
Q06us0
00eu52
0Qoubh
N0c456
"Qelnl
Tokel
Frupl

cebt
Toew0

9004”2
Q0obb4 b
006502
006506
006512
006516
006522
006526
006530
306532

a0e53u
006536
006540
00o5u42
00e5uN
J06esu6
C0ot50

¢0ob852
O0b554
‘00560
006564
006566
006572
006576
00e600
00vbo02

103001
005100
005303
001372
000240

112237
012705
0Qus3?
103004
005700
001336
104001
0007 4
005700
001732
104001
000~ 30
005726
104096

00e0:°
00v0Z:”
006037
00037
00603
00603?
006037
005316
001360
0002GC5

000000
000000
00U000
000000
030000
000000
000000

010046
005037
013700
000261
006137
162700
100373
012000
000207

M1 LOG'C TESTS
22-Nuy-77 17 5?7

001274
000001
00e4?2

N0pbCu
00657
00e540
00eSu 2
O0eSuu
Q0bbue
00eESC

00127
Qlodl .

001272
00000C

3
MRCY11 30(104e) 30-NOV-727 (09 34 PRGE 17-6

BCC 139 .BRANCH IF R O
COn %0 . COMPLEMENT RO IF A 1

13% OEC %3 ,DECREMENT BIT COUNTER
BNE 12% ,LOOK AT NEXT BIT IF NOT DONE
NOP , IF COMPUTED PRRI*Y WRS ODD RO WILL
.CONTRIN ALL 1°S, |F EVEN RO = O
MOVB (2)+, RCVDAT ,GET RECEIVED CHRARRCTER
MoV %1, %5 ,RCTATE PARITY BUFFER 1 PLACE
JSR 5. RORPARBUF ,RIGHT LERVING RECEIVED PRRITY BIT IN CRPRY
BCC 14§ .BRQN(H If RECEIVED PARITY WAS EVEN
TST %0 . TEST FOR COMPUTED ODD PRRITY
ENE 10% .BRRNCH IF COMPUTED & RECEIVED KRS 00D
ERROR .,ERROR' COMPUTED =EVEN.RECEIVED = ODO
B8R 10% . CONTINUE TEST

14¢ TET .0 . TEST FOR EVEN COMPUTED PRP TY
BEQ 1C% .BRANCH |IF COMPUTED PAR!ITY WRS EJEN
ERROR .ERRQR' COMPUTED =0DD.RECEIVED = EVEN
BR 1C% CONTINUE TEST

159 POPSP .REPOSITION STACK PO NTEP
SCOPE . SCOPE

ROUTINE TO ROTRTE PRR.Tr B_FFEF
FIPFARBUF ROR PARC

ROR PRR}
PCR PAKZ
POP FRAR 2
PP FAPY
POR PARRS
FOP PaPe
U 't <P CECPEMENT PCTATE COUNT
BNE FORFRFE F
PTS ) N
FRPITr BUFFEF
PRPQ OPEN
FRP1 OPEN
PRARZ OPEN

PAR3 OPEN
PAPY OPEN

FARS OPEN
PARE OPEN
SUBROUTINE TQ FOPM L NE B!T PCSITION WITH THE L NE & 'H L'HE
GTLINB MQU *0.-vIf SAYE RQ ON THE TR s
cLe OSL INBIT .CLEAR LI!NE B'T
MO 3L INE "0 .GET LINE
SEC SET CAPRY
19 POL LINBIT SHIFT LINE BT
SuB 82 '.C . .SUBTRACT 2 FPOM L INE MUMBEP
BPL 1§ .BRANCH IF QPERTEF THAN [
MOy 1 SPe  ( .RPESTORE RO
A - CEXIT SUBPOUT IME

SEQ 0034
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PAGE 18

1 22-NQy-77 7 8?7 SEQ 0035
00604 104000 PRGO TYPE
Q06606 017527 PRGOM
006610 012737 00eb4% 001506 MOV #RT0, KSTART ,GET RDORESS OF FIRST TEST
00eel6 005037 001512 CLR RTNNO . CLERR ROUTINE #
006622 000137 002254 JMP SRSET
006626 012737 006644 001506 PRGOR MOV #RTO, KSTRART ,GET RDDRESS OF FIRST TEST
006634 0CS037 001512 CLR RTNNO ,CLEAR ROUTINE NUMBER
006640 00013 002206 JHP GETRDY ,GO AND START PROGKAM
B S R PR R0t d Rttt PRttt ittt ettt ittt iRttt oRateResepRy
00eb4% 000000 PTQ 0 .ROUTINE &% O b ¢
C0eek46 006706 P71 ., RODk OF NEXT ROUTINE
00ce50 O00C144& 100 . ITERATION COUNT ¥
J0oeb2 006654 RTOR , SCOPE ENTRY POINT ¢
o00oooce Xz¥41
LR AN R N R N AR A RN AR XXX AR E A SRR XN LI XA TN XX
.TEST RBILITY TO REFERENCE CSF W THOUT TRAPPING
2leobS% D12737 006t’e 0207004 PTOR MOV #1S, oRERPRVEC ,SET UP ERROR TRARP
00vbbs 005777 172362 TST dC SR ,REFERENCE (SR
006666 (12737 000000 000009 MOV SEPRVEC+2, 9RERRVEC ,RESET TIME OUT TPAP
00v6™% 104008 SCOPE
006676 162710 0N0C00QW 1% Sus 4 (p) .RESTORE PC TO WHERE THE ILLEGRL
,REFERENCE OCCURED
006702 10%00! EPROR .ERROR ILLEGAL REFERENCE OQCC JRED
006704 000002 PTi .LOOP ILLEGAL REFERENCE INSTRJCT CN
tlttltttttt!ttt!ttttt)t:x!ttt!tl!!!X!!!!t!!X!t!t!!t!t!!!!!!tAxlitt!ttttt
006706 000001 PTH 1 ,ROUTINE & 1
006710- 00b?e0 RT2 ,RDOR OF NEXT POUTINE
006712 00014y 100 . ITERATION COUNT X
006714 006716 RT1A , SCOPE ENTRY POINT 1
0000061 Xz X+41
TSP et Rttt Rt Rttt ettt Rttt VAR aC iR ot tatntote
. TEST THRT CSR BITO CAN BE SET AND CLERRED
006716 012777 00000} l’ 324 RTIA MOV #B170. ACSP ,SET BITD
00672¢ 022777 000001 316 CMP 8B170, 9CSP .TEST THAT BITO IS SET
006732 001402 BEQ 19 ,BRANCH IF SET
006734 104001 EFPROR ,CSR BITO FARILED TO SET
006”36 000807 BR 29 .OR AN ADDITIONRL BIT ALSO SET
006”40 082777 00000% 172302 1§ BIC #B1!70. oCSR .CLERR BITO
p0e~46 005777 1172276 TST QCSP . TEST THAT BITQ 1S CLEARR
0067562 001401 BEQ 29
006754 104001 ERROP ,CSP BITO FRILED TO CLERFP
006756 104000 . SCOPE
ttttttttt!tltttttttttttt!ttt!t!llt!t!!ttt!t#tttt!t!tlttttttttttx:xtttttt
006760 000002 FT2 .ROUTINE & 2
006762 007032 RT3 .ADDR OF NEXT ROUTINE ) §
006764 000144 100 ,lTERRTION COUNT . X
006766 006770 RT2R , SCOPE ENTRY POINT X
000002 X=X+1
3200000880002 0280 sttt et et st ottt tsedsse:
TEST THART (SR BIT1 CAN BE SET AND CLERRED
006770 012?77 00000- !°_25_ RTZA MO #B1IT1, QCSR LSET BITY
00677 022777 000062 1724w (W [ #B1T1. QCSR "TEST THAT BITY1 < ZET
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£2{MAac P11y

007004
007C06
007010
007012
007020
007024
007026
007030

007032
00703u
00"036
00~0u40

207042
nNCT0s0
007056
007060
007062
007064
007072
007076
007100
007102

007104
007106
107110
00”112

007114
007122
v07130
007132
007134
007136
007144
007150
007152
007154

007156
007160
067162
007164

00T 1we

001402
104001
000407
Q42777
Q05777
001401
104001
1C4006

000002
00710y
000144

007042 -

000GC3

0127727
Q22777
001402
104001
000407
Quo’ev
005?°"
001401
104001
104000

000004
007156
000144
00711y
000004

012777
022777
001402
104001
000407
Qw2777
005777
001401
104001
104006

000005
007230
000144
007166
00000%

) PO

000002
172224

N0000Y
000COou

00000k

172182

000020
00000

000020
172100

AT

172230

172230

1°21°2

17215

172126
172120

1721724

172054

K 3
MARCY11 3001046) 30-NJV-77 09 34 PRAGE 18-1

BEQ 19 ,BRANCH IF SET
ERROR .CSR BITY FRAILED TO SET
BR 2% ,OR AN RDODITIONARL B!T ALSO SET
19 BiIC #8171, 9CSR ,CLEAR BIT1
TST o(SR ,TEST THRT BIT1 IS CLERR
BEQ 2%
ERROR ,CSR B T1 FRILED TO CLERR
29 SCOPE
B S $ 0800030080008 00 003080000800 00 3003080000003 00000030002 0008¢00 0200004
RT3 3 LROUTINE # 3 X
RTY ,RDDR OF NEXT ROUT!NE b ¢
100 , ITERKATION COUNT  {
RT3A , SCOPE ENTRY POINT
XzsX+1

I S 080 0220000000330 0000000000000 00000000000030 2320220002000 00002200¢00002 1
, TEST THAT (SR BIT2 CAN BE SET RAND CLEARED

RT2R MOV #BI1T2. oCSR ,SET BIT2
CMP #8172, aCSP , TEST THAT BIT2 IS SET
BEQ 19 ,BRANCH IF SET
ERPOR ,CSR BIT2 FRAILED TQ SET
BR 29 ,OR AN RDDITIONRL B8IT ALSO SET

16 BiC #B1T2, aCSP .CLERR BIT2
TST JCSR ,TEST THAT BIT2 1S CLERR
BEQ 2%
ERROR ,CSR BIT2 FRILED TO CLEAR

28 SCOPE

3008838083288 0 03000800802 8008008300200 ¢03¢0 0000330003300 00003 8080000804

RTY 4 1 . ,ROUTINE &% W4 |
RTS ’ .. ., ADDR OF NEXT POUTINE X
100 , ITERARTION COUNT X
RT4A , SCOPE ENTRY POINT X
X=X +1

B T PSS RS TRl iRttt et ettt tiotooiensioses]
,TEST THAT (SR B1T4 CAN BE SET AND CLERRED

RT4A MOV #8174, 9CSP ,SET BITY
CHP #BITY. QCSK ,TEST THAT BIT4 1S SET
BEQ 19 .BRANCH F SET
ERROR .CSR BITY FRILED TU SET
BR 2% ,OR AN ADDITIONAL BIT RALSC SET
18 BIC #B1T4, QCSP ,CLERR BITY
TST o(SP , TEST THAT B!T4 IS CLERP
BEQ s
ERROR .CSR BITY FRILED TO CLERF
=8 SCOPE
ettt T e R R ottt P et et vioRo s s Rate sistess
P75 5 .ROUTINE % 5 X
RT6 ,ADDR OF NEXT POUT NE X
100 » ATERATION COUNT b ¢
RT5A . SCOPE ENTRY POINT x

XzX+1
SR T et a ettt Pttt ettt sttt ettt o PR RtRaniisises

"TEST THART (SR BITS (AN BE SET RAND CLERRED
PT5AR Il #B1T5. @CSP SET BITS

Sead 0036
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022777 00OC40
001402
104001
000407
Qw2777
005777
001401
1C4001
104006

000006
007302
0CC1uY
007240
000006

007174
007202
007204
007206
007210
007216
007222
007224
007226

007230
0er232
0e?23u
N07226

172046

000040
172026

172032

17220,

Bleplit
GO7246
007254
007256
007260
007262
007270
007274
007276
007300

012777
Q2277

001402
104001
goou0”
Q42777
gasyy?
001401
104001
104006

00nco?
007 354
000144
007312
0Gcaor

000100
000100

17170

007302
007204
007306
007310

0:2777
Q22?777
001402
104001
0o0s07
Ou2777
005777
c01401
104001
104006

060010
007426 ,
000144
007364
000010

010000

C07312 171
010000 171722

007320
007326
007330
007332
007 334
007342
007346
007350
007352

007 354
007 356
007360
007362

010000 :71°Co
171202

MACY11 3001046)

CHP
BEQ
ERROR
BR

19 BIC
TST
BEQ
ERROR

¢ SCOPE

L
30-NJV-77
#8175, 9CSR
1%
2%
#8176, (SR
oCSR
29

3
09 34 PRGE 18-2

,TEST THAT BITS IS SET

»BRANCH IF SET

,CSR BITS FRILED TO SET

,OR AN RODITIONAL BIT ALSO SET
.CLERR BITS

, TEST THAT BIT5 IS CLERR

,CER BITE FRILED TO CLERR

BB 0000230 Rttt TPt ettt o tototeeiseeietinsstetie

RTe b
RT?
100
RTeR
X=Y+1

.ROUTINE & b b ¢
. ADDk OF NEXT RQUT NE X
. ITERATION COUNT X
., SCOPE ENTRY POINT ¢

SRR R R KR KR A K KRNI KRR RS E RSN AN XN RN RIRARNN
.TEST THAT (SP B!T6 (AN BE SET AND CLERRED

RTeR MOV
CMP
BEQ
ERPOR
BR

16 BiC
TST
BEQ
ERROR

- SCOPE

#8176, QCSP
#8176, CSK
16

29

#8176, @LSP
aCSP

2%

. SET BITh
.TEST THAT B Te S SET
.BRANCH IF SET
,CSR BITe FRILED TO SET
.OR AN ADDITIONRL B T ARLSO SET
.CLERR BIT6
TEST THAT BiTe IS CLERR

.CSR BITe FRILED TC CLEAR

CEARRRRARR R RN RN R RN AR A S KKK AR R R XA R AR E K ST AR RARTAANAAXX

PT™ 7
RT10
100

RT?A
X=X+1

,ROUTINE & 7 X
,ADDR OF NEXT ROUTINE X
, ITERATION COUNT x
SCOPE ENTRY POINT "

Y R RS TP RNt i s R R PRttt R it o st iisistiesld

. TEST THAT CSP BI1T12 CAN BE SET RAND C(LERRED

PT7A MQY
cHe
BEQ
ERROR
8F

16 BIC
TST
BEAQ
ERRQK

s SCOPE

#B1T1Z QCSPR
#1712 o SF

1%
%

$RITIZ. oCTF

ILSF
2%

-SET BI1T12

. TEST THRT BiT12 IS SET

BRANCH |F SET

.CSR BIT12 FRILED TO SEY

,OR AN ADDITIONAL BIT ALSO SETY
.CLERP B1T12

. TEST THRT B1T12 1S CLERP

LCSR B1T12 FRILED TO CLERP

 FR RO F R R R PR R PPt ittt et e sasassass

RT1D 10
RT11
100
RT10R
XzxX+1

.ROUTINE &% 10
.ADDR OF NEXT ROUT!INE X
. ITERRTION COUNT t
» SCOPE ENTRY PCINT |

PP RRENRE RN RS R I XN R R R AN AR RN RN RR AN T NI NI R N NN RN IR R bin e

TEST THAT (SR BIT13 CAN BE SET RANC CLZIAPEC

SEQ 0037
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C2tne” Py

007364
007372
CJ?400
007402
007408
007406
0074 1M

012777
0227727
001402
104001
0oou Q7
Q427?27
005777

020000
020000

020000
171030

171656
171650

171634

no3
MACY11 30(1046) 30-NJV-77 09 34 PAGE 18-3

0C1401
104001
104006

000011
00751¢
000144
007436
00011

007420
007422
00742y

007426
007430
007422
0074 3y

12777
005037
104005
017737
001402
104011
000764
012777
005077
017737
001402
104011
000765
104006

000012
007652
030012
007526
000012

030167
001276

171872

0G74 36
00744y
007450
Ca7452
007460
007462
00746M
007466
007474
007500
007506
007510
007512
007514

0G7516
007520
GG?522
07524

0301w
171850

171684 001274

001276
N01276
171510
001276

005037
013777
017737
023737
001405
104011
032777
001361
013701
005337
005077
017737

007526
007532
007540
007546
007554
007556
007560
007566
007570
007574
007600
007604

171514
001274
001274

040000 17131w
001276
00tz?
171450

171444 D01274

SEQ 0038
RT10R MOV #B1T13, 9CSR LSET BIT13
CMP #B1T13, 9CSR . TEST THRT B1T13 1S SET
BEQ 19 .BRANCH IF SET
ERROR ,CSR 8IT13 FRILED TC SET
BR 28 ,OR RN RDDITIONAL B T ALSQO StT
19 B1C #81T713, 9CSKR ,CLEAR BIT13
TST oCSR , TEST THRT BIT13 IS CLERR
BEQ 29
ERROR ,CSR BIT13 FRILED 70 CLERR
29 SCOPE
3 2000000003880 0008800338000 33 0030000003300 0000007000020000030028820 8¢9
RT11 11 ,ROUTINE & 11  §
RT1Z ,RDDR OF NEXT ROUTINE |
100 , ITERATION COUNT X
RT11R , SCOPE ENTRY POINT |
X=X+1

B P S PR bR e PR bR P PPt ittt erottttotteeeiotetods:

,TEST THAT RESET & CLERP INSTRUCTION CLEARR ALL R/W B TS M THE CONTROL

. STATUS REG (CSR)
RTI1A MOV %.0167. 3CSP ,SET ALL R/W BITS N THE (SR
CLR XMTDAT
SRESET . ISSUE RESET
MOV (SR, RCVOAT .GET CSR CONTENTS
BEG 1§ .BRANCH IF RESET CLEAPED AL. B1TS
ERRORY ,ERROR' RESET DID MNOT CLEAP ALL BITS
BR RT11A . LOOP ON ERROR
19 MOV #30167 SCSR ,SET ALL R/W BITS IN CSR
CLR SR ,CLEAR THE CSR
JNov JCSP. ECVDAT ,GET & TEST (SP
BEQ 28 ,GO TG EXIT IF RESULT = 0
ERPOR1 JERROR' CLEAR INST DID nOT CLEAR ALL BITS
BP 1s LOOP EPROR
2$ SCOPE . SCOPE
ERREARE RN RN R RN BRI R AR AR R AR AR KX AR AR XA RN XA XA I AN RAF IR AR RAAX XK
RT1Z 12 ,ROUTINE & 12 X
FT13 ,ADDR OF NEXT ROQUTINE X
10 . ITERATION COUNT 4
RT120A . SLOPE ENTRY POINT 1
X=X+ 1

TR AR AN R AR RN RN AR KRR AR NN AR AR R RS RNARAXNRNXNEL

.TEST THAT A BINARY COUNT CAN BE LOADED INTO ‘A LLERR BKCSP AND THAY
R BINARY COUNT CRN BE CLERRED

PTI1ZR  CLR XMTOAT

18 MOV XMTDAT. gBKCSR  , LOAD BINRRY CQUNT [INTC BKTSF
MOV 9oK(SR.RCYDAT  , GET BKCSR DRTR -
CHP XMTDAT RCYDAT ., COMPRRE DATRy LORDEC 8 DRTR PERD BRCK
BEQ 29 .BRANCH 1§ DRTRA COMPRFES
ERRORI +ERROR' DRTRYOD NIT COMPRPE
BIT §BIT14, 9SWR . SCOPE LOOP?
BNE 14 .BRANCH IF _SCQPE LCCP

=9 MoV XMTDAT, %1 » SAVE B INARYTUQUNT
CLR XHT0AY

39 CLR 9B¥ (SR »CLEAR BKCSR RND TEST
MOV OBK({SR.RCVDART . BKCSR (AN BE CLERPEC

LN
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[2OMAC P11

007612
007614
007616
007624
007626
007632
007640
007642
007646
007650

007652
007654
007656
007660

007662
007660
007674
007700
007704
Q0?7712
007720
007726
Cc07730
007732
007740
007742
007746
007754
007756
0077e0
007762

007764
007766
oo’r?

Q0”772

007774
010002
010006
010010
010016
010020
010022

010024
01002e

001405
104011
032777
001365
010137
023727
001403
0C5237
000731
104006

000013
007764
000144
007662
000013

012702
g177237
Q04737
010037
013777
0172737
023737
001401
104011
032777
001406
005077
013727
000753
005202
001342
104006

030014
010024
000012
007774
000014

012777
005037
104005
017737
001401
104011
10400¢e

000015
01010

040000

001276
001276

001276

010C00
171362
002756
001276
001276
171336
001276

040000

171306
001612

177?277

001276
171240

171256

177727

NGl1e12

171342
00127
001274

171142

171300

171250

No127

N, o
MACY!11 30(1046) 30-NOV-?77-09 3

BEQ
ERROR1
B!T
BNE

4% MOV
CMP
BEQ
INC
BR

5% SCOPE

—"

4$

#BIT14, JSUR
38

%1, XNTDAT
XMTDAT. #-1

u,vnﬁe 18-4

»BRANCH IF BKCSR CLERRED
,ERROR! BKCSR DID NOT CLERR
. SCOPE LOOP?

»BRANCH IF SCOPE LOCP

»GET BINARY COUNT

»ALL NUMBERS BEEN LORDED

, GO TO EXIT

» INCREMENT BINRRY COUNT
,REPERT TEST

. SCOPE

PR 20000200ttt PP oot Rt R ettt st tsdiesend:

RT13 13
RT1Y
100
RT13R
X=X+1

LROUTINE # 13

. AODR OF NEXT ROUTINE
. ITERRTION COUNT

, SCOPE ENTRY POINT

[ IR KK

B 220D 000t P 0000000002020 0000300002002¢022003 002222802000 200¢0009
, TEST THRT RANDOM NUMBERS CAN BE LORDED INTO THE BK(SR

PT13A MOV #10000. %2 .GET RANDOM #COUNTER
18 MOV SBKCSR. PRUCNT ,BET PREVIOUS C(ONTENTS
JSR 7. o8RNGEN ,G0 GET A RANDOM NUMBER
MOV %40, XMTORT .0ET RANDOM NUMBER
ALY MOV XMTORT, dBKCSR ,LORD RANDOM NUMBER INT(O BF(ESP
MCV dBNCSR. RCVYDAT ,GET BKCSR DRTR
CMP XMTDAT. RCYDAT . COMPRRE DRATA
BEQ 3% ,BRANCH |F SAME
ERROR Y ,ERROR!' DATA NOV THE SAME
18 BIT #B1T14, OSUR . SCOPE LOOP?
BEQ s .BRANCH IF NO LOOP ON ERPOPR
CLR dBKCSR ,
MOV PRYCNT. aBr CSR ,LORD PREVINUS CONTENTS
8P 29 ,REPEAT TEST
4s DEC %2
BNE 1% ,BRANCH IF NOT
6% SCOPE . SCOPE
D 228800ttt P ettt ettt ettt tetistniiestttetes]
RT1u4 14 ,ROUTINE # 14 b {
RT15 . ADDR OF NEXT ROUTINE |
10 . ITERATION COUNT X
RT14R , SCOPE ENTRY POINT |
X=X+1

S P00 PPN Pttt Rttt et el et Ronseettbese)

. TEST THRT RESET CLEARS ALL BRERK STRTUS FEGISTEP BITS

RTI4R MOV
(LR

SRESET

MoV

BEQ

ERROR
19 SCOPE

#-1, dBKCSR
XMTDATY

dBRCSR, RCVDAT
1%

D S R0ttt R et Rttt Rt PRIt RRR R R Y

PT15 15
PT1e

-ROUTINE # 15 ¥
ACDP 2F NEYT FCUTINE L

SEQ 0039
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DZOMRC P11

010030
010032

01003y
010040
010046
010054
010062
010064
010066
010074
210076
010102
C10106
010112
016120
010122
C10124
010132
01013y
010140
010146
010160
010154
010156

010160
010162
010164
010166

010170
010174
010202
0102086
J10212
010216
010224
010232
010240
010242
010244
010252
010254
010260
010Z6b
010270
010272
01027u

000012
010034
000015

0C5037
013777
017737
023737
001405
104011
032777
0012361
013701
0050237
006077
017737
001405
104011
0327277
001365
010137
023727
001403
106237
000731
104000

000016
010270
000144
010170
000016

012702
017737
004737
042700
010037
01372727
017737
023737
001401
104011
032777
001406
005077
013777
000753
005302
001340
1040n6

001276
001276
171204
001276

40000

001276
001276
171144
171160

040000

N01c7®
N01276

no12°?

010000
171056
002756
000377
001276
001276
171026
001276

Q40000

170776
001612

171210
001274
001274

171006

001274

170750

17,7000

001612

171032
NC1274
NG127v

B Y
MACY11 30(1046) 30-NOV-77 09 34 PAGE 18-5

10 , ITERARTION COUNT ) ¢
RT16A », SCOPE ENTRY POINT b ¢
X=X+1

PR 200000000000 0000 000000000000 0320000000000 000000 0000022200002 000 002000028

» TEST THRT R BINARY COUNT (AN BE LORDED INTO R CLEAR BRSREG AND THAT
A BINRRY COUNT CAN BE CLERRED

RT16RA (LR XMTDAT
19 MOV XMTDAT, BRSREG . LORD BINARY (OUNT INTO BRSREG
MOV 8BASREG. RCVDAT , GET BRSREG DARTR
CMP XMTDAT, RCVDART , COMPARE DRTR
BEQ 298 ,BRANCH IF DRTA COMPRRES
ERROR1 ,ERROR!' DRATA DID NOT COUMFPARE
BIT #81T14, @SHR . SCOPE LOOP?
BNE i9 ,BRANCH |F SCOPE LOOP
29 MOV XMTDAT, %1 , SAVE BINRRY COUNT
CLR XMTDAT
R{) CLR oBASREG
MOV @B8ASREG. RCYDART
BEQ s ,BRANCH (F BKCSR CLERRED
ERROR1 ,ERROR! BKCSR DID NOT CLERP
BIT #B81T14, OSHR . SCOPE LOOP?
BNE 39 ,BRANCH |If SCOPE LOOP
4e MOV %1 XMTDRT ,GET BINARY COUNT
CMP ¥MTDAT, 8177000 .ALL NUMBERS BEEN LORDED
BEQ 5% .60 TO EXIT
INCB XMTDAT+1 ., INCREMENT BINARY COQUNT
BR 16 ,REPERT TEST
=X SCOPE » SCOPE
PSRNttt 0000ttt Pttt ottt eteiiteeteteteesased)
RT16 16 .ROUTINE # 16 X
RT17 . ADDR OF NEXT ROUTINE X
100 . ITERATION COUNT  {
RT16R » SCOPE ENTRY POINT  {
X=¥4+1

B 0 320 PPttt Rttt et ittt osteloeeetoreeeetiass
; TEST THAT RANDOM NUMBERS CRN BE LORDED INTO THE BRSE REG STER

RT168 MOV %$10000, %2 . GET RANDOM BCOUNTER
19 MOV OBASREG. PRUCNT . GET PREVIOUS CONTENTS
JER 7, JRRNGEN .00 GET R RANDOM NUMBER
BiIC #000377, %0 .CLEAR UNUSED BITS
MOV %0, XMTDAT »GET RANDOM NUMBER
2% MOV XMTDAT, BASREG . LORD RANDOM NUMBEP INTO BASPEG
MOy dBASREG. RCYDAT ,GET BASREG DARTA
CHP XMTORT, RCYDAT ., COMPARE DRTAR
BEQ 33 »BRANCH |F SAME
ERROR1 .ERROR' DRATA NOT THE SANME
39 BIT #B1T14, QSHP » SCOPE LOOP?
BEQ 49 »BRANCH IF NO LOOP ON ERPCP
CLR ¢BRSREG
MoV PRUCNT @BRSREG ,LORD PREVIQUS CONTENTS
BR 2% .REPEART TESY
be DEC %2 . 10000 NUMBERS BEEN TESTED
BNE 1% . BRANCH {F NOT
5% SCOPF . SCOPE

B

SeQ 0040
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pZomMac Py

010276
010300
010302
010304

010306
010312
010320
010324
010326
010330
010332
010334
010326
010340
010342
010344
010346
010352
010356
010360
010362
010366

010370
010372
010374
010376

010400
010404
Q10412
o10u1ty
010422
010424
U10426
010430
010436
010442
010450
010452
010454

C10456
010460
010462
010464

000017
010370
000144
010306
000017

013701
012777
012700
05C011
020011
001006
040011
005711
001011
006300
103370
104006
010037
011137
104011
000771
005037
000771

000020
010456
000012
010400
000020

005037
w2727
104005
017737
001402
104011
000412
Q52777
005077
017737
001401
104011
104006

000021
010564
00014y
01G+606
000021

001252
0C1106
000001

00127
No1c7u

No127e

001276
172727277

170632

177727
170010
1 "NedY

170736

170640
001274

170614
AO1ZTY

¢ o
MACYI1 30(1046) 30-NOV-?7 09 34 PRGE 18-6

RSS20 00000000080ttt 000000003 20000 20000020000 028 008V 00000222000009

RT17 17 ,ROUTINE & 17 |
RT20 ,ADDR OF NEXT ROUTINE ¢
100 ., ITERATION COUNT  {
RT17R »SCOPE ENTRY POINT 4
X=X+1

PR 00020000 00000000000 00020002 000003¢0 0022000002200 00200000¢00002000002%:
» TEST THAT ALL o..R BITS CAN BE IND/JIDURLLY SET AND CLEARED

RT17R MOV BAR, %1 .GET BAR RDDRESS
MOV #CRT, dBHSREG INITIRLIZE BASE REGISTLR
MOV #1.%0 ,GET BIT TESTER

19 B S %0, (1) .SET BAR BIT
CHp %0, (1) , TEST THRT ONLY THE PROPER BRR BIT SET
BNE 3% ,BRANCH IF ERROR
B ( %0. <1 ,CLERR BARR BIT
TST B ., TEST THAT BRAR BiT CLEARED
BNE 5% ,BRANCH IF BAR BIT FAILED TO CLERR
ASL =0 +SHIFT BIT TESTER
BCC 19

8 SCCPE . SCOPE

2% MOV %0, XMTDRT .GET WHRT DATR WAS SUPPOSED TO BE

49 MOV (1), RCYDAT .GET WHAT DATA WARS
ERROR1 ,ERROR! IMPROPER BIT OPERATION
BR 28 . G0 TO SCOPE

5% CLR XMTDRT ,GET WHAT DATRA WRAS SUPPOSED TO BE
BK 4s

8 PRttt R PRI R R 00000 200t e ittt attieittleestotRis

PTZO 20 ,ROUTINE # 20 ¢
PTZ1 .ADDR OF NEXT POQUTINE |
10 . ITERRTION COUNT ) §
RTZ0ORA ., SCOPE ENTRY POINT X
X=X+1

R P P30t Rttt Rt Rt R e ettt es
, TEST THAT RESET CLEAFS ALL BAP BITS

RTZ0R (LR XMTDAT
IS %-1.9BRR .SET ALL BAR B T2
SRESET .RESETY
MoV o#BRR PCVUORT GET BAR DARTR
BEQ 19 .BRANCH 1f ALL 0'S
ERROR1 +ERPOR' RESET DID NCT CLERP ALL BRAP BITS
BR 2% .GO TO EXIT

19 BIS #-1, 9BRAP »,SET ALL BIT IN THE BAR
CLR JBAR ,CLEAR ALL BITS IN THE BRR
MOV oBAR, RCVDAT .GET & TEST RESULT OF CLERR QPEPRTION
BEQ 2% CEXIT IF ALL BITS CLERRED
ERROR1 ~ERROR!' ALL BITS DID NOT CLERP

2¢ SCOPE . SCOPE

R R RS Rttt Rt R R PRttt sttt et R ot ol bl

FT21 Z1 -ROUTINE & 21 3
RTZZ .ADDR OF NEXT POUTINE 3
100 ITERATION COUNT 3
RTZ1RA SCOPE ENTRY POINT '
X=X+1

RS PR R R R R R R R RN RO RN R PO PR SRR RN RRRRRRRRRRR] )

SEG 0041




MA'NOEC-11-DZDMA-C  DH11 LOGIC TESTS
22-NOV-77 17 &7

02OMAC P11

010466
010474
010500
010506
010510
010516
010524
010c26
010530
010536
010542
010544
010552
010560
010562

010564
010560
010570
010572

010874
010602
010606
010614
010616
010624
010632
010634
010636
010644
010650
010052
010060
010666
010670

010072
010674
010676
010700

010702
010710
010714
010722
010724
010732

012777
105077
022777
001410
012737
017737
104011
000415
012777
105077
001407
012737
017737
104011
104006

000022
010672
COO14Y
01057y
000022

012777
105077
022777
Q01410
012737
01?7737
104011
0ogQu15
012777
105077
001407

12737
017237
104011
104006

000023
011000
000144
010702
00GO2Z3

012772
105077
022?77

001410
012737
017737

010100
170550
010000

010100
170526

010100
171052

000100
170472

010100
170444
010000

010:00
170422

010100
170746

000100
170364

010100
170340
010000

010100
170316

170554
170542
001276
001274
170512

N01276
NC1274

170850
170436
NC1276
N01274
170406

0C1276
00127y

170344
170332

001276
NO1274

D &
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. TEST THAT (SR RESPONDS PROPERLY TO BYTE COMMANDS

RT21R MOV #10100. 9CSR ,LORD TEST NUMBER IN (SR
CLRB oCSR ,CLEAR EVEN BYTE
ggz S;OOOU,JCSR ,TEST THARAT ONLY EVEN BYTE CLERRED
1
MOV $10100, XNTORT .LORD CORRECT RESULT
MOV oCSR, RCVDAT .GET ACTURL RESULT
ERPOR1 ,ERROR' EVEN BYTE INSTRUCT ON FRILED
BR 29 ,G0 TO SCOPE
i% MOV #10100, 9CSR ,LORD TEST NUMBER IN (SR
gtgﬂ SSCSR , TEST THRT ONLY ODD BYTE CLERRED
MOV #00100, XMT0AT .LORD CORRECT RESULT
MOV o(CSR. RCVDAT ,LORD ACTUAL RESULT
ERROR1 ,ERRCR! ODD BYTE INSTRUCTION FRILED
29 SCOPE . SCOPE
D 0020000000 Tt PRttt 00ttt 0003700000820 0000¢0030000000008002048
RTZZ 22 ,ROUTINE & 22 b ¢
RT23 ,ADDR OF NEXT ROUT NE X
100 , ITERRTION COUNTY ) ¢
RT2ZR , SCOPE ENTRY POINT ¥
X=X+1

IR0 0200 T R0ttt Pttt ettettttiet et osteeeedt
.TEST THAT BAR RESPONDS PROPERLY TO BYTE COMMANDS

PT2ZA MOV #10100, oBRR .LORD TEST NUMBER IN BRR
CLRB JBAR . CLERR EVEN BYTE
CHP #10000. aBRR . TEST THRT ONLY EVEN BYTE CLERFRED
BEQ 1%
MOV #10100. XMTDAT ., LOAD CORRECT RESULT
MOV dBAR. RCVYDAT -GET ACTUAL RESULT
ERROR1 ERRCOR' EVEN BYTL INSTRUCTION FRILED
BR 2% .6C TO SCOPE
19 MOV #10100. 9BAP .LOAD TEST NUMBER IN BRF
CLRB o9 BAR » TEST THRT ONLY ODD BYTE CLERPED
BEQ 2%
MOV #00100. XMTDAT . LOARD CORRECT RESULT
Hov JCSR. RCVYDAT .LOAD ACTUAL RESULT
ERROR1 »ERROP! NDD BYTE INSTRUCTION FRILED
2% SCOPE » SCOPE
SRRt R R R0 2020 ettt s R Rt i oo s bs o2 bs ]
PTC3 23 +ROUTINE # 23 4
RTZ24 . ADOR OF NEXT ROUTINE X
100 . ITERATION COUNT ¥
RTZ3R . SCOPE ENTRY POINT 3
X=v+1

D RS TR PSR P PR Pt e Pttt totot oot ieeeitiiotieeioeeeiols

. TEST THAT BKCSR RESPONDS PROPERLY TO BYTE COMMANDS
PT 3R MoV $#10100. 98KCSR . LORD TEST NUMBER !N BK(SR

CLRB 9BKCSR ,CLERR EVEN BYTE

CHP 10000, 9BKCSR . TEST THAT ONLY EVEN BrTE CLERRED
BEQ 1§

MOV $10100. XMTDAT ., LORD CORPECT RESULT

MoV dBKCSP.RCVDOAT . GET ATTUAL RESULT

SeQ 0042
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C20HMAC P11

010740
010742
010744
010752
010756
010760
010766
010774
010776

011000
011002
011004
211006

011010
011018
011024
011032
01i026
011040

0110842

011044
011046
011050
011062

011054
011062
011070
011076
011104
011:06
011110
011112
011114
011122
011130
011134
011142
011144
011146

011150

011162
C11154

104011
000415
012777
105077
001407
012737
017737
1C4011
104006

000024
011044
00C144
011010
00002y

012727
0127727
052777
005037
goozuC
104001

104000

000025
011152
000100
011054
000025

012737
0i27?27
012777
012737
000240
104001
000417
022626
013737
0127727
005077
012777
000240
000401
104001

104006

000026
011170

010100
170642

000100
170256

011Cu42
N10CCT
020000

177776

000340
011112
030000
000200

001266
Nit11ve
17011y
030000

170302

001276
001274

17N2ke
170224
170210

1727776
170174
170152
177776

1772776
170124

17010¢

E U
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ERROR1 ,ERROR' EVEN BYTE INSTRUCT ON FAILED
BR 29 .60 TO SCOPE

19 MOV #10100, @BKCSR . LORD TEST NUMBER IN BK(CSR
gtga gsﬁKCSR , TEST THRT ONLY ODD BYTE CLERRED

MOV %#00100,. xMTDAT  ,LOAD CORRECT RESULT
MOV oCSR. RCVDRT »LORD ACTURL RESULT

ERROR1 ,ERROR' ODD BYTE INSTRUCTION FRILED

2% SCOPE ; SCOPE

D03 200 0080200300800 33838008300080800080 8003000800300 009800803320800303¢285¢9]

RT24 24 ,ROUTINE & 24 |
RT25 ,RADDR OF NEXT ROUTINE |
100 , P TERATION COUNT X
RT24A , SCOPE ENTRY POINT  {
X=X+1

B 32000 PPttt POt R Rt P Rt TRP 0Pt 0000 000200000000 00020030 029091
,TEST THAT QVER RUN BIT (CSR BI1T13) CRUSES AN INTERRUPT WHEN SET

RTZ4R MOV 819, XMTINT +LOAD TRANSMITTER INTERRLPT VECTOR
MoV %#B1T12. aCSR »,SET TRANSM:TTER IE B T
BIS ¥6:713. 9CSR .SET OVER RUN BIT
CLR J#PSU ENRABLE INTERRUPTS
NOP
ERROR ,ERROR'OVERRUN FAILED TO CRUSE RN

. INTERRUPT, OR INTERRUPTED TG INCOR-
»RECT RDDRESS

19 SCCPE . SCOPE
R P2 e PN PRt 0 0000t it et tetttReeitttteetnsteredess
PTC2S <5 .POUTINE & 25 p ¢
RT26 .ADDR OF NEXT PCUTINE b ¢
100 . ITERATION COUNT b ¢
RT2E5R . SCOPE ENTRY POINT b ¢
X=X+1

B P $ 3PPt PPt Rttt PP o ROt eeRR ettt etotitoeties:
»,TEST THAT THE DM11 INTERRUPTS AT THE CORRECT LEVEL

RTZ6R MOV $PRTY7, 98PSH
MoV #19, JXHTINT ,LOAD TRANSMITTER INTEPRUPT VECTOR
MOV % 30000, 9CSR »SET CVER RUN & IE BITS
MOV #PRTYH, Q&PSH -ALLOW INTERRUPTS ON LEVEL 5 & RBOVE
NOP
ERROR +ERROR'DM11 FRILED TO INTERRUPT
BR 3% .60 TO EXIT
19 CHP (b)+, (6)+ »RESET STRCK POQINTER
MOV XHMTLVL, 9%FSH ,LORD DM11 INTERPRUPT LEVEL
MoV %29, dXMTINT .LOAD TRANSMITTERP NTERRUPT VECTOPR
CLR 9 SR
MOV #30000. oCSP
NOP
BR 39 ,GO TO EXIT
29 ERROR ~ERROR' DM11 INTEPRUPTED ON HIGHEP
»PRIORITY LEVEL THRN SET FOR
o9 SCOPE
SR P RS 000000 R Rt Rttt Rttt es R asatitosaitsietass
FTZlo6 Zb +RCUTINE & 26 ¥
PTYZ? "RODPESS OF ME>T TEST L

SEQ 0043




MRINDEC-11-D20MA-C  DM11 LOGIC TESTS

p20mMaC P11

U11156
011160

011162
011166

011170
011172
C11174
011176

1 11200
11208

011206
011210
g11212
011214

011216
011222

011224
011226
011230
011232

03 I et
Q11.2u4C

J11242
011244
011246
011250

011252
011256

011260
011262
0t12e4

22-NQy-77 17 &7

000144
011162
000V26

004637
000009
0C0001

000027
011206
000144
011200
000027

004537
000002
000002

000030
011224
(s{a[a} T}
01121,
000030

oo4s537
00000y
000003

000031
011242
00014y
011234
oou031

Nou537
000006
000004

000032
011260
00014y
011282
000032

004537
000010
000005

006033
011276
00014y

004330

004330

DOuw 220

Nou330

NO4 Z3C

F oy
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100 . ITERATION COUNT X
LT§T0 » SCOPE ENTRY POINT ¢
X=X+1

PR 000000000 330038 0000800000030 00 0300080000002 0¢800000 8000000020000 0008000]
,TRANSMITTER LINE TEST LiINE ©

LTSTO JSR 5, XMTTST ,G0 TEST TRANSMITTER L Nt O
L INEOD
Y=Y+1

PRS00 2300000 0000000000000 0080000033000 203020000 00020 002020000 22000022000%/

RT2? 27 ,ROUTINE # 27 X
RT3C » ADDRESS OF NEXT TEST X
100 . ITERATION COUNT X
LTST1 . SCOPE ENTRY POINT X
X=X+1

P 33 000200000 P PRt PPttt PPttt ittt oeioteiteRes ot sl
», TRANSMITTER LINE TEST LINE 1

LTST1 JSR 5, XMTTST . G0 TEST TRANSMITTER L NE 1
LINET
Y=Y+1

B 0 P 380ttt Pt ttetoeetietetee P essstsse:

RT30 30 ,ROUTINE & 30 X
RT3 , ADDRESS OF NEXT TEST ¥
100 , ITERRTION COUNT b ¢
LTST2 , SCOPE ENTRY POINT
X=X+1

B 0022000200008ttt 030000000 20000 2200000000 000002020020002028002208!
. TRANSMITTER LINE TEST LINE 2

LTST2 JSR 5, XMTTST , G0 TEST TRANSMITTER LINE 2
LINE2
Y=Y+1

P 2222080008 a ettt 0 0000000000000 30803830002 000 2000002002000 028

PT3I 31 ,ROUTINE & 31 X
RY32 ADDRESS OF NEXT TEST X
100 . ITERRTION COUNT
LTST3 .SCOPE ENTRY POINT |
X=X+1

B 2 3083300008823 2008002200000 0 000000002 00 0 0 00200022 000200020002]
TRANSMITTER LINE TEST LINE 3

LTST3 JSR 5, XMTTST . GO TESY TRANSMITTEP LINE 3
LINE3
Y=Y+1

B P33T RN R PR TRt Peei st tee ettt totel

PT32 32 .ROUTINE & 32 ¥
RT33 . RODRESS OF NEXT TEST X
100 » I TERART1ON COUNT X
LTSTY . SCOPE ENTRY POINT ) X
X=X+

0SS TP PRttt R Rt a ettt et e RRRas setrisssttds
. TRANSMITTER LINE TEST LINE 4

LTSTY JSR 5. XMTTST , GO TEST TRANSHMITTEP LINE Y4
L INEY
r=Y+1
CREXRRERER R R RSN E RN KRR I T KRR RN AR AR N SRR AR N RN AR A
PT22 33 -ROUTINE & 33 1
RT2Y . ADDRESS OF NEXT TEST %
100 ITEPRTION COUNT '

SEQ 00wy
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Co0MART Py 22-NOV-?7 17 &7 SEQ 0045
Cl11266 011270 LTSTS ,SCOPE ENTRY POINT 4
000033 X=X+1

D 0000300 00008000 0800080000000 0000323 022000000 0000000228 2 00000000000220¢ ]
, TRANSMITTER LINE TEST LINE 5

011270 004537 004330 LTSTE JSR 6. XHTTST .60 TEST TRANSMITTER NE 5
011274 000012 L INES
000006 Y=Y+1
B Tt 02 SRRt PR e ettt Pttt ettt iRttt ettt dstee
011276 00003y RT3u 34 ,ROJUTINE & 34 1
011200 01131u RT35 . ADDRESS OF NEXT TEST
011302 00014k 100 L ATERATION COUNT X
011208 011308 LTSTe . SCOPE ENTRY POINT X
00Co3w X=X4+1

B S Pt 0000 PP 00000 000200003200 003 2000020000000 0002220 002200002¢3
, TRANSMITTER LINE TEST LINE 6

21130 004637 0OC04CZO LTSTe JSR 5 XHTTST . GO TEST TRANSMITTER LINE 6
11212 000014 LINE®
000007 Y=Y+i
B 2 PN e e P R RO P 0000000200002 000 0000000000020 020 000029
011314 000035 PT35 35 »ROUTINE # 35 X
01121 011332 RT26 . ADDRESS OF NEXT TEST X
011320 00014y 100 . ITERATION COUNT
011322 0112w LTST? . SCOPE ENTRY POINT X
00003¢ X=X+

B S T 020030ttt PP Rt R Pttt teoreteetioi st Resiosssseed
TPANSMITTER L NE TEST LINE 7

011324 00us3™ CCeZ27 LTST? ISR 5. XHTTST .60 TEST TRANSMITTEP LINE 7
011330 00001 LINE?
000010 Y=Y+1
S Pt PR R PR R R e PRl P00ttt ettt ttetotoeiiatsesssertetsd
011332 000G3e PT36 26 .ROUTINE & 36 ’ X
01133¢ 011350 RT3?7 . RDDRESS OF NEXT TEST X
011336 000144 100 . ITERATION COUNT X
011340 011242 LTST10 - SCOPE ENTRY POINT |
000036 X=X+1
B S 0 P PR Pttt PRtV P et Pttt ettt eteassssssttesd
- TRANSMITTER LINE TEST LINE 10
011242 0J4537 0O0&330 LTSTIO JSR 5. xMTTST , G0 TEST TRANSMITTER LINE 10
11246 000020 LINENO
gooo11 Y=Y+1
AXERE R RN R AR R R AT A A I RN AKX AR RN AR AR RN ARNRRAXR
£11350 000037 RT3 3? .ROUTINE & 2/ X
011352 011366 RT4O . ADDRESS OF NEXM TEST X
011354 00014y 100 . 'TERATION COUNT X
011356 011360 LTSTII »SCOPE ENTRY POINT |
000037 X=X+1
EERRRE RN RN R R R AR AR RN R R R IR IR R AR AR AR IR RN
TRANSHITTER LINE TEST LINE 11
011360 004537 GO&ZS0 LTST11 JSR 5, XMTTSTY . GO TEST TRANSMITTER LINE 13
011364 000022 LINEI
0ooo1Z Y=Y+
FESERRE IR RN KRR R AR P AR A RN RN IR EE R AR S AN EIRNNELN
011366 000040 PTU0 40 -ROUTINE # 40 %
011370 011404 RTu1 .ADDRESS OF NMNEXT TEZT |
011372 000144 100 LATERATION COUNT 1
01137« 011276 LTSTZ SLOPE ENTRY FCINT ]
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gIoMRl P

011376
011402

011404
011406
011410
Oiiw12

Cliuly
1420

11wl
01144
0114l
011820

011622
011430

011440
011442
011444
O11kke

041460
01146

v1lubp
“114e0
Jilewol
ARETY]

011466
011872

011474
011476
011600
011502

22-N0y-?77 17 57

000040

004537
000024
000013

0CO0u1
011822
0001uw
011414
000041

004537
000026
000014

000042
011440
000144
011432
0000w

00N5C"
000030
000015

00004 3
011456
000144
011450
000043

noNs37
030032
0ooC1e

N000uwwN
1147,
000144
0l1lube
0000uu

004637
000034
cooo1?”

0000uS
0115612
00G144&
011504
0000us

004330

004230

- - - - -

(AL

Do« 230

H oY '
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X=X+1
BB RS20 0000080ttt ittt ittt ettt i itot it tists
» TRANSHITTER LINE TEST LINE 12

LTST12Z JSR 5. XMTTST ,G0 TEST TRANSM TTER L NE 12
LINEY12
Y=Y+1

0083802380333 03 3380030880888 8880000003303 8¢22203 2000382022 0022000000001¢"

RTY1 1 ,RCUT NE # W1 ]
RTN2 ,RADORESS OF NEXT TEST '
100 , ITERATION CCUNT ]
LTST13 . SCOPE ENTRY POINT %
X=X+1

B 32002200400 0080280208808 4 0833883380330 33420332 022222303003 00R0008)
, TRANSHITTER LINE TEST LINE 12

LTSTI3 JSPR E. MTTET .GC TEST TRANSMITTER . NE '
LINEYIZ
Yzv+l

1 0S40 RN ARttt et et et R R R RS

ALY 42 ROUTINE 8 4Z  §
RTWL3 .ADDRESS OF NEXT TEST 3
100 I TERATION COUNT |
LTST1u SCNOPE ENTRY POINT ]
Xz X4+1

EERRERN AN AR R I N AR SRR AR N RN RAR RS AN RN SN RESNNISERIRNETINENSIOSIILISTLS
TRANSMITTER LINE TEST LINE U

LTSTIW JSP 5§ MTTST Gu TEST TPAMNSMITTEP LINE 1M
LINELW
Y=Y+1

REERREERSRRNNNES NSNS N dsd st RR AR AR AR RR N EIRNOOOSEEROERIBIEINRIIRILIIINTS

PT4S W2 .POUTINE # 4C |
RTu& .AODRESS OF ME=T TEST |
100 ITERRTION COUNT |
LTSTiS SCOPE ENTRY PO NT 1 4
¥=X+1

AEXERBABSBR R AR NN AR OB AR A B ER AR RIS SR AN NN IO ERTEONRERIRETINILILINY
.TRANSMITTER LINE TEST L!NE 18

LTSTIS JSPR 6., YMTTST G0 TEST TPANSMITTEP L NE 15
LINE1S
Y=1+1

BREABEEXAREARE RN T NS A AR AR AR R SRRttt snstnsrssnss

PTul Wy POUTINE # 4Y L)
RTuS RDDRESS OF NEXT TELT 3
100 . ITEPATION COUNT |
LYSTie . SCOPE EMNTRY POINT )
X=X+

RSP RS R R e R Rt Rt R PR R R R RRRERRR
TRANSMITTER LINE TEST LINE lob

LYST1e JSR 65 YMTTSTY G TEST TPRHSEMITYES L NE e
LINEL1G
Y=Y+1

 R83020880 R0 R 02 R Rttt ittt et RN R RN REE

FTug us POUTINE % 45 3
PTue .ADDRESS OF NExT TEZTY ]
100 ITERATION CNUNT ]
LTSTY? ICCPE ENTPY P NT |
a_ve!

SEQ 00%e
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TIOMS Py 22-NOV-?77 4? §7 SEQ 0087

PRS00 00000 PPttt 0003008000000 00000 00000000 0030000020020 00000308
» TRANSMITTER LINE TEST LINE 17

11504 00437 004330 LTST17 JSR 5, XMTTST , GO TEST TRANSMITTER LINE 17
711510 009036 LINEY?

000020 Y=Y+

000000 Y=0 -

000000 A=0

PR Pttt 000 Pttt P PP P PRttt ettt etettsostorole

011512 000046 RTub 46 .ROUTINE % Y46 ¥
011514 011530 RT47 . ADDRESS OF NEXT TEST X
011516 000144 100 . ITERATION COUNT X
011620 011522 RCVO »SCOPE ENTRY POINT ¢

0CCOue X=X+1

B 0300000050000 00000 0000000800000 0000020000020200000000002020002000800202%
L RECEIVER LINE TEST LINE O

TLIEZZ NONS3IT ODNEW[ PCUD: JSR 5 RCYTSTY ,G0 TEST RECEIVER L N& 0

1:80 000000 L NEO
000001 Y=Y+1

1S R PR R R R D R 0P 0000002000002 000082 0 000000 028000020

C11630 00004~ PTu™ 4? »ROUT NE # 47 X

011832 C1154¢ RTEQ . ADDRESS OF NEXT TEST X

01153¢ 000144 100 . ITERATION COUNT ¥

0115670 011842 PCu] . SCOPE ENTRY POINT X
ocCcw™ ¥z¥+1

R R Tt P R Rt Rt Rt et ettt ottt sl tall
PECEIVEP LINE TEST LINE 1

B11540 O0OQuE>" “WEa . Puy JSP . PCVUTST .GO TEST RECEIVER L NE 1
011544 00000. L INEY

000002 v=Y#+1

R RS20 R SRR Rttt Pt ea ottt eatttt et tegitsssttes

Q11546 0000S0 FT80 &0 ,ROUTINE # 50 b
011660 011504 RTS1 . RDDRESS OF NEXT TEST  {
0116582 00014% 100 ITERATION COUNT X
Q011664 (011686 RCY2 , SCQPE ENTRY POINT b ¢

000080 X=¥41 ~

R RSP R iR R PR PR PR Rttt tateoiRteseod
PECEIVER LINE TEST LINE C

011850 GJ4S3? 0OCWSNC PCMC JSR G ECUTET .GO TEST PECE VER LINE 2

116502 000004 LINEZ
000003 Y=Y+1

BN BB ERRR SRR A AR BRI BN N AR RN RA R RN ER KRN R XX

T11504 000051 RT51 51 -ROUTINE & 51 X

¢11500 011602 RTS5Z . ADDRESS OF NEXI TEST |

0115670 000144 100 -1 TERATION COUNT )

011572 011574 RCV3 . SCOPE ENTRY POINT X
000051 X=X+1

EEE R RN RN AR IR R R IR NIRRT A TR RN AN RN NN RANAN
EECEI‘EP LINE TEST LINE 2

011574 004537 0045u. p. 2 JSR 6, RPCVTSY .G0 TEST RECEIVER LINE 3
011600 000006 LINEZ
000004 Y=Y+1
R R Rt R R R R R e R PP PP R eeeae s aseeeiattee
011602 000052 FY5C 5¢ .ROUTINE # 52 X
C11e04 011020 RTE2 . ADDRESS OF NEXT TEST ¢
011606 000144 100 . ITERATION CQUNT X
011610 O0Ot1etl Pl . SCIPE ENTFr FOINT ¥
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T20MAC P 1Y

011612
llele

011620
011622
011624
011626

0tlel0
0llely

Oliele
0116840
Q11642
011644

011646
011652

011654
011656
011660
011662

Otilobl4
011070

~)

011672
011674
Jile’6
011700

011702
011706

011710
011712
011714
011716

22-NOv-?77 {7 &7

000052

004537
000010
000005

000053
011636
000144
011630
000053

004637
000012
00C00e

000054
011654
000144
O1lo4b
00005y

004637
000014
000007

000055
011672
00014y
011664
000055

oous537
020016
000010

000056
011710
000144
01170.
000056

00n537
000020
000011

000057
011726
00C 144
011720
000057

004542

004342

NYEy -

NousuZ

(el 11

J 4
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X=X+1
PR 030020000000 30003 800003000030 820000200000000030022200000000020020220 000029
,RECE VER LINE TEST LINE &

RCVY JSR 5. RCVTST ,00 TEST RECEIVER LINE Y4
L INEY
Y=Y+41

P S 0002200003003 8 0033030008808 300020003000 20¢70002000 300000002009 000000%94

RTE3 53 ,RCUTINE # 63 X
RTEW ., RDDRESS OF NEXT TEST ¥
100 , I TERATION COUNT X
RCVE ; SCOPE ENTRY POINT X
X=X+1

PRS00 200000 000000 0000200000 0000000000000 0800020000000 0002000 0000000228800,
,RECEIVER LINE TEST LINE 5

RCVS JSR 5., RCYTST .60 TEST RECEIVER LINE 5
L INES
Y=Y+1

I S8 3F333 3000038000000 000000080 080000000¢009000000300¢002820000200300028%09%¢

RTEY Y ,ROUTINE & 5y X
RTSS , ADDRESS OF NEXT TEST ) ¢
100 , FTERATION COUNT X
RCVb , SCOPE ENTRY POINT ) 4
X=X+1

B 230000332000 0000 R0ttt iRttt et estesoreteoosed
CRECEIVER LINE TEST LINE &

RCVE JSR 5.RCVTST .00 TEST RPECEIVER LINE 6
LINE®
Y=Y+

e 0003000020 0000800 0000800050800 0 0030002000000 0 20000000000 3000820¢¢0¢

RT55 55 .ROUTINE # 55 X
RTSe , ADDRESS OF NEXT TEST X
100 , ITERATION COUNT ) ¢
RCV? ., SCOPE ENTRY PQINMT X
X=X+1

B0 P00 022000ttt t R PRttt ittt eeitpeciteotbetes
,RECEIVER LINE TESY LINE 7

RCV? JSR 5, RCUTST ., GO0 TEST RECEIVER LINE 7
LINE?
Y=Y+
D Rttt ettt ittt iRioseeeei sttt :
FT56 56 ,ROUTINE ® 56 X
RT57 -RDDRESS OF NEXT TEST ) {
100 » I TERRTION COUNT X
RCV10 . SCOPE ENTRY POQINT X
X=X+

S 0 0t PRttt PRttt iRttt Rt P iRty esttosttiode:
~RECEIVER LINE TEST LINE 10

RCV10 JSR 6, RCYTST .00 TEST RPECEIVER LINE 10
LINE1O
Y=Y+1

S R RS 0 R38R0 Rt Rttt PRttt ettt ettt ittt atttnseseits

F15?7 57 ,ROUTINE ® 57 X
RTe0 'QDDRESS OF NEXT TEST |
100 . ITERRTION COUNT |
RCVU11 . SCOPE ENTRY POINT ¥
xzX¢!

SEQ 0048




MR NOEC-11-D2OMA-C DM11 LOGIC TESTS
D2OMRC P1Y 22-NOV-77 1757

011720 004537 004542
011724 000022
000012

011726 000060
011730 011744
011732 000144
011734 011736

000060

011736 004537 00QusuC
C1i~el 000024
000013

011744 000061
01174¢ 011762
01175C 0060144
011762 C11764

000061

011754 004537 OQQuEsC
011760 0000Ze
000014

011762 000062
011764 012000
011766 000144
011770 011772

000062

011772 004637 00u54C
011776 000030
000015

012000 000063
012002 012016
012004 000144
Jd1200e 012010

000063

012010 004537 (COusu_
012014 000032
000016

012016 000064
012020 012034
012022 00014y
01202¢ 012326

000064

K &
MACY11 30(1046) 30-NOV-7? 09 34 PRGE 18-1Yy

PR 00 0022000008080 00300008300 0080 8083202038308 00390003 0308200300 0302090%9
,RECEIVER LINE TEST LINE 11
RCYI1  JSR 8, RCVTST ,G0 TEST RECEIVER LINE 11
LINET1
YaY+1
PP 00 0300000033800 3808008830083 8000033000090 ¢0 0230030000000 8800000208080¢

RT60 60 ;ROUTINE # 60 X
RT61 ,ACORESS OF NEXT TEST, X
100 , ITERATION COUNT ¥
RCV12 , SCOPE ENTRY POINT X
X=X+1]

PRSP0 0200 P00 P00 000000000000 00000 0020000 000000020000 0080002000000
LRECEIVER LINE TEST LINE 12

RCV12 JSR 5., RCVTST ,G0 TEST RECEIVER LINE 12
LINE12
Y=Y+1

PRS00 0800000000000 030000000000 00000 800800080800 00 0000000000 00000020000

RTe1 61 .ROUTINE % 61 4
RT62 . RADDRESS OF NEXT TEST X
100 ., ITERARTION COUNT X
RCv13 , , SCOPE ENTRY POINT 4
X=X+1

AR D00 00000000000 0000000 000300020000 0020000 00000020000 208 0 0020220000289
RECEIVER LINE TEST LINE 13

PCV13 JSR g, RCVTST .60 TEST PECEIVER LINE 13
LINE13
Y=Y+

19 8 0020 P00ttt P tetet Rttt ettt tetttses

RTH2 62 .ROUTINE ® 62 . X
RT63 . ADDRESS OF NEXT TEST ) ¢
100 ., ITERRTION COUNT |
RCV1Y ;SCOPE ENTRY PQINT b ¢
X=X+1

B S P P 00320000ttt ettt iRttt ettt iitioeiRneeeoedd:
+RECELIVER LINE TEST LINE 1M

RCV1Y JSR 5.RCUTST ,GO TEST RECEIVER LINE 14
LINE1Y
Y=Y+1

B 8P EP R et e R PR Rttt es ettt totecitessesodses

PTe3 63 ,POUT'NE ® 63 X
RTel . ADDRESS OF NEXT TEST X
100 » ITERATION COUNT X
RCV15 ., SCOPE ENTRY POINT ¥
X=X+1

D P 200 2020300000000 0020330000000 00 3000002080020 220 22 0000000 000R00R000
PECEIVER LINE TEST LINE 15

PCVi15 JSR 5. RCVTST ,00 TEST RECEIVER L HE 15
L INE1S
Y=Y+1{

1282 000300080038 8000000000000 00000300 03 3¢0 000038 0203 ¢R 0220000082000

FTHY b4 .ROUTINE # b4  {
RT6S ,RADDRESS OF NEXT TEST  {
100 , I TERATION COUNT X
RCV1b . SCOPE ENTRY POINT |
X=X+1

1S PSP PR RPN e R P PRt PP PR PR R r R Rt s ltesl

SEQ 0049




MRINDEC-11-D2DMAR-C OM11 LOG!IC TESTS
22-NQv-77 17 57

poonac Py

012026
012032

012034
0120236
012040
012042

012044
012050

12052

012054
012056
012000
012068

012064
012066

012070

012074
012100
012104
012110
012112
012114
012116
J12122
012130
012136
012142
J12160
012152
012154
012162
012164
012170
012172
012176
012200
012206
012210
012212
012214
n12222

004537
0000 3N
000017

000065
012054
OCO1u4Y
0120u4
000065

004637
000036
000020
000240

000066
012314
Q00012
012070
000006

Q00280
06040

00737

012701
012702
012703
010221
00-303
001375
012701
012777
052777
050177
013737
104490
000000
017737
001406
005037
104011
005077
000440
0327277
001002
104001
00G4 32
Q42777
052777

004542

O0usu 2

00372y
001106

160000
000020

020001
012260
000060
167110
004076
167C72
001276
167054

o40G00

10000€
010000

167134
167112

N12152

le70uZ

167026
1o.°N20

L

M
MRCY11 30(1046) 30-NQV-77 (09 34 PAGE 1B-16

,RECEIVER L NE TEST LINE 16

RCU1b JSR 5, RCVUTST ,00 TEST RECEIVER LINE 186
LINE1G
Y=Y41

Pttt e Rt ettt Rt RPeieetedoestteesttseetstotittisesrtetssistee:

RT65 65 ,ROUTINE & 65 ¢
RTe6 ., ADDRESS OF NEXT TEST
130 , ITERATION COUNT b {
RCV1?7 , SCIPE ENTRY POINT ¥
X=x4+1

PRSPt Tttt Pttt e Rttt oot iotetteststeseetodes:
+RECEIVER LINE TEST LINE 17

RCu1?7 JSR 5.PCYTST .00 TEST RECE VER L NE 17
LINEL?
Y=Y+1
NOP
,xxxx:xxxxxtxxxttxxt:xtxxxxxxxxxxtxxxxxxxxtxxxxxxxx:xxxxxxxxtxtxxxxtttxxx
RTeb6 66 ,ROUTINE & 66  {
RT6?7 , ADDR OF NEXT ROUT NE X
10 ,ITERRTION COUNT X
RTE6R: , SCOPE ENTRY POINT  {
Xz=X+1"
RS 08023 083280003828 802 e00 0 0t0083¢ 8003800803330 3038808833380 23¢5%
NOP
NOP

TEST THAT NEX BIT (CSR BIT 14) SETS WHEN THE TRANSMITTER REFERENCES
NON-EXISTANT MEMORY, THE CORRESPONDING BAR BI1T CLERRS
AND THAT AN INTERPUPT OCCURS HRALL _INES ARE USED FOR THE TEST

PTobR  JSF 7. TIMER . GO CALCULRTE MARCINE TIME TC TPANSHMIT
. ONE CHRRACTER
MoV #CAT. 71 ,GET CAT RDDRESS
MOV #160000 %2 GE™ R NON-EXISTANT ADDRESS
MOV #16 =3 HET COUNTER
19 MOV %2, 1)+ .LORD THE CUPRENT RDDRESS
OEC %3 . TABLE WITH NON-EXISTARNT
BNE 1% . ADDRESSES
MOy #LEITO "1 .GET LINE BIT
MOV #69, dXMTINT .LORD TRANSMITTER INT VECTOP
i BIS %60, 9(SR .SET EXTENDED ROOPESE BITS
BIS %1. aBAR .START TRANSMITTER
MOV TIME1Y, 39 .LORD DELRY TIME TO
DELRY .DELRY FOR 1/4TH OF A CHAPACTEP
3% OPEN * . TO RESPOND TO NEYX
MOV 9BAR. RCVYDRT .GET BAR DATR & TEST
BEQ 4s .THAT T IS CLERP
CLR XITDRT '
ERROR1 ERROR'BAR BIT DIC NOT CLERF
CLR JBAR
BR 7% GO TO SCOPE
L} BIT #8171y QCSR . TEST THRT NEX BIT IS SET
BNE 5% .BRANCH IF SET
ERROR ;ERROR' NEX BIT FRILED TO SET
BR 7% .G0 TO SCOPE
5$ B!C KB1T15 QCSR +CLEAR TRANSMITTER FEALr FLRG
BIS $B1T1.. 9CER SET TRANSMITTER £ EIT

SEG 0050




MR NCEC-11-D20MA-C  DOM11 LOGIC TESTS
0oOMAC P 22-NOV-?7 17 57

012230 005037 177776

012234 000240

012236 012737 000340 177776
012244 010137 001276

012250 005037 001274

012254 104011

012256 0CO410

012260 005077 166764

012264 012737 000340 177776
C12272 022626

012274 006301

01227¢ 10231M

012300 013737 0040’4 N12310
012306 104400

012310 000000

vll21Z 104006

012314 000067
012216 012424
012220 000012
012322 01232M

0000¢e™

012324 012777 160000 1667CH
012332 012737 012414 00000
012340 005737 1600C0O

012344 013737 004076 01Z36C
012352 052777 000001 16ve"C
012360 104400

012362 000000

012364 005077 16bbbl

012370 022777 040000 i66b5C
012376 001401

g124v00 10u400!

012802 013737 004074 012412
012410 104400
012412 00000C
212414 012737 000006 0OCOOu
012422 104036

012424 000070
012426 012540
012430 0GO00144
012432 012834

000070

012434 005077 Ote4il

M o4 T

MACY11 3Q(1046) 30-NQU-77 09 34 PAGE 18-16

ng e#PSH +RALLOW INTERRUPTS
N
MOV ®PRTY?7, 98PSH LOCK OUT INTERRUPTS
nov %1, XMTDAT »LOAD LINE THRT FRILED
CLR RCVYORT
ERROR1 ,ERROR' NEX FRILED TO CAUSE INTERRLPT
. TYPEQUT SHOWS LINE # THRT FAR!LED
BR ’9 ,GC TO SCOPE
6% CLR oCSR
MoV KPRTY?. 98PSH »LOCK QUT INTERRUPTS
CHP (6)+. (B)+ .RADJUST STACK PTR
ASL %1 +SHIFT LINE BIT
BCC 2% DO NEXT L INE
4] MoV TIMEL. 8% ,HARIT FOR TRANSMITTER TO RUN
DELAY . TO COMPLETION BEFORE
8S OPEN LEXITING TEST
SCOPE - SCOPE

B P 0Pttt PRt P00 0000020000000 0 002000000020 00R 00820000

RTe? 67 .ROUTINE & &7 X
RT?C ,RODR OF NEXT ROLTINE X
10 , ITERARTION COUNT b
RT&67R , SCOPE ENTRY POINT 4
X=X+1

2 R PR et TR PP P00 000000003000 0000000200200 0802200200 0200003
TEST THAT NEX BIT SETS |F THE DMI1 TRBLES ARE IN NON-EXISTRANT COQRE

PTo”’AR MOV #160000, 9BASREG . SET BASE REGISTER TO NON=EXISTANT ADRS
MoV 49, JRERRVEC »SET TIME OUT TRAP VEC{TOR
TST 9+#160000 . CHECK THRT ACDRESS T!HMES OUT
Hov TIME1Y, 19 +GET TIME TO TRANSMIT 1/4 CHAR
BIS #LBITO, 9BRR ,START TO TRANSMIT ON LINE 0
DELRY »DELRY 1/4TH OF R CHAFRCTER

19 OPEN . TIME
CLR JBAR »STOP TRANSM!ITTER
CHMP #81T14+00. 9CSR . TEST THAT ONLY NLCX 1S SET
BEG 2%
ERROP ,ERROR' EITHER NEX FALED TO SET

,OR OTHER BITS SET

s MOV TiNEY, 38 .DELRY 1 CHRRACTER TIiME TO ALLOW
DELRY . TRANSMITTER TO RUN TO

3% OPEN - COMPLETIUN

48 MOV FERRVEC+Z, IREPRVEC .RESTORE TIME OUT TPRP
SCOPE

TP R 00800000ttt Rttt ettt teatttseceitesetisioseeistsd!

RT?0 70 +ROUTINE & 7 X
RT1 »ADDR OF NEXT ROUTINE X
100 . ITERATION COUNT X
RTY70R »SCOPE ENTRY POINT X
X=X+1

R A E St PR R0ttt Pttt totsetiensetossesisttsoeitiot]

TEST THAT WHEN THE GO BIT 1S CLEAR THAT THE RECE!VERPS DO NOT RECEIVE
DATA ERCH LINE IN TURN IS TRANSHITTED ON, AND WHEN TEN (HRRACTEPS
HAVE BEEN TRANSMITTED THE RECEIVER DONE FLRG 1S TESTED IF IT 1S SET
AN ERRCR 1S 'NDICRTED ON THE LINE DRTAR WRS RECEIVED ON
FT7GH (LR L INE CSET U TH TRANSMIT

SEQ 0051

]




MR NDEC-11-DZDMR-C  DHM11 LOGIC TESTS
22-NOy-77 17 57

£2omMAc P11

012440
012444
012446
012452
0124564
012462
012466
012470
012476
012504
012506
012510
012616
012622
012524
012832
S12534
C12536

C12640
012842
012544
0126%p

012550
012852
012554
012556
012564
012572
012600
012604
01Ze06
012614
012622
012630
012634
012636
01 oMY
012650
012652

012656
012660
012664
012672
012674
012702
012704
012706
012710
012712

0045637
177766
005777
100375
02777
105777
100010
013737
013737
104011
000413
062737
00e337
103346
013737
104400
000000
104006

00001
C12734
00002y
012560
0000~

005000
010001
005201
012737
012737
012777
010037
105710
012737
0i2777
0127277
105777
100375
Q427277
105777
100375
023701

001413
010137
013737
104011
032777
001323
000405
005701
001403
000Zs1

005754
166576

100000
166562

001272
001272

000002
001272

0040w

012720
000340
001106
001100

177776
000005
000001
166414

000200
166400

001106
001276
NO110e
o4 0000

166566

001274
001276

Nies12

01263y

000004
000006
166456

No114e
166426
166422

166404

001274
166200

N &
MACY11 30(1046) 30-N9V-77 09 34 PRGE 18-17

19 JSR 5., d¥XHITD , 10 (HRARACTERS
-10 .ON ERCH LINE
TST oCSR ,WRIT FOR 10 CHRRACTERS
BPL -y .TO BE TRANSHMITTED
BIC #100000, oCSR
EETB ggSR » TEST RECEIVER DONE FLAG
L
MOV LINBIT,RCUDAT  ,GET LINE BIT OF ACTIVE L NE
nov LINBIT, XMTDAT ., THRT ERROR OCCURED ON
ERRORY ,ERROR' DRTA WARS RECEIVED ON L NE IND CRTED
BR 4$ .60 TO SCOPE
A RCD $2.LINE ,SET UP NEXT LINE NUMBER
AS. LINB T ,GET RERDY TO TRANSMIT ON NEXT L NE
BCC 1% .00 TRANSMIT ON NEXT LINE
MoV Tire1, 3%
CELRAY .DELPY 1 CHARRCTER
3% 0 . TIME BEFORE ENTER NG NEXT TEST
4e SCOPE . SCOPE
10 e e R RS R R R R PPN 0020000200¢00 0300002020 00¢00 R 0002280000
F71 21 .ROUTINE ® 71 ¢
RT?72 .RDDR OF NEXT ROUTINE X
20 » I TERRTION COUNT ¥
RT71R . SCOPE ENTRY POINT X
X=X+1

D S PP PR 0NNttt bt PRt PPttt v ot erta e e istesssd:

TEST THAT CURPENT ADDRESS INCREMENTS PROPERLY WMEN R (HAR-

ACTER IS TPAKNSMITTED

LINE O IS USED FOR THE TEST

RT?1R (LR %0 »RO=CURRENT RADRS AFTER TRANSH SSION
19 MOV %0. %1 .RO=CURRENT ADDRESS BEFORE TRANSHMISSION
INC %1 »AND R1=CURRENT RDDRESS AFTER TRANSHMISSION
MoV #39. JRERRVEC .SET UP PROCESSOR
MOV #PRTY?, QRERRVE(C+2 - TIME OUT TRAP
MOV #CAT. 9BASREG . SET UP BRSE REGISTER
Mou %0, CAT . LORD CURRENT RDDRESS TRBLE (LINE D)
TST8 (0) .DOES MEMORY EXIST?
MOV $-2.WCT ,SET CHRR COUNT TO TRANSMIT t CHRF
MGy #5, JCSR »,SET MAINT & GO BITS
MOV #LBITO. JBAP , TRANSMIT ON LINE O
TSTB 9(SK ~HRIT FOR THE RECEIVER
BPL -4 ,TO RECEIVE FIRST CHRRACTER
B1C #200. 9CSF »CLEAR RECEIVER DONE FLRG
TSTB ad( SP +WRIT FOR RECEIVER TO RECEIVE
BPL -4 » THE SECOND CHRRRCTER
CHP CAT. %1 » TEST THAT CURRENT ADRS
» INCREMENTED PROPERLY
BEQ 2%
MoV %1, XHTDAT »GET COMPUTED RESULT
oy CAT, RCVDRT »GET RCTURL RESULT
ERROR1 ,ERROR' CURRENT RDDPESS DID NOT
BIT %#BIT14, 9SHR » INCREMENT PROPERLY
BNE 19 ,BRANCH IF SCOPE SWITCH 1S SET
B8R 36 .60 TO EXIT
-8 TST %1
BEQ 39
StC

SEQ 0052




MRINDEC-11-DZDMR-C DM11 LOGIC TESTS
22-NOV-?77 17 57

DZ0MARC P11

012714
012716
012720
012726
012732

012734
01273¢
012740
012742

U1274y
Ci1Z7us
012750
012756
01276M
012772
013000
012004
013006
013012
01301y
013020
01302y
013032
013040
013046
013054
01:0%6

013060
0t30e2
013060
Uu13070
C13672

013074
013074

013102
013104
013106
013110
013114
013122
013130
013136
C13144
013150
013162

006100
100715
012737
005037
104006

000072
013300
000024
012744
000072

005000
000005
016037
0127277
C12737
012777
005777
100375
106777
100375
005077
005037
113737
117037
043737
123737
001402
104011

000464
020027
031402
005720
D007 2v

012737

005001
005201
005720
110170
016037
012777
012737
012777
0057727
110375
108777

000006
000006

013234
000C05
127777
000001
166244

1662216

166230
001274
001306
013234
001300
00127u

0000Ne

017222

013234
013234
000005
1277?77
000001
160100

166072

00000u

N0!10e
166264
001146
166252

001274
Nno127e6
001276
001276

NG00y

00110v
166120
No1tue
166100

B 5
MACY11 30(1046) 30-NOV-77 09 34 PRGE 18-18

ROL %0
BMI 19
39 MOV RERRVEC+2Z, IRERPYE(C .RESTORE T ME OUT TRRP
CLR ORERRVE(C+2
SCOPE . SCOPE
P 3 S 20 PP 0 0000080000030 0 080000000092 ¢80 03¢ 300020230020 0020092000208008
RT?2 72 ,ROUTINE #& 72 X
RT?73 ;RACOR OF NEXT ROUTINE X
20 , ITERATION COUNT ¥
RT72R . SCOPE ENTRY POINT X
X=X+ 1

D 2320000000080 0 00300ttt 000033 2¢000 0000000382220 08 0000000382220 002000

, TEST THAT DATA CAN BE TRANSMITTED FROM ALL RVAILABLE CORE
LLINE Q0 IS USED FOR THE TEST AND ONLY ONE HWORD IS TRANSHITTED
AT R TIME

RT72R CthT %0 »CLERR INDEX REGISTER
R

19 MOV RARER(D). (AT -LORD CURRENT RDDRESS
MoV #5., oCSR ,SET MAINT & GO BITS
MOV #-1,WCT ,SET UP CHAR COUNT TO TRANSMIT 1 CHAP
Mov #LB1TO. 0BAR » TRANSMIT CHAR ON LINE O
TST dC SR +WAIT FOR THE TRANSMITTER
BPL -y ,TO TRANSHIT THE CHRRARCTEPR
TST8 ?CSP . TEST FOR DONE
BPL -4
CLR d( SR . CLERR ALL FLRGS
CLR RCVDAT

MovB TUMTAB. RCYDAT . GET RECEIVED CHRRACTER
MOVB QRREA(D), XMTDAT . GET TRANSMITTED CHARACTER

BIC CARMSK, XMTDAT . CLEAR NON-TRANSMITTED BITS
CMPB RCVDRT, XMTORT  , COMPARE C(HARRCTERS
BEQ 2% BRANCH IF VALID rOMPAR I SON
ERROR1 »ERROR'DRTR COMPARISON ERROR
. CCAT)-1 IS THE MEMORY LQCATION WHERE THE OATA WRS TRANSHITTED FROM
BR 6% ,G0 TO EXIT
<% CHP %0. 86 +HAS FIRST 4K BEEN TESTED
BEQ 3% »BRANCH IF IT HAS
TST tQ + . INCREMENT INDEX
BR 1% .00 REPERT TEST
S8 .BEGIN TESTING RBOVE 4K
Mov #5659 QRERRVEC ,SET TIME OUT TRAP TO EXIT
. JEST IF MEMORY TIMES OUT
CLR %1 ,SET UP DATA IDENTIFIER
4s INC 71 » INCREMENT DATAR |DENT'FIEP
TST (0)+ . INCREMENT INDEX
MOve %1, dRRER(D) .LORD IDENTIFIER INTC MEMOP
MOV RARER(D), CAT »LORD CURRENT RDDRESS
MOV #5, 9(SR .SET MAINT & GO BITS
MOV $-1.H0CT .SET UP C(HRR COUNT TO TPRNSMIT 1 CHAR
MOV #LBITO, 9BAR . TRANSMIT ON LINE O
TST oCSR ~HAIT FOR THE TRANSMITTER Tf
BPL -4 TRANSMIT THE CHRPRCTEP
TST8 oCSP .TEST FOR CHAFACTER DCNE

-£Q 0053




MARINDEC-11-020MR-C DOM11 LOGIC TESTS
22-NOV-77 17 &7

C2oMAC P11

013156
013160
01316M
013172
013200
013206
013214
013216
013220
013222
013224
Q13232

C13234
012236
012240
L1322
013244
C12246
0122580

012282

013254
013250
013260
013262
012264
013266
013270
013272
013274
013276

012300
013302
013304
013206

013310
013314
013322
013326
013334
013340
013342
013346
013350
013356
013362
013370
013372
013376

100375
005077
113737
117037
043737
123737
001733
1C4011
000404
022626
012737
104006

000000
005252
012525
017777
020000
026314
031463

0372477
040000
o57u4l”
060000
077477
100000
117477
120000
137477
140000
173000

000073
013514
000012
013310
030073

005037
012777
005037
013737
004537
177634
105777
100375
042777
005237
023727
001416
005777
100002

166064
001306
013234
001300
001274

000006

016412
000001
001274
016412
05754

165702
000200
001274
001274

166652

001274
001276
001276
001276

N0000u

16572e
N01Z7e

1656°C
alelspE L]

MACY11 30(10u4e)

5%

» MEMORY
ARER

ABK

A1ZK
R16K
RZ0OK
AZNK
RZ8K

1SS0t e RN PRttt ettt ieet ettt ieteoeeiee

PT™3

A S P Pttt P PRt R e Rt PP PP TN PP ee Rttt tosoeotiRttetts

BPL
CLR
MOve
Move
B!IC
CMPB
BEQ
ERROR1
BR
POPSP2
MOV
SCOPE

C &
J0-NQV-77 09 34 PRAGE 18-19

-4
JCSR

TUMTAB, RCVDAT  , GET THE RECE!VED CHARACTER
9AREA (D), XMTDAT , GEY THE TRANSMITTEC CHARACTER
CARMSK, XNTDAT ~ , CLEAR NON-TRANSMITTED BITS
RCUDAT, XNTDAT  , COMPARE CHARACTERS

4% +BRANCH IF VALID COMPARISON
,ERROR'DATA (OMPARISON ERROR NUMBER

6% . IN S/B GIVES MEMORY LOCRTION (SEE TRBLE
+RESET THE STARC(K

#6. oRERRVEC .RESTORE TIME OUT TRAP
JEXIT TEST

LOCATICONS TRANSMITTED FROM TRBLE

0

252
12525
1772727
20000
26314
31463

J7877
40000
687477
60000
27477
100000
1172477
120000
137477
140000
173000

73
RT74
10
RT73R
X=X+1

.FOR DRTA IN FIRST

4K SEE THE LISTING

, CONTENTS OF THESE LOCATIONS (BYTE
. 1S THE DATA TRANSMITTED

. CONTENTS =1 (IF RYR LRABLE)

W

N £

10 B
(1) 1 l e
(1] 12 "
” 1 3 (1]
(1] lu L2}
L1} 15 1)
L] 16 (1}

ROUTINE % 73

»ADDR OF NEXT ROUTINE
I TERATION COUNT

» SCOPE ENTRY POINT

, TEST THAT THE TRANSMITTER CAN TRANSMIT 100 C(HARPACTEPS BEFCPE SETTING
, THE READY BIT (CSR 15), AND CLERRING THE BRR BIT

PT?3R
19

CLR
MOV
CLe
MoV
JSR
-100
TST8
BPL
BiC
INC
{Mp
BEQ
TSTY
BPL

L INE

#1, 9CSR »SET THE GO B!T

RCVDAT

O#L INE, XMTORT . GET L INE NUMBER (X2)

5. 98XMITD TRANSMIT 100 CHARACTERS
,ON LINE RS SPECIFIED BY LINE

dCSR +HRIT FOR THE RECEIVEPR

2% . TO RECEIVE ONE (HRPACTEP

%8177, 9CSR -CLERR CHRAR DONE FLAG

RCYDAT , INCREMENT CHARR RCYD COUNT

RCVDAT, #100 +HAVE 100 C(HRRS BEEN PrvC

us

JC Sk » TEST PERDY FLAG

3% GC TEST BRP

SEQ 0054



MA NDEC-11-D2DMR-C DM11 LOGIC TESTS
22-NOv-77 1?7 &7

L20MAC P11y
013400
013402

013404
013412
013414
013422

013424
013426
012434
0124236
C12uug
LT
.1 Juko
12480
Q12482
013456
013460
013466
013472
01347y
013476
013504
012510
013512

013514
013516
013520
013522

0123524
0123520
01353y
013536
013540
013542
013546
013554
013560
013564
013572
013600
013606
013612
013614
013622
013626

104011
000443

023777
001753
017737
1C4011

~00432
013737
104400
000000
005777
100402
104001
000420
005777
001407
C17737
005037
104011
000406
06273
006317
103301
104006

00007y
013702
000012
012524
00007y

012701
012702
005021
005392
001375
012701
012777
005037
005037
012737
052777
012777
105777
100375
Quz?77
006237
005237

001272
165632

004076

165004

165874

16586066
001270

no00nz
(RIS PR

00130b
000100

001306
COo0004
001276
001274
177677
000001
000001
165436

000200
001274
N01276

165640
001276

013436

ARS PUi

NipWll

165474

NO1146
165460
165444

166U

D 6§
MACY11 30(1046)

30-NOV-77 09 34

PRGE 18-20
SEQ 0055

,ERROR'RERDY BIT SET TOO SCuN

, TYPEQUT SHOWS HOW MANY (HARS WERE RECEIVED WHEN READY SET AND THE LINE # (X2)

ERROR1
BR 8%

3% cmp OfL INBIT, 9BAR
BEQ 2%
MOV 9BAR, XMTDAT
ERROR1

. TYPEOUT SHOWS THE BAR CONTENTS

,GO TO EXIT

. TEST THAT BAR BIT S SET

,BRANCH IF SET

»GET BRAR CONTENTS

,ERROR' BAR BIT CLERRED TO SOON

AND HOW MANY C(HARS WERE RECE VED WHEN BRP FRILED

,LOCATION LINBIT HAS THE CORRECT BAR CONTENTS

JEXIT TEST
.DELRY 1/4% CHRRACTER T ME
., TO ALLOW TRANSM TTER TO FINISH

. TEST RERDY FLAG (SHOULD BE SET
,GO TEST BAR
.ERROR' RERDY FLRG
,GO TO EXIT
TEST THART BARP BIT
,G0 TO 7% IF CLEAR

FRILED TO SET
S CLER®

.EPPCP BARP BIT FA LED TO CLERF

S SRR T R e R R b R R PR R PP RN PRt ettt ee Rttt o R atetiRRteobios

BR 8¢
4s MOV TIME1Y, 5%
DELRY
5% OPEN
TST a(SP
BMI 6%
EPROR
BR 8%
o$ TST oBAP
BEQ 79
MOV obRAR, RCYPR™
CLP XMTORT
ERROR1
BR 89
s RDD $2. 8L INE
ASL QL INBIT
BCC 19
89 SCOPE
RT Y 7y
RTTE
10
RT7uR
Xz=X+1

.ROUTINE & 7V

»RDDR OF NEXT RQUTINE
, ITERRTION fOQUNT
SCOPE ENTRY PQuNT

6 M M P

B S PR 0 ettt Rt et PRl PRt ittt oottt ettt

. TEST THAT THE TUMBLE TRBLE POINTER INCREMENTS PROPERLY AND

.RETURNS TO THE BEGINNING AFTEP
LINE O IS USED FOP THE TEST

RT74R MOV #TUMTAB. %1
MOV o4 %2
18 CLR (1)+
DEC %2
BNE 19
MOV #TUMTAB. %1
MOV #8172, oCSR
CLR X1T0AT
CLR RCVDAT
MOV £-65 WCT
BIS #B1T0, 9CSR
MOV #LBITO oBRP
Z$ 1578 dC SR
BPL 29
BIC #8177,  QCEF
INC RCVDRAT
I HE XMTORT

64 (HRRACTERS HAVE BEEN PECEIVED
CLERP THE
TUMBLE TRBLE

,SET MAINT BIT & C(LERP GO B\ Y

,SET UP TO TRANSMIT 65 C(HRPHCTEPS
,SET THE GO BIT

,TRANSMIT ON LINE O

.HRIT FOR CHAR DONE FLRG

.CLEAR (HAR DONE FLRG
. INCREMENT CHRRACTEFC
"RPECE1YED COUNT




MR NOEC-11-D2D
gatHac Py

C13632
013634
013636

012640
013642
013644
0136562
013654
013660
013662
013666
013670
013674
012676
M2°00

c12°02
Q13704
012700
013710

012712
013716

013720
013722
013724
012726

N13730

Q12734

013736
013740
013742
013744

013746
013752

013754
013756
013760
013762

MR-C

DM11 LOG!C TESTS

22-NOV-77 17 67

005711
100402
104011

000417
005021
023727
0C1385
005777
100375
1057727
1002375
00&737
100401
104001
104006
00Ccc00
000000

000075
C13720
000144
013712
000075

gous3”
000001
000001

000076
013736
000144
13730
000076

04537
000002
000002

000077
013754
000144
013746
000077

004537
000004
000003

000100
0137272
000144
0137n4

001276 000100
165370
165362
001306

[}
[
wm
—
(a3
&

NC51ek

005164

E 5
MACY11 30¢1046) 30-NOV-77 09 34 PAGE 18-21

SeEQ@ 0056
TST (1) ,TEST TT ENTRY FOR VALID
BMI ke ,DATA ENTRY
ERROR! ,ERROR!' NO VALID DATA ENTRY
, TYPEQUT SHOWS # OF C(HARS RCVD WHEN ERROR OCCURED
BR 49 ,GO TO SCOPE
3% CLR (1)+ ,CLEAR TT ENTRY
EHE égTDRT,lSH ,HAVE 64 CHRRACTERS BEEN RECEIVED
N
TST dCSR ,WRIT FOR THE LAST (HARACTER
BPL -4 ,TO BE TRANSMITTED
TSTe oCSR . TEST FOR DONE
BPL -4
TST TUMTRB ,TEST FIRST TT ENTRY
BMI 4s ,FOR VAL ID DRTA
ERROR LERROR' POINTER DID NOT PETURN
4% SCOPE , SCOPE
R=0
Y=0
B P SN 0882300000000t aR 0000000080000 0008000500220 0 0000000000 2200000.
PT?S 75 ,ROUTINE ® 75 X
RT76 ., ADDRESS OF NEXT TEST X
100 , ITERATION COUNT ¥
BRKO , SCOPE ENTRY POINT X
X=¥+1

B P S 0002 T 000ttt et ettt ettt etoeeiiestistitoesstoesde:
.BPERAK TEST ON LINE O

BRKO JSR 5, BRKTST .G0 DO BPERK TEST
LBITO ,ON LINE O
Y=Y+1

RS 20T PSR TR T a0ttt ittt ittt sttt lotssettoter ittt stesotetes!

RFT7e ’6 ,ROUTINE # 76 b ¢
RT?? ,RDDRESS OF NEXT TEST b ¢
100 . ITERATION COUNT |
BRK1 ,SLOPE ENTRY POINT X
X=¥+1

D 33300030030ttt ettt R Rl ieitssotiottesei ottt ool
. BREAK TEST ON LINE 1

BR¥ 1 JSR 5. BRKTST . G0 DO BRERK TEEST
LBITY +ON LINE 1
Y=Y+1

B 0020003800830 0800080000008 0 8000300038000 00 0800000 000800 2R 0000000020

RT?> 7?7 .ROUTINE & 77 X
RT100 , RDORESS OF NEXI TEST ¥
100 , ITERATION COUNT 4
BRK2 SCOPE ENTRY POINT X
X=X4+1

B e S PRt TRt ettt ettt ettt ittt ittt
BREAK TEST ON LINE 2

BRkZ JSR 5, BEKTST , G0 DO BRERK TEST
LBIT2 .ON LINE 2
Y=Y+1

S 000t at Tt Rttt et Pt sRitsestiato sttt nelRteRetPe

RT100 100 .ROUTINE &% 100  §
RT101 , ADDRESS OF NEXT TEST 3
100 , ITERRTION CQUNT 3
BRM 3 . SCOPE ENTRY POINT ¥




MA'NDEC-11-DZOMR-C DM11 LOGIC TESTS

0ZDMAC Py

012764
013770

013772
013774
013776
014000

014002
Mud0e

0140140
aiso1l
Q1480184
Q14Q1o

014020
01402y

014026
014030
014032
01403y

014036
Q1N .l

014044
Oi14up
014050
014062

014054
014060

014062
c14064
014066
014070

22-NQV-77 17 &7

000100

00u4s37?
000010
000004

0C0101
014010
000144
014002
000101

00us37?
000020
00Co0s

000102
014026
000144
014920
oootaz

NO4537
00CoND
000000

000103
01404y
00014y
014036
0001C2

0ou537
030100
000007

N00104
014062
00014y
N1405y
000104

00463~
000200
000010

000105
014100
00G144
014072
0001N5

005164

005164

_CEipk

N0S1eb

005104

F 5
MACY11 30(1046) 30-NOV-77 09 34 PRGE 18-22

X=X+1
P23 08¢0 0003303300 00000000000 03222000 0000000000228 20000000002 222022000)
,BRERK TEST ON LINE 3

BRK3 JSR 5.BRKTST , 60 DO BRERK TEST
#BIT3 ,ON LINE 3
=Y+l

18 3 3000000008003 3 0038300888088 300820003000 0000000 0002000000080 00¢000000801%

RT101 101 ,RCUTINE #& 101  {
RT102 ,RADDRESS OF NEXT TEST 4
100 , ITERRTION COUNT |
BRKY ,SCOPE ENTRY PO NT X
X=X+1

BR300 PPt et e Rttt ettt testtoaistttoeetttoniotsteeioriessossse:
»BRERK TEST ON LINEt 4

BRKY JER 6. BRKTST . G0 DO BREAK TEST
LBITkH »ON LINE W4
Y=Y+1

S 07880033233 808023 8080000088008 80033000083 000 000830000030 3000 005208000348

PT102 102 .ROUTINE % 102 b ¢
RTI103 ,ADDRESS OF NEXT TEST X
100 , ITERATION COUNT ¢
BRKS . SCOPE ENTRY POINT  §
X=X+1

1 PPt 0 TRt e R PRttt el et ettt R tlseeos
.BPERK TEST ON LINE 5

BPKS JSR 6. BRKTST , G0 DO BRERK TEST
LBITHS .ON LINE 5
Y=Y+1

1 002 2¢0 0220080 Rt Rttt ettt ettt ettt iRt iteRettettoeesie!

RPTI03 102 .ROUTINE # 103 X
RT10u ,ADDRESS OF NEXT TEST b ¢
100 ., TERATION CQUNT |
BRK® SCOPE ENTRY PO NT |
¥=X+1

RERR SRR N R R LA R ANk AR PRI A KRR IR KRR EX RN XANRXX
BRERK TEST ON LINE b

BPr o JSR § BPRTST . G0 DO BRERK TEST
LB!Te .ON LiNE &
Y=o+l

S TR0 00 R RNttt ittt Rt Pttt Rttt eiisete:

PTI0OY {0y POUTIME & 104 ) ¢
RT105 ADDRESS OF NEYT TECZT ) ¢
100 . ITERART{ION COUNT X
BRR? , SCOPE ENTRY POINT |
Xz=X+1

AERRRE R AR R R RN TN RN RN AR RN NI RN A SRR A RIS AR ARNRRRNINR
BPERY TEST ON LINE 7

2] JSR 5, BPKTST .60 DO BRERK TEST
LBIT? .ON LINE 7
Y=Y+]

R SRR RO R R RNttt ettt R et R Rt Retists!

FT108 105 .ROUTINE % 105 |
RT100 . ADORESS OF NENT TEZT |
100 ITERATION COUNT
BPr 10 SCOPE ENTRY POINT |
LEA R A

SEQ 0057




G 5
MAINDEC-11-D20MR-C DM11 LOGIC TESTS MACY11 30(1046) 30-NJV-77 09 34 PAGE 18-23
D2OMAC PIY 22-NQV-77 17 &7 SEQ 0058

P 33200000 Pttt eP ettt ettt sstavesesioetieed:
.BRERAK TEST ON LINE 10

0140?72 00437 005164 BRK1O  JSR 5. BRKTST .60 DO BRERK TEST
014076 000400 LBIT10 .ON LINE 10

000011 Y=Y+1

BB S0 0 000000ttt ittt eetiotoietseetsseieesos

014100 000106 RT106 106 .ROUTINE # 106 X
014102 014116 RT107 .ACDRESS OF NEXT TEST %
014104 00014y 100 » ITERATION COUNT ¥
014106 014110 BRK11 ,SCOPE ENTRY POINT X

000106 X=X4]

B 0 S P 3000ttt R iRttt ettt sit ettt e tooetat ntesdote
.BRERK TEST ON LINE 11

J14110 004537 00514 BRK11 JSR 5., BRKTST .60 DO BRERK TEST
Cilé11y 001000 LBIT11 ,ON LINE 11

000012 Y=Y+1

St 00Tt RNttt PRttt eetitttetstittseiitttstettnttseeses

S21411e 000107 RT107 107 ,ROUTINE & 107 4
Q14120 01413y RT110 ,ADDRESS OF NEXT TEST b
014122 0N0014u 100 , ITERATION COUNT X
QIvi2N 014126 BRK12 , SCOPE ENTRY POINT

000107 X=X+1

e 20003020ttt R Rt P it ettt ettt ietetessodostts
"BRERK TEST ON LINE 12

Ol4lle 0DO4S3IT N051ck BRR12Z JSR E,BPKTST .GO DO BRERK TEST
014132 002000 LBIT12 ,ON LINE 12

000013 Y=Y+1

1 R0t ettt PRt 0030030003003 0300 0000002000000 0230000 00000

014134 000110 PT110 110 ,POUTINE & 110 ¢
O14136 014152 RT111 . ADDRESS OF NE¥T TEST ¢
014140 000144 100 , ITERRTION COUNT X
014142 01414y BRK13 , SCOPE ENTRY POINT 3

000110 X=X4+1

B St 0 33Tttt ittt ettt teRiR ettt toostotee!
,BREAK TEST ON LINE 13

o141y 004537 0DOS5iew BRK13 JSR 5.BRKTSY ,GO DO BRERK TEST
01+150 004000 LBIT13 .ON LINE 13

03001y Y=Y+1

SRR R R R R R AR IR A B R RN RN A R AKX AN IR NIRRT R RARRRN S

0lw16Z 000111 RT111 111 -POUT'NE & 111 X
01154 014170 RT112 .ADDRESS OF NEXT TECT X
Ciuibe 00014y 100 I TERATION COUNT X
Ol4lo0 014162 BRK1Y . SCOPE ENTRY POINT |

000 XzX+1

1S SRSttt P e R Rt R e oot et R R ae sl
.BRERK TEST ON LINE 14

014162 0NOuUG3? CIElpu BPK 1N JSR 5. BRKTIST . GO DO BRERK TEST
Otvt1eé 010000 LBIT1Y ,ON LINE 14

000015 Y=Y+1

PR TR XN AR X N RN AKX RN RS S E O AR RN AN NN RN ETENNY

014170 000112 FT11C 112 .ROUTINE & 112 %
Otu172 014206 RT113 . ADDRESS OF NEXT TEST
Ot4124¢ 00014y 100  ITERATION COUNT |
014176 014200 BRK15 . SCOPE ENTRY POINT %

000112 X=X+1

3SR RN SRR AR R RN e R R R R R RN R RS




MO N[EC-
o e [ [

11-020MR-C  OM11 LOGIC TESTS

IR

014200
Q14 20u

014206
018210
01e212
Otulte

MNelle

SelZl

- -

HO L
Tiwlle
S1e_20
KB 1 P

Clullu
014240

OtuleZ
01424k
014 kb
014250

T1e.62

M50

C i 0
Ttelel
Jie oM
Olv. o0

014270
014274

o147

014300
014302
O1u20w

22-NOv-?77 17 &7

004537
020000
000016

000113
014224
0CO1.4
014216
000113

004537
040000
000017

00C11u
01424l
NO01.4u
el
N0C1te

0Qus 35~
100000
000020
000000
000000

000115
014260
0001y
0142682
00011315

00us3>
030000
000001

000116
01427

000144
014270
00011

00853”
000002
000002

000117
(L RAL
00C1uk
01430
0oc11”

005164

0C%1pu4

(]
i
g

o
LAY
D

H 5
MACY11 30(1046) 30-NOV-77 09 34 PRAGE 18-2Y4

SEQ 0059
.BRERK TEST ON LINE 15
BRK1S JSR 5., BRKTST .00 DO BRERK TEST
LB!IT18 ,ON LINE 165
Y=Y+41
P 2 S 0 0000000000388 0000000000080 00000082300 0028000000000 0000000000008 ¢0¢81
RT113 113 ,ROUTINE # 113 ) §
RT11Y ., ADDRESS OF NEXT TEST X
100 , ITERATION COUNT b §
BRK16 , SCIPE ENTRY POINT ¢
X=X+1

B R D 0 0200 R Tt DRt Pt ee Rttt tetietieeeteetoestss:
.BRERK TEST ON LINE 16

BRr 16 JSR 5, BRKFTST .60 DO BRERK TEST
LBiIT16 ,ON LINE 16
=Y+

1SR PR3Pt R0 00 0000000000000 030000 0008000 RRRRRORPS!

FT11u IS .ROUTINE # 11y ¥
PT115 . ADDRESS CF NEXT TEST ¥
100 . TERAT ON COUNT 4
BRK17? , SCOPE ENTRY POINT  {
¥=vei

D e R R R R R R PO R oot Rl o e Rntestetachos
EPEMR TEST ON L NE 17

EPrt” JSR 5, 8RKTST .00 DU BRERK TEST
LBITET CN LINE 17
Y=zY+1
R=0
r=0

NS RPN RN TR R Attt ettt Rt ettt ettt iiets)

FT116 115 .POUTINE #115 X
FTlle ,ADDRESS OF NEYT TEST X
100 ITERRTION (QUNT p 4
DARTO SCOPE ENTRY POINMNT X
x=X+1

LIRS RN R KA R R N R AR RN AN RN AN AR RN AR NN I X NAREN AR ARRNR

.DATA TEST 100 CHARACTEF:S LINEQ .

DRTO JSP & DATTST .G0 PUN DARTR TEST N
LINEO .ON L NED
Yzr+]

AR AR AR N A SRR SRR AR RN XX AR AR R A X RN R NN AR RN I RN RN RN

PT1le 116 POUTINE #1116 ) |
RT11? . RDDRESS OF NEXT TECST b ¢
100 I TERRTION COUNT ) {
DRT1 SCOPE EMTRY POINT ) |
w=n+l

SRR EBER TR RN PR R R F RN R AN AR NN RN N R RN SRR RS AN RO A RN R RAN RSN
CATA TEST 100 (HARACTERS L NE1

CATY JSR 6 DRTTST . GO RUN DRTR TEZ=T
LINE1 .ON L INE1
r=Y+1
SR80ttt Rl e ettt R RNl PR R P Rt PRibs
FT117 117 .POUTINE #117 |
RT120 ADDRESS OF NEXT TEZT |
100 . TERATION COUNT 1
CRTZ SIOPE ENTRY P +INT 3
y=Ye




I 5
MA-NDEC-11-DZOMAR-C DM11 LOG!C TESTS MACY11 30(1046) 30-NOV-77 09 34 PRGE 18-25
[20MAC Py 22-NOV-77 17 &7 SEQ 00e0

RS0 23000 0003000008880 000000000 3020202000000 000200002000 00 V0000022000200 02022¢29%]
,DRTA TEST 100 CHARRCTERS LINE2

Q14306 004537 006020 DRT2Z JSR 5. DATTST . GO RUN DRTR TEST
014312 00000M LINE2 .ON LINEZ
000002 Y=Y+
RS2 2200000000000 0 000000 000000800 2288000 00000200 38820 0000022002202000000022208¢03
014314 000120 RT120 120 »ROUTINE %120 ¢
Oiu31e 014332 RT121 ~ACORESS OF NEXT TEST b ¢
014320 000144 100 » ITERATION COUNT X
) 014322 014324 DRT3 , SCOPE ENTRY POINT  {
000120 X=X |

BB 0P e Rt 0t ettt ottt Rttt ittt otatiteeetesRsedsasds
.DATR TEST 100 CHARACTERS LINE3

21824 004537 000320 DART3 JSR 5. DATTST ,G0 RUN CDRTA TEST
14220 000006 LINE3 ,ON LINE3

000004 Y=Y+1

R D020 000NN Rt R Rt R RN 0000200000380 0000300 0020000000 R P RO 0P CCPRRRSR!

Ci4332 000121 RT1Z1 121 ,ROUTINE #121  {
214354 014380 RT122 , ADDRESS OF NEXT TEST X
C14230 O0OCOfuu 100 , ITERARTION COUNT ¢
CleZul 01634l DART, ., SCOPE ENTRY POINT X

000121 ' X=z) +1

B S R P P P P P PRttt Rt iRttt ettt et e aReet st Riltitesessod:
DATA TEST 100 CHARACTERS L INEY

014342 DNOMB3™ o™ 1: CAT4  JSR €. GRTTST .GO RUN DATA TEST
014346 000010 L INEY .ON L INEY

000005 Y=Y+1

IR E 0338080000880 22080000 000000000000 0000000 0000008 00000 0Pttt eRiitteeeents;

014350 000122 PT12I 122 ,ROUTINE %122 ’ X
014352 0i43Ibb RT123 . ADDRESS OF NEXT TEST X
014354 000144 100 . ITERRTION COUNT X
014356 014360 DATS , SCOPE ENTRY POINT X

000122 X=X +1

B R S PO P PPttt PP Rttt Pt e ottt ettt
»0ATR TEST 100 CHARACTERS L INES

014260 004537 00020 DRTS J_R 5.DATTST . G0 RUN DRTR TEST
014264 000012 L INES »ON L INES

030006 Y=Y+

0 et P R R R R R PR PPl oo N et R AR PRttt ies ittt

O14’ee 000123 PT123 123 .POUTINE #123 ¢
014370 018404 RT124 .ADDRESS OF NEXT TE=T X
014272 00014y 100 - ITERATION COUNT - X
Q14274 014376 DARTe . SCOPE ENTRY POINT |

000123 X=X+1

AR R R KR AR AR AR RN N RN RN SRR R R NN N RN AR AR N A RN
DATA TEST 100 CHRRACTERS LINEG

014376 004537 0C0e020 CATe JSR 5, DATIST . GO PUN DRTR TESY
o1440Z 000014 LINEG .ON LINE®

000007 Y=Y+1

R D P d ettt AT R PRt 0000t et R Re R il PR R ns Rt eesoteesy

Ot4404 000124 FT1Z4 124 . ROUTINE #124 X
O14406 014422 RT125 , ADDRESS OF NEXT TECST |
014410 000144 100 - I TERATION COUNT X
o141z Dib414 DRT?7 . SCOPE ENTRY POQINT |

000124 XzX+1

SATERRTRRRRAR KSR KRR TSR AER TR NN RN R RN R AR R B sda it e v tstsaanning
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D2OMAC P11

O1uu1y
014420

o14u22
014424
014426
014430

01wy 32
Cluule

C1e440
o1uuyz
Cluvuy
014446

014450
014454

014456
014460
O14462
O144eN

014466
01442

Q144 7y
014470
014800
Q145802

014504
014510

014512
014514
014516
014520

22-NOV-77 17 57

004s 37
000016
000010

000125
014440
0CO144
014432
000125

004537
000020
000011

000126
014456
000144
014450
000126

0Qus3”
0000c2
000012

000127
014474
000144
014466
000127

00537
000024
000013

000130
N14612
000144
014504
000130

004537
000026
000014

000131
014530
000144
014522
006131

006020

006020

00uQl0C

A0vd20

d0wN_C

J 5
MACY11 30(1046) 3JO0-NQV-77 09 34 PRGE 18-26

.DATA TEST 100 CHARACTERS LINE?

DAT? JSR 5, DATTST .60 RUN DRTAR TEST
#INE? ,ON LINE?
=Y+1

B 532020020 0000080080000 03 8002300000220 0 2220020020023 000 002200002030 20 023002004

RT125 125 .ROUTINE #1265  {
RT126 , RODRESS OF NEXT TEST
100 , ITERATION COUNT 4
DAT10 ,SCOPE ENTRY PO NT |
X=X+1

PR 2220000000000 00 0020300000000 0 0032000000220 2200200202 00000000220 00022222 20202000 %]
. DATA TEST 100 CHARACTERS LINE10

ORT10 JSR 5.DATTST . GO RUN DARTAR TEST
LINE1O ,ON LINE1D
YzY+1

B 0000800005000 02000000000 00000000000 0000000202000 0000020000222 000002000020 0009

RT126 126 .ROUTINE #126 X
RT127 . ADDRESS OF NEXT TEST |
100 . I TERATION COUNT X
DRT11 . SCOPE ENTRY POINT X
X=X+1

B 0 000 0003000ttt l 0ttt Rttt ottt ettt se o tiseiotisol
DATA TEST 100 CHARACTERS LINE1!

DAT11 JSR 5. DATTST , 00 RUN DRTA TEST
LINE11 .ON LINE11
Y=Y+1

IS S 20000 0300000008000 000800000333 0000 0000000000003 80 020 R 0 2000000002884

PT127 127 ,ROUTINE #127 |
RT130 ,ADDRESS OF NEXT TEST ) §
100 . ITERATION COUNT |
DRT12 » SCOPE ENTRY POINT |
X=X+1

B 0 020000 PRt ettt Rttt ettt iRt R ottt eoretotsssotist
,DRATA TEST 100 CHARACTERS L INE12Z

DPAT12 JSR 5, DATTST , G0 RUN DRTA TEST
LINE12 ,ON LINE12
Y=Y+1

I 0 80000 0203280000200 000000000ttt ettt sttt ittt ettt ottt itosies

RT130 130 ,ROUTI'NE #130 |
RT131 ,ADDRESS OF NEXT TEST ¢
100 , ITERARTION COUNT |
DAT13 , SCOPE ENTRY POINT b ¢
X=X+1

TP P 30000008080 00000000 Rttt iRl ot ROt it i tissoibs)
.DATA TEST 100 CHRPACTERS LINE13

DAT13 JSR 5, DATTST ,G0 RUN DRTR TEST
LINEL3 ,ON LINEYZ
Y=Y+1

B RS 0340800333000 00007808000 00¢03330¢ 000200 000200002 RRRRRR R CR P00 0000000

FT131 131 .ROUTINE #131 X
RT132 . ADDRESS OF NEXT TEST |
100 , I TERATION COLNT |
DAT1Y , SCOPE ENTRY POINT |
X=X+1

R R PR PP PR Rt et P et ettt et e RN PR PR Reelt!
DATA TFST 1N0 CHRRACTERS LINELY

SEQ 006t
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014522
014526

014530
014532
014534
014536

Q14540
O1ubuy

21646
1145650

Q1u662"

Z1u65Y

Q14650
O014Sb.

014564
014566
014570
014872

018574
014600

0140l
U14o0h
014600
Jiunl0

Oive12
014616
014622
014624
014626

22-NOy-77 17 57

004537
000030
000015

000132
014546
000144
014540
000132

004537
00C032
000016

000133
014564
00014y
014556
000133

00usC"
0000 Y
000017

000134
014602
000144
0145674
000134

004537
300036
0ou020

030135
015202
000144
014612
000135

005037
00us53?
001306
001307
00017~

006020

006020

006020

000020

001200
005”32

K §
MACY11 30(1046) 30-NOV-77 09 34 PRGE 18-27

DAT1Y JSR 5. DRTTST , G0 RUN DRTAR TEST
LINE1Y .ON LINELY
Y=Y+1

MBS0 2408200808 0038 3000000800003 80203 0333030303000 2000000002003 020002000202020002¢4

RT132 132 .ROUTINE #132 ¢
RT1133 , ADDRESS OF NEXT TEST ¢
100 , ITERRTION COUNT  §
DART15 . SCOPE ENTRY PO NT X
X=X+1

BB $ 3 0 S0t Pttt Pt PR R R TRttt i sttt toRetstitettssessaettott sl
,DATA TEST 100 CHARRCTERS LINE15

DAT1S JSR 5. DRATTST .60 RUN DRTR TEST
LINE1LS .ON LINE185
Y=Y+1

B 3380800733003 0 800000080 0000000800 8000800 330030000000 000 0000000002000 20000000¢%¢

RT133 133 ,ROUTINE #133 |
RT134 , ADDRESS OF NEXT TEST b ¢
100 , ITERATION COUNT X
DAT16 , SCOPE ENTRY PO NT X
X=X+1

RS PSP P PPt PPN Rt R R PRttt ottt iieseiseiobesRtit etoneestseeos:
,DRTA TEST 100 CHRRACTERS LINE16

fRT1e JSR 5. DATTST .00 RUN DARTR TEST
LINEl1G .ON LINEl1D
Y=Y+1
0 0D PP S e PR RPN RSt 0 it P00ttt sttt Rttt elateeiaRbReetitottesse!
FT134 134 .ROUTINE #134  §
. RT135 , ADDRESS OF NEXT TEST 4
100 , ITERATION COUNT
DAT1? , SCOPE ENTRY POINT X
Y=X+1

1 S S S S PP PR PP PRttt iiPeteteeettttise it loeitetoeessediteeter.
.DATA TEST 100 CHARACTERS L INEY?7

DAT1?  JSR 5, DATTST ,GC RUN DRTA TEST
LINE1? ,ON LINE1?7
Y=Y+1

R0 80000200 N RNt sttt sttt ettt iier et oot toteetOntsttiod

RT135 135 ,ROUTINE # 135 X
RT136 ,ADDR OF NEXT ROUTINE  {
100 . ITERRTION COUNT x
RT135A ., SCOPE ENTRY POINT X
X=X+1

PP RNt P e e Rt ettt el PRt Pttt ietieeiot ettt e e sl

.TEST THAT DARTA (ALL 1'S) (AN BE TRANSMITTED NN LINES SIMULTANEOUSLY
THE FOLLOWING TESTS ARE PERFORMED

THERE ARE 16 DATR ENTRIES

THERE ISN'T A 17TH ENTRY

DATA RECEIVED IS CORRECT

ONE DRTRA ENTRY PER LINE

FT135R CLR TUMTRB ,CLERR THE
JSR 5, BHOVE » TUMBLE
TUMTAB . TABLE
TUNTAB +1 . 1200
177 CENTRIZS

SEQ 0062
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p2OMAC P11 22-NOV-77 17.57 SEQ 0063
014630 012737 177777 016564 MoV #-1,0UTBUF .LOAD CHAR INTO OUTPUT BUFFER
014636 005000 CLR %0 .SET RO = LINE O
O14e40 012737 000001 001272 MOV #$LBITO,LINBIT~ ,GET LINE BIT
Qluee 012777 000001 164374 MOV #8170, CSR »,SET THE GO BIT
Ol14e54% 010037 016412 19 MoV %0, LINE »GET LINE NUMBER
014660 004537 005754 JSR 5.XMITD . TRANSMIT 1 CHAR
Ol4ee6N 177777 -1 »ON ERCH L INE
014666 0C5720 TST (0)+ , INCREMENT LINE NUMBER (+2)
014670 006337 001272 ASL LINBIT ,SHIFT LINE BIT TO NEXT LINE
014674% 103367 BCC 19 +BRANCH IF ALL L NES NOT DONE
014676 013737 0OC40?4 DN1470e iy TIMEL, 29 »PUT TIiME TO TRANSH T 1 CHRR
C14704% 104400 CELRY »OELAY 1
014706 00COQO 2% OPEN » CHRARACTER TIME
014710 017737 104336 N0O1274 MOV dBAR. RCVDAT ,GET & TEST BAR CONTENTS
Ciu?16 001410 BEQ 3% »BRANCH IF O
Q14?720 005037 001276 CLR XMTDAT
014724 104011 ERPOR1 .ERROR!' BRAR NOT CLERR AFTER ALL
014726 005077 164320 CLR JBAR .LINES FINISHED
014732 005077 164312 CLR oCSP
014736 000520 BR 169 .60 TO EXIT
Q14”40 C32777 020000 14202 39 BIT #b1T12. QCSR , TEST THAT OVER RUN DID NOT SET
014746 001404 BEQ 4%

Q14780 104001 ERPOR .ERROR' OVER RUN BIT SET
014762 005077 164270 CLR JCSR
014?56 000510 BR 169 .60 TO EXIT

.TEST THRT THERE ARE 16 VAL D DATA ENTRIES
014760 005077 164ZeM 49 CLR oCSR .CLERR THE CSR
014764 012702 000020 MOV #le , %2 +GET TT SCAN COUNT
014770 01z2701 0C13006 MOVY #TUMTARB, "1 .GET FIRST TT RDDRESS
014774 005302 5% DEC %2 - DECREMENT SCAN COUNTER
014776 100404 BM! 6% ,BRANCH IF 16 ENTRIES SCANNED
015000 005721 TST 1)+ . TEST FOR VAL ID DRTA ENTRY
0160G02 100774 gMi 5% ,BRANCH IF FOUND
015004 104001 ERROR .ERROR' MISING DRTR ENTRY
015006 000474 BR 169 .60 TO EXIT
015010 005’21 () TST (1)+ . TEST 17TH ENTRY (SHOULD BE - TO O)
015012 031402 BEQ 7S »8RANCH IF O
G16801% 104001 ERROR LERROR!' EXTRA DATR ENTRY
015010 000470 BR 169 .G0 TQ EXIT

.TEST THAT THE DATA 1S CORRECT IN ALL 16 ENTRIES
016020 012701 001306 R MOV $TUMTRB. %1 LGET FIST TT RODRESS
01502« 012702 00NCZ0 MOV #l6 . %2 +GET SCAN COUNT
015030 00530< &% DEC %2 . DECREMENT SCAN COUNT
016032 100421 BMI 109 +BRANCH IF 16 ENTRIES SCRNNED
015034 013737 Ole504 00127%v HOV OJTBUF. XMTDRT  , GEY TRANSMITTED DRTA
015042 043737 001300 001276 8iC CARMSK, XMTDAT  , CLERR NON-TRANSHM!'TTEC BITS
015050 113737 001206 001274 MOVB TUMTAB.RCYDAT . GET RECEIVED DRTR
015056 123737 001276 0OCG1.74 (MPB XMTDAT, RCYDAT  , COMPARE DRATA
015064 001402 BEQ 9.
015066 104011 ERROR1 ,ERROR INCORRECT DRTAR
015070 000u42 Bk 169 .60 TO EXIT
015072 005721 as TST (1)¢ . INCREMENT TT RCODPESS

016074 000755 8F 8% ; TEST NEXT ENTP«




MR INDEC-11-D20MR-C

p20MAC Py

015C76
215102
015106
015110
016112
015116

015120
015124
n15130
015134
015140
GiSikk
015146
015150
0151582
01515¢
015160
015162
015164
015166
015170
015176
015200

015202
015204
015206
015210

016212
015220
015224
016230
016232
01823

015236
QI62%4
015252
C15256
015260
015264
015266
015270
015276
015300
0156306
015314
01531¢
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012701
012702
005302
100403
042721
000773

005037
012701
012762
012700
023720
001406
005302
001373
005037
104011
00o407
005301
005701
001404
Qel737
0CGC75u
104006

000136
0155106
0001 4k
015212
0001 3vb

014737
005037
0ous3?
001306
001307
000177
0127277
Q12777
106777
100375
005077
104400
000000
0227277
001410
N1723?
012737
104011
00G+’0

001306
000020

160777

001276
200020
000620
001306
61276

No1Z7y

01500

o407y
001 30w
005732

n00001
1222727

162772

163770

100201

163744
000201

DHit1 LOGIC TESTS

001276

015266

1ohOlu
o002

163752

001274
N01Z"e

M 5
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,CLERR ALL BUT LINE NUMBER IN TUMBLE TRBLE ENTRY

10¢ MOV $TUNMTRB, %1 ,GET FIRST TT RDORESS
MOV #16 . %2 ,GET SCAN COQUNT
118 DEC %2 ,DECREMENT SCRN COUNT
BMI 129 .BRANCH IF ALL LINES TESTED
RIC $160777. (1) + ,CLEAR ALL BUT LINE NUMBER N TT
BR 11§ ,D0 NEXT TT RDDRESS
,TEST THAT THERE IS AN ENTRY FOR ERZH OF THE 16 LINES
12¢ (LR XMTDAT
10V $16 . %1
138 MOV $16 . %2
MOV $TUMTRB. %0
14% CMP XMTDAT. (0 + ,TEST FOR LINE ENTRY
BEQ 156 ,BRANCH IF FOQUND
DEC %2 ,DECKEMENT SCAN COUNT
BNE 149 ,LOOK AT NEXT ENTRY
CLR RCUYDAT
ERROR1 ,ERROR' NO ENTRY FOUND FOR T4 S L NE
BR 159 .80 TO EXIT .
169 DEC %0 .DECREMENT L INES FOUND COUNT
LN w1
BEQ 16% ,BRANCH IF ALL L'NE TESTED
RDD #1000, »MTDAT , INCREMENT L INE NUMBER
BR 13% .G0 DO NEXT L INE
106 SCOPE , SCOPE
1D 0 PPt Rttt N RN Rttt it sttt ittt ttce ottt oneainsteetsd
PT12e 136 ,ROUTINE & 136 b {
KT137 ,ADDR OF NEXT ROUTINE 4
100 , ITERRTION COUNT X
RT1Z6R . SCOPE ENTRY POINT 4
X=X+1

PRt P Pl RNt RPNt Rt PO cetrtoRertesieds!
.TEST THAT THE DM11 CAN TRANSMIT A BPERKX ON ARLL LINES SIMULTRNEOQOUSLY

RT136R MOV esTIMEL 16 LGET TIME TO TRANSM!IT CHE CHARACTER
CLR TUNTAB . CLERR
JSR 5. BMOVE . THE
TUMTAB . TUMBLE
TUMTRB +1 - TABLE
177
MOy #B170. SCER .SET &0
QL #-1 IBKCSK ,SET BRERAK BIT FOR ALL LINES
1518 oL 5K ,WAIT FOR THE RECE1VER
BPL -4 . TO RECEIVE R BRERK
CLR JEr (R .CLEAR ALL BREAK BITS
DELRY -WAIT ONE CHRARRTEP
19 OPEN . TIME
cne 8201, 9CSR . TEST THAT ONLY GO ANC DCNE RPE SET
8eQ 28
MOV o(SP, RCYDRT .GET CSR ENTRY
MOV %201, XNTDAT ,GET CORRECT RESULT
ERFOR1 CERROR! INCORRECT CSP DRTA
BR 136 LJEXIT

1EST THAT THERE IS 1o VALID DRTR ENTPIES

SEQ OOey
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L2OMRC P11

16320
015324
016330
016332
015334
015336
016340
015242

015344
015380
015354
015260
018362
01564
115366
118270

015372
015276
015402
015404
015406
015410
015412
015414
015416

0165420
015424
015430
0154 34
015436

Q15440
J16842
016446
015452
J16u456
015460
c15462
015464
015466
015472
015476
015500
015502
0165504
015506
015512
015514
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012701
012702
005721
100402
104001
000466
005302
0C1372

012701
012702
032721
001002
104001
000452
£05302
001371

12701
012702
105721
001402
104001
000u4u1
105721
005302
001371

012701
012702
042721
005302
001374

005004
012703
012702
012701
020421
001410
005302
00137y
010437
o10437
104011
ooon0s
005303
001403
062704
00G755
104006

001306
oooozoe

0C1306
000020
040000

001306
000020

001306
000020
160777

000020
000020
001306

C01Z7%6
001274

001000

MRCY11 3C(1048)

4s

6%

69

=%

s

129

N 6§
30-N9V-77 09 3¢« PRGE 18-30

MOV STUNTAB. %1 .GET TUMBLE TRBLE BASE RDDREeSS
MOV $16 . %2 ,GET SCAN COUNT
TST (1)+ ,TEST FOR VAL ID DRATR ENTRY
BM 4s .BRANCH IF VRALID DRTA ENTRY FOUND
ERRNR ,ERROR! MISSING VAL!D DRTA ENTRY
BR 13§ JEXIT
DEC %2 ,DECREMENT SCAN COUNT
BNE 39 .BRANCH IF 16 ENTRIES NOT SCRNNED

TEST THRT THE BRERAK BIT IS SET IN 16 TUMBLE TRBLE ENTR ES
MOV $TUMTARB. %1
MOV $16 ., %2
B T $BITIM. (1) ¢ .BRERK BIT SET”
BNE (1) ,BRANCH IF SET
ERROR ,ERROR' MISSING BRERKr 81T
BR 139 LJEXIT
OEC "o . . DECREMENT SCRAN COUNT
BNE 1)

.TEST THAT THE TUMBLE TRBLE DRTR BYTE IS ALL O'S
MOV $TUMTAB, 1
MOV $16 . %2
TSTB 1)+ .TEST DRTA BYTE
BEQ 89 ,BPANCH IF O'S
ERROR .ERPROR' INCORRECT DRTA
BR 139 EXIT
TSTB (114 .STEP TABLE POINTER TOQ NEXT DWRTA BYTE
DEC %2
BNE 79

CLEAR ALL BUT LINE NUMBEP IN TUMBLE TABLE ENTRY
MOV $TUMTARB. 1
MOV #16 . %2
BiC $160777 i+ SLLERP ALL BUT LINE NUMBER
DEC %2
BNE 99

.TEST THAT THERE 1S A TUMBLE TRABLE ENTRY FGR ERCH L INE
CLR AT .CLEAP L «NE NUMBER
MOV $1o . %3
MOV $16 .%2
MOV #TUMTAB %1
CMP 4,1+ ,TEST FQR LINP ENTRY FOR THIS LINE
BEQ 129 .BRANCH 1F FOQUND
DEC %2
BNE 11§
MOV %4, XNTDAT
MOV %4, RCYDAT
ERRORY ,ERROR!' NOQ LINE EMTP, FOUND FOP THIS LINE
BR 139 JEXHT
DEC %3 o -ALL LINES BEEN FOUMND
BEQ 139 JEXIT IF YES
RDD #1000. %y , SEARCH FOR
BR 109 ~NEXT LINE
SCOPE . SCOPE

139

RS SRR R P SRR R PRt e P RS R R R Rt lts

SEQ 0065

- — —_———
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020MRC Py 22-NOV-77 17 57 SEQ 0066
015516 000137 RT137 137 .RQUTINE % 137 X
015520 G15534 RT140 , ADDR OF NEXT ROUT NE ¢
015522 000u02 2 , ITERATION COUNT ¢
01652¢ 015526 RT137R . SCOPE ENTRY POINT ¢
000137 X=X+1

B S S 03Pt 0080000000000 0000000003000 00022002 0000020002020 00092¢
,TEST TO TRANSMIT ON ERCH LINE WITHF R DELAY BEFORE STAT NG THE

- NEXT LINE
015526 004537 005310 RT1I7R JSR 5. 8DLYXNT ;G0 DO TEST DELRY
015532 000040 32 » THIS MUCH BETHEEN L NES

A0S S0Pt PP P00 00000000008 0300020000000 0000002022 222280028000%)
0155834  00C1i40 RTI40 140 »ROUTINE # 140 X
016536 015552 RT1W1 »RADOR OF NEXT ROUTINE X
C155u0 000002 2 » ITERRTION COUNT
Q15642 015544 RT140R ,SCOPE ENTRY POINT X

000140 X=X+1

0 3 88 7320 800 P 00ttt erittstteetreetostet st
.TEST TO TPANSMIT ON EACH LINE WITH A DELRY BEFORE STAT NG THE

. NEXT LINE
015544 004537 GOS3IF RTINOR JSP 5, R0OLYXNT ,60 DO TEST DELRY
015550 000020 16 . THIS MUCH BETHEEN LINES

B 2SS R0 P E ettt PPt 2000000000000 000000002802 2002020020082
016552 000141 PT14! 141 .ROUTINE # 141 X
015554 015570 RT142 .RDDR OF NEXT ROUTINE  §
015566 0C000C 2 , ITERATION COUNT X
015560 016560 RTI41A , SCOPE ENTRY POINT X

000141 X=X+1

S e RS PR P 0ottt etiitetintteenteesoeoeiiteseototsos
TEST TO TRANSMIT OM ERCH LINE WITH A DELAY BEFGRE STATING THE

-NEXT LINE
0168862 004537 006310 RTI141A JSR 5. o80LYXMT .GO DO TEST DOELAY
015506 000010 8 » THIS MUCH BETWEEN LINES

1 30 Rt e RO P PRttt ittsstititaotessisooetosss
015570 000142 RT14Z 142 .ROUTINE & 142 X
016572 0:i5606 RT143 . ADDR OF NEXT ROUTINE X
J18574 000002 2 , ITERATION COUNT X
016670 115600 RT142A » SCOPE ENTRY POINT X

000142 X=)¥4+1

B T ettt Rt R R er et ett oot tiReeitttateoiseeeotoboceceiiis!
TEST TO TRANSMIT ON EACH LINE WITH A DELRY BEFOPE STRTING THE

-NEXT LINE
015600 008537 0OC&310 PTI142R JSR 5, 9%DL YXUT .GO DO TEST DELRAY
015604 000004 4 - THIS MUCH BETWEEN LINES

B S S Tt PRttt R RN R R sttt soeeRe ettt bodss
015606 000143 PTI43 143 ,ROUTINE & 143 X
015610 015624 RT144 .ADDR OF NEXT ROUTINE ¥
015612 000002 2 » ITERATION COUNT X
015614 015616 RT143A » SCOPE ENTRY POQINT ¥

000142 X=X+1

B R0 00020003000ttt ettt iRt antl
TEST TC TRANSMIT ON EACH LINE WITH A DELAr BEFLPE ZTATiHu THE




MAINDEC-11-D2DMA-C DM11 LOGIC TESTS
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020MAC P11y

015616
015622

015624
015626
015630
015632

015634
015680

15642
(1804l
C18pke
C16%60

015652
015656
015662
015670
015676
015704
015712
015720
016724
015726

18732
015740
015742
015760
015756
015760
015762
0156770
015772
015776
016000
016004
016006

016010
C1e012
016014
016016

004537
000u02

00014y
015642
000002
015634
00014y

004537
000001

000145
016010
000144
015652
0o 1us

00c037
005037
012737
012737
012777
012777
012777
105777
100375
005077

022737
001410
013737
012737
104011
0ogos0?
013737
001403
005037
104011
005777
100375
104006

0001k4o
177727
NO0144
016020

005310

005210

00130e
001310
J16564
17722727
000007
000001
000002
163324

163322

141000
001306
141000
001310
0127
163244

001106
N011ue
163344
163340
163334

001306

J01274
00127

No1274

( 6
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NEXT LINE

RTI43R JSR 5., o8DLYXNT ,GO DO TEST DELRY
2 »THIS MUCH BETWEEN L NES

D 0200000000000 0000080008000 08¢0 00300038000 800200000002000 00002002009

RT14Y 14y JROUTINE # 14y X
RT145 ,ADDR OF NEXT ROUTINE X
2 , ITERATION COUNT b {
RT144A , SCOPE ENTRY POINT b
X=X+1

10 0 0 P00 0 PP b0ttt et PPttt teitesiotetoteroteetttetde:

,TEST TO TRANSMIT ON EACKH LINE WITH R DELRY BEFORE STATING THE
+NEXT LINE

RTIYYR JSR 5. o¥DLYXNMT ,60 DO TEST DELRY
i ,THIS MUCH BETWEEN L INES

I S 0002002320000 0 20200 0800020303300 2 0003200003008 000200000000020 020000009

RTIUS 145 ,ROUTINE # 145 X
kRT146 .RDDR OF NEXT ROUTINE X
100 , ITERATION COUNT X
RTI4ER , SCOPE ENTRY POINT ) ¢
AzR+ |

18 88 PSSRt 000 ettt eestttetoeeotiotteetetoeeetsseesens

. TEST THAT THE DMI1 WORKS PPUPERLY WHEN THE HALF-DUPLEX B T (CSR B T 1)
. 1S SET THE TEST TPANSMITS DATA ON LINE 0. AND 'BREAKS' ON LINE 1 ONLY
. THE BREAK SHOULD BE RECEIVED ON LINE O IN THE TUMBLE TRBLE

PTI45R (LR TUMTRB . CLEAR THE FIRST THOQ

CLR TUMTRB+2 . TUMBLE TRBLE ENTPIES
MoV #0UTBUF ., CAT .SET UP TO
MoV -1, HCT . TRANSMIT 1 CHARACTER
MoV #7,d(SR ,SET GO, HALF DUPLEX & MRINT BITS
MOV %¥LBI1TO, dBAR ,TRANSMIT 1 CHAP ON LHNE 0
MOV #LBITY1. PBKCSR .SET BRERK ON LINME 1
TSTB ACSR ,WRIT FOR THE CHRRACTEP
BPL -4 .70 BE RECE!VED
CLR #BK(SR ,CLERR THE BREAK BIT ON LINE 1
.TEST THAT ONLY THE BRERK WAS RECEIVED
CHP $141000. TUMTAB . TDST FOF BRERK ENTPY (LINE 1)
BEQ 19
MOV TUMTAB, RCYDAT . GET RCTURL ENTRY
MOV $141000, XMTOAT . GET CORRECT ENTOY
EFRORI ,ERROR! INCORRECT BRERF ENTPRY
BP 2% .60 TO EXIT
1§ MOV TUNTAB+2. RCVMDAT , TEST THRT NEXT ENTRY IS CLEAR
BEQ 2% CEXIT IF CORRECT
CLP XMTORT
ERROR1 -ERROR! SECOND ENTRY WRS NOT CLERP
< TSY oC Sk HAIT FOR THE TRANSMITTEF
BPL -4 »TO FINISH
SCOPE , SCOPE
R R Rt T SR R Rt R bR ettt R nistiatey
FTiko 146 ROUTINE % 14e X
RTLARST ,ADDR OF NEXT ROUTINE '
100 I TERATION COUNT ¥
PT14nRA SCOPE ENTRY PO NT ¥

SEQ 0067
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DIOMARC P11 22-NOy-77 17 57 SEQ 0068

000146 X=X+1
B 230030000 80003000000 038000 0002000800800 3050¢0020000¢000 080000022002 8%02%]

. TEST THRT THE DM11 RESPONDS CORRECTLY TO R RESET

016020 012737 016564 001106 RT14e6R MOV #OUTBUF, (AT ,SET UP TO TRANSMIT 10
0160Z6 012737 177770 001145 MOV #-10. HCT . CHARACTERS ON LINE O

016N34 013737 00407« 016104 MoV TINE1, 2% ,GET TIME TO TRANSMIT 2 (HRRACTERS
016042 013737 004074 016150 MOV TINE1, 6%

016050 005037 001276 CLR XMTDAT

016054 012?777 000007 163166 MOV %7, 9CSR »SET MAINT , HALF DUPLEX & GO BITS
016062 012777 000001 163162 MOV #LBITO, ¢BAR .STRART TO TRANSM T ON LINE O
016070 012777 000002 163156 MOV %LBIT1, 9BKCSR . BREAK ON LINE 1

016076 012704 000002 MoV #2. %k

016102 104400 19 DELRY +HAIT 2 CHARRCTER

C1e104 000000 29 OPEN » 7 MES

Nec106 005304 DEC A

J1e110 001374 BNE 1%

Cle112 104005 SRESET .RESET

Jloli4 017737 163130 oL 27W MOV dCSP. RCVDAT ,GET CSR CONTENTS

Q16122 001401 BEQ 3% +BRANCH IF 0

C16124 104011 ERROR1 ,ERROR!' CSR DID NOT CLERP
O1vll6 017737 163120 NOIZ74 3% MoV dBAR, RCVDAT »GET BRAR CONTENTS

01o13% 001402 BEQ 4% ,BRANCH IF O

016136 104011 ERROR] ;ERROR! BAR IS NOT CLERF
016140 0NOOuZ? BR 9% CEXNT

016142 012704 ~C27130 48 MoV R85 . %4

016146 104400 £$ DELAY HAIT 8 MORE CHRRARCTER TIMES
016150 000000 e$ QPEN

016152 005304 DEC 4

016154 001374 BNE £$

0t1e156 017737 1630 DC1-7Y MoV dCSR. RCYDAT . TEST THAT CSR IS CLERR
016164 001402 BEQ 7%

016166 104011 ERRORI ,ERROR' CSR WRS NNT CLEAR
016170 000413 BR 9% »GC TO EXIT

016172 017737 13054 001274 7% MOV dBAP . PCULAT . TES THRT BAR IS CLERR
016200 001402 BEQ 8%

016202 104011 ERROR1 LEPROR' BAP D D NOT CLERP
016204 030405 Er 9%

016206 017737 163042 0NO127°4 89 MOV dBKCSP.PZDAT . TEST THRT BrCSP 1S CLERR
010214 001401 BEQ 99

“iello 104011 ERROR1 .ERROR' BKCEP DIC NOT CLERP

C1elZ0 104006 s SCOPE SCOFE




E 6
MRAINDEC-11-D20MR-C DM11 LOGIC TESTS MACY11 30(1046) 30-N9V-77 09 34 PRGE 19

p20MRC P11 22-NOv-77 17 &7 SEQ 0069
,PRG1- TRANSMITTER SCOPE LOOP
016222 PRGI »BEGIN
016222 104000 TYPE »TYPE PROGRAM T TLE
016224 017543 PRG1IHM
016226 004737 016402 JSR 7. PARAN ,G0 GET USER PRARAMETERS
016232 004737 016454 PRGIR  JSR 7,L00P , GO LOOP TRANSMITTER
016236 005777 163010 PRG1B  TST JBAR +WAIT FOR ALL LINES TO FIN SH
016242 0C1375 BNE PRG18 »BRANCH |F NOT DONE
016244 005077 163000 PRGIC  CLR OC SR ., CLEAR THE (SR
016250 305037 016264 CLR PRG1D . CLEAR DELRY TIME
016254 117737 162623 016264 Move dSHR+1.PRGID .GET DELAY
016262 104400 DELRAY ,DELAY RS SPEC F'EL
Cle2e4 00COO0C PPGID  OPEN .BY USER

MelZee 000761 8P PRGIP , LOOP BRC(CX




MRINDEC-11-D20MA-C  DM11 LOGIC TESTS
22-NOv-77 17 57

D2OMRC P11

016270
016270
016272
016274
016300
016304
016312
016316
016320
016324
01e326
016334
01e240
Q1le342
o34
C1n360
D1e352
Olv356
016262
0l1el66
0137y
016370
01ek00

O1e402
Ote40u4
016406
ot1e412
016414
016416
016420
Ot16424
Olod26
Otle643u
Oteu 36
010440
016442
Olohly
Oloklo
O1o480
Clows2

C16454
Cle462
016466
016470
016472
016474
016502
016510

104000
017561
004?73?
0047.7
012777
005777
001415
105777
100372
Qw2777
020127
001002
012701
005721
000755
005077
005077
005037
117737
104400
000000
ono~z3”

104000
017600
004537
000000
104000
017623
DO4S3?
00uU000
023727
101403
104000
01744y
000764
104000
017467
108015
060.8°

117737
0ous3?
016504
016565
000307
012777
012737
oous7?

016402
016454
000001
162734

162724

000200
001504

001304
162e72
162¢70

016376
162511

NOuw1_u

ooN1lY
O1eulh

162422
0057132

001100
N1e50u4
nes~3l

162736

16271

Clei”s

aonz10

N1o5p4

MACY11 30(1046)

F &

JO-NOV-77 09 34 PAGE 20

.PRG2- RECEIVER SCOPE LOOP

PRG2
TYPE
PRG2M
JSR
PRG2R JSR
PRG2R MOV
PRG2RA TST
BEQ
TSTS
BPL
BicC
CMP
BNE
MOV
ST
BR
PRG2B  CLR
CLPR
CLP
MOVB
DELRY
PRG2C OPEN
- BP

7. PARAN

7,LO0P

%8170, (SR

JBAR

PRGZB

oC SR

PRGZARA

#8177, 9CSR

%1, 8TUMTAB+176
+6

#TUMTARB-2. %1
1)+

PRGZA

dC SR

oBAR

PrG2ZC

OSHR+1. PRG2C

PPSZR

.BEGIN

. TYPE PROGRAM

+TITLE

.60 GET USER PARAMETERS
»G0 START TRANSHITTER
,SET GO, CLERR THE OTHERS

+HAYE ALL LINES SELECTED F N SHED
,BRANCH IF FINISHED TRANSMITTING

+HAIT FOR THt RECE VER TO
LRECEIVE A CHARACTER
.CLEAR RECEIVER FLRAG

, 1S THE POINTER AT THE END OF THE TT7

.BRANCH IF NOT
+RESET POINTER
. INCREMENT POINTER

. G0 BACK & TEST TRANSMITTER FLAG

»CLERR THE (SR
»CLEAR THE BAR

» CLEAR USER DELRY

. LORD USER DELRY
-DELARY AS SPECIFIED
.BY USER

PEPERT LOOP

. SUBRQUTINE TO GET USEP PAPRMETERPS (FOR PRGI1 & 20

FAPAM TYPE
L INPRP
JSR
L NE ¥
PRAPAMA TYPE
HOWMAN
JSR
CHRPS 0
CMP
BLOS
TrPE

PAFAMB TYPE

E.PECC

5, PELD

CHARS,. 3200
PRFAMB

PRAFAMA

. ASK USER WHICH L ME
.TO TEST
.GET LINE AND PUT T
HERE

ASK USEP HOW MRHY

. LHRARRCTERS TO TPANSMIT
.GET CHRRS AND PUT IT
. MERE
,LIMIT RESPONSE T 200
(CORE LIMITATION)

PE-PEQUEST PRPRMETEP
"TYPE INSTRPUCTIONS

.G0 GET YALUE
CET

SUBFQJTINE TO TRANSMIT CRTR FPOM THE SP

LCOP MOVB
JSR
QUTBUF

OUTBUF +1

199
MOV
MO
ISR

dSHR QUTRJF
5. BMOVE

$CAT. 9BASPEG
$CGUTBUF (AT
S BHOVE

CFILL QUTRUT

. BUFFER

.WITH

.DATR TO BE

TRANSMITTFD

. INITIALIZE BRSE PEG!'ZTEP
-LORD CURPENT

ROCPESS TABLE

SEQ 0070



MA'NDEC-11-D20MR-C DM11 LOGIC TESTS
22-NQV-77 17 &7

D2OMAC P11

016514
016516
016520
016522
016530
016534
016540
016542
016544
016546
016554
CleS62

“1eSpl4

In""0

01707y
017100
017104
017112
017120
017122
01712y
017126
01713y
017142
017146
017152

017154
01716c
017164
017172
0117w
1200
01,7206
017214
017222
017224
017226

017230
017236
017240
17262
0172uu

001106
001110
000040
013737
005437
004537
001146
0C1150
000040
013737
013777
000207

000000
016730
000000
01707y

G13746
013746
012737

A dndrd
001402
000ou07?
022626
012737
012737
012637
01263?
00000.<

022737
021021
023737
001415
005037
117237
142737
122737
001001
104015
00000c

022737
001022
104000
017323
008537

016424
001146
005732

Olo4
Cied

Surlh guemih

N00C0e
00000u
017128

177777

00017e
000174
00000k
000006

000176
000042
017266
162372

000200
0onao”

NoN1~e

N0Se.

001146

001272
162470

NQCOCY
1ol "0l

pciiec
DO110

001102
NO00u%6
N17Zvbob

N7 leo
N17’ot

6 6
MRCY1Y 30(1046) 30-NDV-77 09 34
CRT
CAT+2
32
MOV (HARS, WCT
NEG WCT
JSR 5. 8MOVE
WCT
WCT+2
32
MOV LINE.LINBIT
MOV L INE, dBAR
PTS ’
OUTBUF &
=QUTBUF +100
I MBUF 3]
= INBUF +1CO
SUSWRFP MOV o%6. - (SP)
MOV o84, - (5P)
Mov $18. 984
BEQ 28
BF 38
18 CMP (SP)Y+, (SP+
<9 MOV S$SUREG, SHR
MOV SDISPREG. DISPLRY
38 MOy (SPI+. 9%u
MOV 1SPY+ 986
PTI
LROUTINE TQ CHECK FOR G BEING T
ARBDINTT CMP $SHPEG. SWP
BNE 1§
CHp o%ku2. oflp
BEQ 18
CLR THMP1
MQUB oTEDBP THFI
BICB $200 TMPY
(MPB s THP1
BHNE 1§
CNTLU
19 RTI

PRGE 20-1

+HITH ADDRESS
. OF OUTPUT BUFFER

»LORD WORD COUNT

,FORM THO'S COMPLEMENT

» TRBLE WITH

» NUMBER OF

. CPARACTERS TO BE

» TRANSMITTED

,SAVE LINES TO BE TRANSMITTED ON
,START TRANSMITT NG ON SELECTED L NE>S

,FIRST ADDRESS OF 100

. CHARACTER QUTPUT BUFFER

€1RST ADDRESS OfF 100

. CHARARCTER INPUT BUFFER twWHERE PEZE ¢ED
DATA 15 STORED)

. SAVE VECTORS

.SET UP FOR TIMEOQUT
REFERENCE HRRDWAPE SWITCH PEG STEPR

. ADJUST STACK

,POINT TO SOFTWRRE SWITCH PEG
.POINT TO SOFT DISPLAY PEG

PESTOPE JECTOPS

PED

ACT1Y?

BP IF (ES
CLEAR TEMP APER
LFETCH THME BUFFER
CSTRIP (LFF PRRITY
WRS IT G
NOP
G0 CHANGE T
E¥17

.PCUTINE TO CHANGE CONTENTS OF SWPEGILOC 17w

CNTLUU  CHP
BNE
TrPE
SSUPEG
JSP

$SUREG. SUR
FoX

PE . QACHY

COCNUERT T RS

SEQ 0071



“RINCEC-11-D20MA-C  DM11 LOGIC TESTS
22-NOy-?77 {7 &7

CI0MAC P

017250
017262
Q17254%
017256
017260
017262
017266
017270
017276
017300
017206

000176
017331
000u06
104000
017331
004537
000000
022737
001402
013777
000002

004124
00000> nNQO.3Cc2
017260 161574

THP

N

MRCY11 30710u46)

SUREG
SVALUE
b

TYPE
SVALUE
JSR

N

C(MP
BEQ
MO

pT

H
30-NQV-77

5. RECD

%7, (NT
FJx
TMP1. @SUP

A ,
09 34 PAGE 20-2

,GET TMP1 AND PUT T

. HERE

. CHRNGE CINTENTS OF SHREG

SEQ 0072



MANDEC-11-020MR-C  DM11 LOGIC TESTS
TIoMal Py 22-NQY-77 17 K7

017310
017316
017323
017330
017331
017336
017344
017350
0173682
017360
017365
017372
017400
C17401
21"4 00
17612
£t17w20
2174 le
J17427°
01743y
017436
01744y
0174N?
Q17454
017462
017467
017474
017502
017510
017516
017524
017627
017634
017642
017843
017580
017550
01756
01756
01757
C1"w00
017606
01’614
017622
017623
017630
017636
017637
017642
017650
017656
017657
017661
017b66
017074

053045
042101
045
100
o40
020040
053505
016445
052445
034050
o045
Oue0u0
100
04S
027523
o040
020040
oN80
Q40
240040
050045
037445
(001
051445
043440
0ub
040510
0S1440
042073
02011¢
032461
ous
020103
100
ous
042524
020117
o045
051057
D4?7517
052045
ou’111
020117
100
o045
044103
100
o045
020040
02oou0
100
015
124
Nuus2h
047822

o41505
037522
053523

020040
020040
040075

Q44516
027451
O44103
042516

051105
035102
020040
040527

020Cs0

Qw3522

100
D47105
N36522
Q7117
Qulity
020122
030122
054514
051123

100
047’51y
051524

D46530
020122

100
046530
0w 1505
040120
050131
051505
051524

(1 kg LY
051101

020122
050040
020040

012
042510
Qu55012
Qu"127

Q20124
100
036522

020040
047040

021524

100
051101
o44124

020122

ou0
020040
05123

020040
N400u 35

N40104
N3"4e0

1C0
N4 1440
o111
033485
ouuLuo
026470

Nw450”
051524

Ns2111
N4?51y

ns2111
Q46040

D4604C
052040
020124

020106
037823

036503
020040

050440
N41040
N4 30u0

MACY11 30(104%6)

. HESSAGES
WHERE

$SKHREG
SVALUE
SCTLUY
WHICH:
LEVEL

ERDRT
RRSB

RWAS
MO
M1
M
r2

My

PRGOM

PRGIM

PPG.H

L INPRF

HOWMARN

Eno
RATNUMB
APS

HSG1

RSC 1
RSC I

CRSCH

ASC I
RSC11

RSCI

ASCH
RSC 1

RSCHI
RSCHI
RSCII
RSC1H
RS

RS

Rzt

RS

RSC I

RSC I
ASCI |
RSC 11

BYTE
RSC1 I

I &
30-NOV-?7 09 34 PRGE 21

"%VECT ADR?9
"%SHRzg@'

' NEHz9'
Ly
"WUNITE(8)"Q"
"%C(HAR LNGTHe'

"ZEPR S B
WRS  °

o
"%“PROES’
DY

"RENDS’
'%»SP=0? GO @'

"“LD CHAP IN SPO-7.DLY IN SP8-15¢°

ug!C TSTSeY
CIaMITTEP LOQOP”
LMITREL LOCPET

TP LINES TC TET g°

"LRO0F CHARST,

Bt
) PC="
al

15112

"THE QUICF BRCHN FNY (UNMPED CvEP THE LAZ

v 0OGE BRC» 12245¢7890°

SeEq 0073




ME NDEC-11-DZ2DMR-C  DM11 LOGIC TESTS
22-NOV-77 17 57

cIoMel P

017702
0177210
017716
017724
017732
017740
C17746
017754

054117
042520
051105
046040
047504
041501
032063
033071
000001

ou5040
020104
052040
055101
051507
020112
033065

046525
053117
042510
020131
Q41040
031061
N3406”

MRCY11 30(1046)

END

J 6
30-NOV-77 09 34 PAGE 21-1

SEQ 0074



MRINDEC-11-DZDNMR-C DM11 LOGIC TESTS

D2OMAC

°]
ARSB
RPC
APCADD
RREA
ATNUMB
AWRS
A12K
RleK
AZ0x
R24A
= Z2EK
ASh
BHR
BRSREG
BART
BELL
BITO
EITY
BIT10
BIT11
BI1T12
BIT13
BIT1Y
BIT156
BIT2
BIT3
BITY
BITS
BlITe
BIT?
BIT8
BITS
BKCSR
BMOVE
BRKTST
BR¥O
148!
BPr 10
BPr 11
BR~.12
BRK13
BRK 1Y
BRK1S
BRK{6
BRK1?
BRK2
BRKJI
BRKY
BRKS
BPrO
BRK?
CRAPMSH

P11

= 000000
017413
017650
001610
013234
017642
017427
013254
013260
013264
013270
013274
013244
001252
001256
001206
000007
000001
000002
002000
004000
010000
020000
040000
100000
00000y
000010
000020
000040
000100
000200
000400
001000
001254
005732
005164
013712
013730
014072
o14110
014126
O1utuy
014162
014200
014216
014234
013746
013764
014002
014020
014036
014054
001300

22-NQv-77 17 57

CAT

CC
CHALY
CHARS
CLKINT
CLKLVL
CNT
CNTLU =
CNTLUU
CNVYDART
COUNT
CSR
CURTST
DRTCHK=
DATTST
DATO
ORT1
DATIARA
DATIO
DRT1Y
DAT12
DRT13
DRTIN
DRT16
DAT1e6
DRY1™
CATZ
CAaT3
DRTY
DATS
DRTe
DART?
DELRY =
DISPLRA
DISPRE
DLY
DLYXMT
OMPAR
DMPRRB
DMPRRC
DTCHK
EHALT =
EMO
EMTINT
EMTITAB
FRDRT
ERR
ERRRA
ERRB
ERRC
ERRD
ERRE X
EPRHLTY

001106
177776
104003
016424
001260
001262
004302
104015
017230
002040
001604
001250
001510
104002
006020
014252
014270
000024
N14432
014450
Ni14ve6
014504
0145622
014540
N14556
N1457y
014306
014324
Q14382
014360
014376
Of1441y
104400
001104
000174
005506
005310
003172
003454
003600
N01634
104004
017637
00260¢
001540
017401
001654
001712
001754
001762
002014
002034
002032

ERROR
ERROR1
ERRVEC=
ERR1
ESCOPE
FJX
FORWD
FORWDR
GETRDY
GTBIN
GTL INB
GTRDYR
GTRDYC
GTRDYD
GTRDYX
HOWMAN
ICTR
INBIN
INBUF
INCRTN
INIT
INITIR=
KBDIN =
KBDINT
KSTART
LBITO
LBIT1
LCITY
LBITY
LBITY
LBITY
LBITY
LBiIT1
LBI1T1
LBIT1
LBIT2
LBIT3
LBITY
LBITS
LBI1Te
LBIT?
LENGTH
LENCKR
LENOKB
LENOKC
LENOKD
LEVEL
LINBIT
L INE
LINED
L INE1
L INE1
LINEY

NOWMEWNN—~O

-0

104001
104011
000004
001672
002406
017306
002554
002600
002306
005612
006552
00232y
002346
002370
002314
017623
001516
005562
016730
001626
003142
104012
104014
017154
001506
000001
000002
000400
001000
002000
004000
010000
020000
040000
100000
000004
000010
000020
000040
000100
000200
003620
003636
003646
003654
003714
017365
001272
016412
000000
000002
000020
000022

K 6
MRCY11 30(1046) 30-NOV-77 09 34 PAGE 22
SYMBOL TRBLE

NN E LN

Mo N N uu

mmMmmMmmmmm
— el s ek e o

reecrrreee
ZZZZZZZ

£2
L NE3
L INEY
L INES
LINEB
LINE?
L INPARR
LOCP
LTSTO
LTSTH
LTST10
LTST11
LTST12
LTST13
LTSTIY
LTSTI1S
LTST1e6
LTST1?
LTST2
LTST3
LTSTY
LTSTS
LTSTe
LTST?
MACHER
MANUAL =
MSG1

MO

M1

M2

M3

M4

NOF =
NXTSH
QRCNVY
ORCNVA
OPEN =
OUTBUF
OURLAY
PRRAM
PARAMA
PRARAMB
PARRO
PRP1
PRR2
PARP2
PRPY

n00NG24
000026
000030
0000232
000034
000036
000004
000006
000010
000012
00001y
000016
017600
016454
011162
N11200
011342
011360
Ni1376
D1tuty
011432
N11450
N11466
N11504
N11216
011234
N11262
511270
N11306
011324
aala[afol}
100000
017657
017436
017444
017447
017454
017467
No0240
NO1514
N0S662
00Se7y4
000000
N16564
No4100
N16402
016414
D144y
00652y
006536
N06540
Q06542
NNpS44

PARS
PARG
PRSS
PCADD
PFARIL
POPSP =
POPSP2=
PRGL IM
PRGNUM
PRGTRB
PRGO
PRGOM
PRGOR
PRG1
PRG18B
PRG1C
PRG1D
PRG1M
PRG1R
PRGZ
PRG2A
PRGZRA
PRG2B
PRG2C
PRGZNM
PRGZR
PRTYO
PRTY1
PRTY2
PRTYJ
PRTYY
PRTYS
PRTY®E
PRTY?
PRVCNT
PSuW
PTO
PT1
PWRUP
RCVYDRT
RCVTST
rRCVO
RCV1
RCV10
RCViY
RCv12
RCY13
RCV1Y
RCV15
RCV16
RCY1?7

PCV2
Rrv?

(L I L T I L N T A | IO T V]

006546
006550
001624
001606
004 304
005726
022626
001622
002162
00152y
006604
017527
006626
016222
016236
016244
016264
017543
016232
016270
016304
016312
016352
016376
017561

016300

000000
000040
000100
00140
000200
000240
000300
Co03u0
001612
177776
005606

- 005610

004314
001274
00usu2
011522
011540
011702
011720
011736
011754
011772
012010
012026
012044
011556
011574

SEQ 0075



L 6
MRVNDEC-11-DZDHR-C  DM11 LOGIC TESTS MRCY11 30(1046) 30-NOV-77 09 34 PRGE 22-1

D2DMAC P11 22-NOV-?77 17 &7 SYMBOL TRBLE SEQ 0076
PCUY 011612 RT121 014332 RT21 010456 RT62 011762 TIMETY 004076
PCVS 011630 RT122 014350 RT21R8 010466 " RTE3 012000 TKCSR 001574
PCV6 011646 RT123 014366 RT22 010564 RTeM 012016 TKDBR 001576
pPCy? 011664 RT124  O1440M RT22R 010574 RT65 012034 THP1 017266
PECD 00412y RT125 014422 RTZ3 010672 RTé66 012054 TPCSR 001600
RIND 005604 RT126 014440 RT23R 010702 RTe6R 012070 TPDBR 001602
RNGEN 002756 RT127 014456 RT24 011000 RT67 012314 TTDAT 001270
FORPRR 006472 RT13 007652 RT24R 011010 RT67A 012324 TUMTARB 001306
PP 003024 RT13R 007662 RT25 011044 RT? 007302 TYP 003030
PP2 003026 RT130 01447y RT25R 011054 RT7A 007312 TYPAR 003040
FSTART 001532 RT131 014512 RT26 011152 RT?70 012424 TYPC 003056
FITATY 002134 RT132 014530 P127 011170 RT70R  D12434 TYPD 003074
PSTATZ 002222 RT133  C1u4due RT3 007032 RT71 012540 TYPDAT 003140
PSTPC  00273u PT134  D1uSey RT3A 007042 RT71R 012550 TYPE = 104000
PSTPSH 002736 RT135 014602 RT30 011206 RT?2 012734 TYPF 003112
RPSTREG= 104010 RT135R O01tue612 RT31 011224 RT72R 012744 TYPG 003124
PSTRG 002700 RT13J6 015202 RT22 011242 RT73 013300 UNIT 003474
PTLRST= 177777 RT136R 015212 RT33 0112e0 RT73R 013310 UNTOKR 003514
RTNNO 001512 RY137 0155%6 RT34 011276 RT74 0135614 UNTOKB 003540
RTO 006644 PT137R 0156526 RT35 011314 RT74R 013524 UNTOKC 003570
RTOR 006654 PT14 007764 RT2J6 011332 RT?5 013702 VAR( 001246
RT1 0007006 RTINR 007774 RT3” 011350 RT76 013720 VECOK 003374
PT1R 00671 PTI40 015534 PTy 007104 PTY?7 013736 VECOKR 003404
PT10 007 354 RTI40R 015544 RT4R 007114 SAVREG= 104007 VECOKB 003412
RT10A 0073eY PT141 0155652 RTHG 011366 SRUPG  NOZ6M40 VECTOR 003356
RT100 01375M PTIWIAR 015562 RT41 011404 SCOPE = 104008 HCT 001146
RT101 013772 RT142 015570 RTYZ 011422 SCOPEA NOZHu4u HHERE 017310
RT102 014010 RTI4ZA 015600 RT43 011440 SCOPEB 1B02450 WH CH 017352
RT103 014026 RTI43 015606 PTuy 011456 SCOPED 002504 X = 000146
RT104  O140uy RT143R 015616 PTUS 011474 SCOPTR 001520 XMITO 005754
#7105 014062 RTi44 015624 RTue 011612 SPBOT 001100 XMTDAT 001276
RT106 014100 PTI44R 015634 RTY7 011530 SRESET= 104005 XMTINT 001264
RT107 014116 RTI45 015642 RYS 007156 SPSET 002254 XMTLVL 001266
RT11 007426 RT145A 015652 RTSA 007166 SRSETT 0NO2740 XMTTST 004330
RT11A 007436 RT146 016010 RTS0 011546 START 002066 Y = 000020
RT110 01413y RT146R 016020 RT561 011564 SUSHR = 104013 $CTLU 017350
RT111 01w162 RT15 01002y P152 0t1e02 SUSHRR 017074 SENDRD 00254y
PT112 014170 RTI6R 010034 P63 011620 SVRPC 002674 SSWREG 017323
RT113  014.06 RT16 010160 PTSY 011636 SVRPSW 00Z67b SvALUE 017331
PT114  O14CZ24 RT1eR 010170 RT65 011654 SWR 001102 = 017756
PT116  O14Z4C RT1?7 010276 RT56 011672 SHPEG 000176 BRR 001616
PT11e6 014260 RT17R 010306 PTS? 011710 TIMER 004000 BASPE 001622
PT117 014270 RT2 006760 PT6 007230 TIMEB  0OC403M BKCSR 001620
RT12 007510 PTZA 00o0/C PToR 00?240 TIREC 00404y CSR 001614
RT12A 007526 RTZO 010370 FTo0 011726 TIMEP  0N03™24

RT120 Otu431u PTZ0R 010600 PTol 011744 T'MET 0un’u

RBS 0177%6 000

EPPORS DETECTED O

.DZDMAC SEQ/NL SEQ=0DZDHMRC P11
PUN-TIME 5 9 5 Sz(ONDS
RUN-TIME RATIO 426716=2" 5
TORE USED 13+ (25 PRGES:!




N6
MENCEC-11-D20MR-C  DM11 LOGIC TESTS MACY11 3001046) 30-NOQV-77 09 34 PRGE 22-2
C20MAC P1Y 22-NQV-77 17 S? SYMBOL TRBLE SEQ 0077




